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Preface to The Second Edition

The purpose of this book, like its previous edition, is to provide the concepts and theory of signals and systems
needed in almost all electrical engineering fields and in many other engineering and science disciplines as well.

In the previous edition the book focused strictly on deterministic signals and systems. This new edition
expands the contents of the first edition by adding two chapters dealing with random signals and the response
of linear systems to random inputs. The background material on probability needed for these two chapters is
included in Appendix B.

I wish to express my appreciation to Ms. Kimberly Eaton and Mr. Charles Wall of the McGraw-Hill Schaum
Series for inviting me to revise the book.

Hwel P. Hsu
Shannondell at Valley Forge, Audubon, Pennsylvania



Preface to The First Edition

The concepts and theory of signals and systems are needed in almost all electrical engineering fields and in
many other engineering and scientific disciplines as well. They form the foundation for further studies in areas
such as communication, signal processing, and control systems.

This book is intended to be used as a supplement to all textbooks on signals and systems or for self-study.
It may also be used as a textbook in its own right. Each topic is introduced in a chapter with numerous solved
problems. The solved problems constitute an integral part of the text.

Chapter 1 introduces the mathematical description and representation of both continuous-time and discrete-
time signals and systems. Chapter 2 develops the fundamental input-output relationship for linear time-invariant
(LTI) systems and explains the unit impulse response of the system and convolution operation. Chapters 3 and 4
explore the transform techniques for the analysis of LTI systems. The Laplace transform and its application to con-
tinuous-time LTI systems are considered in Chapter 3. Chapter 4 deals with the z-transform and its application to
discrete-time LTI systems. The Fourier analysis of signals and systems is treated in Chapters 5 and 6. Chapter 5
considers the Fourier analysis of continuous-time signals and systems, while Chapter 6 deals with discrete-time
signals and systems. The final chapter, Chapter 7, presents the state space or state variable concept and analysis for
both discrete-time and continuous-time systems. In addition, background material on matrix analysis needed for
Chapter 7 is included in Appendix A.

I am grateful to Professor Gordon Silverman of Manhattan College for his assistance, comments, and careful
review of the manuscript. I also wish to thank the staff of the McGraw-Hill Schaum Series, especially John Aliano
for his helpful comments and suggestions and Maureen Walker for her great care in preparing this book. Last, [ am
indebted to my wife, Daisy, whose understanding and constant support were necessary factors in the completion
of this work.

HweI P. Hsu
Montville, New Jersey



To the Student

To understand the material in this text, the reader is assumed to have a basic knowledge of calculus, along with
some knowledge of differential equations and the first circuit course in electrical engineering.

This text covers both continuous-time and discrete-time signals and systems. If the course you are taking cov-
ers only continuous-time signals and systems, you may study parts of Chapters 1 and 2 covering the continuous-
time case, Chapters 3 and 5, and the second part of Chapter 7. If the course you are taking covers only discrete-time
signals and systems, you may study parts of Chapters 1 and 2 covering the discrete-time case, Chapters 4 and 6,
and the first part of Chapter 7.

To really master a subject, a continuous interplay between skills and knowledge must take place. By study-
ing and reviewing many solved problems and seeing how each problem is approached and how it is solved, you
can learn the skills of solving problems easily and increase your store of necessary knowledge. Then, to test and
reinforce your learned skills, it is imperative that you work out the supplementary problems (hints and answers
are provided). I would like to emphasize that there is no short cut to learning except by “doing.”
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Signals and Systems

1.1 Introduction

The concept and theory of signals and systems are needed in almost all electrical engineering fields and in many
other engineering and scientific disciplines as well. In this chapter we introduce the mathematical description
and representation of signals and systems and their classifications. We also define several important basic sig-
nals essential to our studies.

1.2 Signals and Classification of Signals

A signal is a function representing a physical quantity or variable, and typically it contains information about
the behavior or nature of the phenomenon. For instance, in an RC circuit the signal may represent the voltage
across the capacitor or the current flowing in the resistor. Mathematically, a signal is represented as a function
of an independent variable ¢. Usually ¢ represents time. Thus, a signal is denoted by x(¥).

A. Continuous-Time and Discrete-Time Signals:

A signal x(#) is a continuous-time signal if ¢ is a continuous variable. If ¢ is a discrete variable—that is, x () is
defined at discrete times—then x(f) is a discrete-time signal. Since a discrete-time signal is defined at discrete
times, a discrete-time signal is often identified as a sequence of numbers, denoted by {xn} or x[n], where
n = integer. [llustrations of a continuous-time signal x(¢) and of a discrete-time signal x[n] are shown in Fig. 1-1.

x{f) x[n]
\ ,
\\’/
I L B
- - * e
0 t 5-4-3-2-1012 3466 n

@) (b)

Fig. 1-1 Graphical representation of (a) continuous-time and (b) discrete-time signals.

A discrete-time signal x[n] may represent a phenomenon for which the independent variable is inherently
discrete. For instance, the daily closing stock market average is by its nature a signal that evolves at discrete
points in time (that is, at the close of each day). On the other hand a discrete-time signal x[#] may be obtained
by sampling a continuous-time signal x(#) such as

x(ty),x(t), ..., x(2,), ...

— a»
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or in a shorter form as

or

x[0], x[1], ..., x[n], ...

X, X X

02 Xpo e Xy oot

where we understand that

x, = x[n] = x(z)

and x,’s are called samples and the time interval between them is called the sampling interval. When the sampling
intervals are equal (uniform sampling), then

x, = x[n] = x(nT))

where the constant T is the sampling interval.
A discrete-time signal x[n] can be defined in two ways:

1.

We can specify a rule for calculating the nth value of the sequence. For example,
1 n
x[n]=x, = (7) n=0
0 n<0
11 (1Y
or {x,}= I,E,Z,...,(?) yues

2.  We can also explicitly list the values of the sequence. For example, the sequence shown in

Fig. 1-1(b) can be written as

{x,}=1{..0,0,1,2,2,1,0,1,0,2,0,0,...}

!
or {x,}=1{1,2,2,1,0,1,0,2}

1

We use the arrow to denote the n = 0 term. We shall use the convention that if no arrow is indicated,
then the first term corresponds to n» = 0 and all the values of the sequence are zero for n < 0.
The sum and product of two sequences are defined as follows:
{eny=A{a,}+{b,} > c, =a, +b,
{ea}=Aa,}b,} —c,=a,b,
{c,}=afa,} —c, =aa, o = constant

Analog and Digital Signals:

If a continuous-time signal x () can take on any value in the continuous interval (a, b), where a may be — and
b may be +, then the continuous-time signal x(?) is called an analog signal. If a discrete-time signal x[n] can
take on only a finite number of distinct values, then we call this signal a digital signal.

C.

Real and Complex Signals:

Assignal x(¢) is a real signal if its value is a real number, and a signal x () is a complex signal if its value is a com-
plex number. A general complex signal x(?) is a function of the form

x(H) = x,(0) + jx,(0) (1.1)
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where x,(?) and x,(?) are real signals and j = V-l1.
Note that in Eq. (1.1) # represents either a continuous or a discrete variable.

D. Deterministic and Random Signals:

Deterministic signals are those signals whose values are completely specified for any given time. Thus, a
deterministic signal can be modeled by a known function of time ¢. Random signals are those signals that
take random values at any given time and must be characterized statistically. Random signals will be dis-
cussed in Chaps. 8 and 9.

E. Even and Odd Signals:

A signal x(?) or x[n] is referred to as an even signal if

x(—1) = x(®

(1.2)
x[—n] = x[n]
A signal x(#) or x[n] is referred to as an odd signal if
x(—fH = —x() (1.3)
x[—n] = —x[n]

Examples of even and odd signals are shown in Fig. 1-2.

x(f) x[n)

L J
oy ]
@ ——i
G f—
Lo ]

L J

(@) (b)

() xim)

= ]

() (@

Fig. 1-2 Examples of even signhals (a and b) and odd signals (¢ and d).

Any signal x(#) or x[n] can be expressed as a sum of two signals, one of which is even and one of which is
odd. That is,

x(1)=x, (1) + x,(¢) (14)
x[n]=x,[n]+ x,[n]
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Where x, ()= l {x(®)+ x(—1)} even part of x(¢)
2 (1.5)
x,[n]= % {x[n]+ x[—n]} even part of x[n]
x, ()= 1 {x(t) —x(— 1)} odd part of x(t)
2 (1.6)

x,[n] =%{x[n] —x[—n]} odd part of x[n]

Note that the product of two even signals or of two odd signals is an even signal and that the product of an
even signal and an odd signal is an odd signal (Prob. 1.7).

F. Periodic and Nonperiodic Signals:

A continuous-time signal x(?) is said to be periodic with period T if there is a positive nonzero value of T
for which

x(t+T)=x(2 all ¢ (1.7)
An example of such a signal is given in Fig. 1-3(a). From Eq. (1.7) or Fig. 1-3(a) it follows that
x(t+ mT) = x(2) (1.8)

for all 7 and any integer m. The fundamental period T, of x(¢) is the smallest positive value of T for which
Eq. (1.7) holds. Note that this definition does not work for a constant signal x(#) (known as a dc signal). For
a constant signal x (#) the fundamental period is undefined since x () is periodic for any choice of T (and so there
is no smallest positive value). Any continuous-time signal which is not periodic is called a nonperiodic
(or aperiodic) signal.

x(f)
2T T 0 T 2T '
(@
xin]
8
. T . T . 4 T . 4 T & T &
_oN N 0 N 2N n

)

Fig. 1-3 Examples of periodic signals.
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Periodic discrete-time signals are defined analogously. A sequence (discrete-time signal) x[n] is periodic with
period N if there is a positive integer N for which

x[n + N] = x[n] alln (1.9)
An example of such a sequence is given in Fig. 1-3(b). From Eq. (1.9) and Fig. 1-3(b) it follows that
x[n + mN] = x[n] (1.10)

for all n and any integer m. The fundamental period N, of x[n] is the smallest positive integer N for which Eq. (1.9)
holds. Any sequence which is not periodic is called a nonperiodic (or aperiodic) sequence.

Note that a sequence obtained by uniform sampling of a periodic continuous-time signal may not be
periodic (Probs. 1.12 and 1.13). Note also that the sum of two continuous-time periodic signals may not be
periodic but that the sum of two periodic sequences is always periodic (Probs. 1.14 and 1.15).

G. Energy and Power Signals:

Consider v(#) to be the voltage across a resistor R producing a current i (). The instantaneous power p (f) per ohm
is defined as

p(r)=%=iza> (1.11)

Total energy E and average power P on a per-ohm basis are

E=[" i*()dt joules (1.12)
. L2 5
P—Tll_r.r;;f_r/zz (1) dr  watts (1.13)

For an arbitrary continuous-time signal x(¢), the normalized energy content E of x(t) is defined as
E=fj° | x| de (1.14)
The normalized average power P of x(t) is defined as
_ . 1 T2 2
P—Tll_r_r;;f_m|x(t)| dt (1.15)
Similarly, for a discrete-time signal x[#n], the normalized energy content E of x[n] is defined as

E= Y |xnlf (1.16)

n=—

The normalized average power P of x[n] is defined as

. 1 il 2
P=1
frad 21\/+1,,=2_N|x[n]| (1.17)

Based on definitions (1.14) to (1.17), the following classes of signals are defined:

x(?) (or x[n]) is said to be an energy signal (or sequence) if and only if 0 < E < %, and so P = 0.

2. x(® (or x[n]) is said to be a power signal (or sequence) if and only if 0 < P < o, thus implying
that E = .

3. Signals that satisfy neither property are referred to as neither energy signals nor power signals.

Note that a periodic signal is a power signal if its energy content per period is finite, and then the average
power of this signal need only be calculated over a period (Prob. 1.18).
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1.3 Basic Continuous-Time Signals

A. The Unit Step Function:

The unit step function u (?), also known as the Heaviside unit function, is defined as

1 t>0
- 1.18
u(t) {0 1<0 (1.18)

which is shown in Fig. 1-4 (a). Note that it is discontinuous at # = 0 and that the value at # = 0 is undefined.
Similarly, the shifted unit step function u(# — 7,) is defined as

1 t>1,
u(t —ty)= 1.19
¢—f) {0 t<t, (19
which is shown in Fig. 1-4(b)
wif) wit—tg)
1 1}
0 ¢ 0t ¢

@ (b)
Fig. 1-4 (a) Unit step function; (b) shifted unit step function.

B. The Unit Impulse Function:

The unit impulse function 8(f), also known as the Dirac delta function, plays a central role in system analysis.
Traditionally, 6() is often defined as the limit of a suitably chosen conventional function having unity area over
an infinitesimal time interval as shown in Fig. 1-5 and possesses the following properties:

0 t#0
o()y= © f=0

f;ﬁ(t)dt=1

= € t
Fig. 1-5
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But an ordinary function which is everywhere 0 except at a single point must have the integral O (in the Riemann
integral sense). Thus, §(f) cannot be an ordinary function and mathematically it is defined by

[ 6)8(t) di = $(0) (1.20)

where ¢(?) is any regular function continuous at ¢t = 0.
An alternative definition of §(7) is given by

¢(0) a<0<b
fb¢(t)6(t)dt= 0 a<b<0 or 0<a<b (1.21)
a

undefined a=0 or b=0

Note that Eq. (1.20) or (1.21) is a symbolic expression and should not be considered an ordinary Riemann
integral. In this sense, 8(¢) is often called a generalized function and ¢(¢) is known as a testing function.
A different class of testing functions will define a different generalized function (Prob. 1.24). Similarly, the
delayed delta function &(¢ — ¢,) is defined by

[7 06t —15) dr = p(s,) (1.22)

where ¢(?) is any regular function continuous at ¢ = #,. For convenience, 6(¢) and §(¢ — 1)) are depicted graphically
as shown in Fig. 1-6.

8) Bt —tg)

o
(@) (b)

Fig. 1-6 (a) Unit impulse function; (b) shifted unit impulse function.

Some additional properties of §(¢) are

8at) = ——8(1) (1.23)
[a
8(—1)=6(1) (1.24)
x(2)8(t) = x(0)8(z) (1.25)
if x(#) is continuous at = 0.
XXt — 1) = x(1)8(t — 1) (1.26)

if x(?) is continuous at ¢ = £,.
Using Eqgs. (1.22) and (1.24), any continuous-time signal x(#) can be expressed as

x0) =" x(@s@t—1)dr (1.27)
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Generalized Derivatives:
If g(2) is a generalized function, its nth generalized derivative g"(#) = d"g(¢)/dt" is defined by the following relation:

I7 o™ @dr =1y [7 g™ @)g(0)ar (1.28)

where ¢(?) is a testing function which can be differentiated an arbitrary number of times and vanishes outside
some fixed interval and ¢™(¢) is the nth derivative of ¢(#). Thus, by Egs. (1.28) and (1.20) the derivative of 8(z)
can be defined as

[7 s dt =—¢'0) (1.29)

where ¢(?) is a testing function which is continuous at # = 0 and vanishes outside some fixed interval and
#'(0) = dp(r)/dt| —o- Using Eq. (1.28), the derivative of u(#) can be shown to be §(#) (Prob. 1.28); that is,

8)y=u'(t)= du(t) (1.30)
Then the unit step function u(#) can be expressed as
uy= [ s(vyde (1.31)

Note that the unit step function u(#) is discontinuous at ¢ = 0; therefore, the derivative of u(#) as shown in
Eq. (1.30) is not the derivative of a function in the ordinary sense and should be considered a generalized deriv-
ative in the sense of a generalized function. From Eq. (1.31) we see that #(#) is undefined at # = 0 and

o 1 t>0
u —
0 t<0

by Eq. (1.21) with ¢(#) = 1. This result is consistent with the definition (1.18) of u(?).
Note that the properties (or identities) expressed by Eqgs. (1.23) to (1.26) and Eq. (1.30) can not be verified
by using the conventional approach of §(#) as shown in Fig. 1-5.

C. Complex Exponential Signals:
The Complex exponential signal

x(f) = eJo (1.32)
is an important example of a complex signal. Using Euler’s formula, this signal can be defined as

x(t) = e/ = cos wyt + j sin wyt (1.33)

Thus, x(?) is a complex signal whose real part is cos @, and imaginary part is sin wy?. An important property of
the complex exponential signal x(?) in Eq. (1.32) is that it is periodic. The fundamental period T, of x(?) is given
by (Prob. 1.9)

2
Ty =" (1.34)
)
Note that x(?) is periodic for any value of w,.
General Complex Exponential Signals:
Let s = 0 + jw be a complex number. We define x(#) as
x(f) = e = 9O = ¢%(cos wt + j sin wf) (1.35)

Then signal x(#) in Eq. (1.35) is known as a general complex exponential signal whose real part e’ cos wt and imag-
inary part e’ sin wf are exponentially increasing (o > 0) or decreasing (o < 0) sinusoidal signals (Fig. 1-7).
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x(t)

@)

xf)

Fig. 1-7 (a) Exponentially increasing sinusoidal signal; (b) exponentially decreasing sinusoidal signal.

Real Exponential Signals:
Note that if s = o (a real number), then Eq. (1.35) reduces to a real exponential signal

x(f) = e (1.36)
As illustrated in Fig. 1-8, if o0 > 0, then x(?) is a growing exponential; and if o < 0, then x(?) is a decaying
exponential.

D. Sinusoidal Signals:
A continuous-time sinusoidal signal can be expressed as

x(H) = A cos(wyt + 6) (1.37)
where A is the amplitude (real), w, is the radian frequency in radians per second, and 0 is the phase angle in
radians. The sinusoidal signal x(#) is shown in Fig. 1-9, and it is periodic with fundamental period

=2_.7t

T, (1.38)

Wy

The reciprocal of the fundamental period T, is called the fundamental frequency f;;:

fo= TL hertz (Hz) (1.39)
0
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x(f)

L

@

x(f)

\

&)

Fig. 1-8 Continuous-time real exponential signals. (a) o > 0; (b) 0 < O.

Acosi 4

x(t)
2n

B

Fig. 1-9 Continuous-time sinusoidal signal.

From Egs. (1.38) and (1.39) we have

w, = 2af,

(1.40)

which is called the fundamental angular frequency. Using Euler’s formula, the sinusoidal signal in Eq. (1.37)

can be expressed as

A cos(wyt + 6) = ARe{e/®' "}

where “Re” denotes “real part of.” We also use the notation “Im” to denote “imaginary part of.” Then

AlIm{e/ @+ = A sin(wyt+0)

(1.41)

(1.42)
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1.4 Basic Discrete-Time Signals

A. The Unit Step Sequence:

The unit step sequence u[ n] is defined as

1 n=0
u[n]={0 n<0 (1.43)

which is shown in Fig. 1-10(a). Note that the value of u[n] at n = 0 is defined [unlike the continuous-time step
function u(?) at t = 0] and equals unity. Similarly, the shifted unit step sequence u[n — k] is defined as

= 1 n=k 144
uln — k1= 0 n<k (1.44)
which is shown in Fig. 1-10(d).
uln] ufn—K
. . = = & =
2-1 01 2 3 n 2-1 01 k n

(@) (b)

Fig. 1-10 (a) Unit step sequence; (b) shifted unit step sequence.

B. The Unit Impulse Sequence:

The unit impulse (or unit sample) sequence d[n] is defined as

n=0

1
_ 1.45
otnl {0 n#0 (1.45)

which is shown in Fig. 1-11(a). Similarly, the shifted unit impulse (or sample) sequence 6[n — k] is defined as
1 n

oln—k]= (1.46)
0 n

which is shown in Fig. 1-11(b).

8in] 8 k]

210123 n 210 1 K n

@ )

Fig. 1-11 (a) Unit impulse (sample) sequence; (b) shifted unit impulse sequence.



99— CHAPTER 1 Signals and Systems

Unlike the continuous-time unit impulse function 8(#), 6[n] is defined without mathematical complication
or difficulty. From definitions (1.45) and (1.46) it is readily seen that

x[n]6[n] = x[0]6[n] (147)
x[n]d[n — k] = x[k] [n — k] (1.48)

which are the discrete-time counterparts of Egs. (1.25) and (1.26), respectively. From definitions (1.43) to (1.46),
6[n] and u[n] are related by

d[n] = u[n] — uln — 1] (1.49)
uln]= Y Ok]= " &[n— k] (1.50)
k=—o k=0

which are the discrete-time counterparts of Eqgs. (1.30) and (1.31), respectively.
Using definition (1.46), any sequence x[n] can be expressed as

o0

x[n]= 2 x[k18[n — k] (1.51)

k=—o

which corresponds to Eq. (1.27) in the continuous-time signal case.

C. Complex Exponential Sequences:

The complex exponential sequence is of the form
x[n] = e/ (1.52)
Again, using Euler’s formula, x[n] can be expressed as
x[n] = e/®" = cos Qn + jsin Qn (1.53)
Thus, x[n] is a complex sequence whose real part is cos 2,7 and imaginary part is sin Qn.

Periodicity of e/.";
In order for ¢/%" to be periodic with period N (> 0), Q must satisfy the following condition (Prob. 1.11):

QO m .. .

—=— m = positive integer 1.54

w N p g (1.54)
Thus, the sequence /%" is not periodic for any value of Q. It is periodic only if Q /27 is a rational number.
Note that this property is quite different from the property that the continuous-time signal e/’ is periodic
for any value of w,. Thus, if €2 satisfies the periodicity condition in Eq. (1.54), Q2 # 0, and N and m have no
factors in common, then the fundamental period of the sequence x[n] in Eq. (1.52) is N, given by

2
Ny = m(g—:) (155)

Another very important distinction between the discrete-time and continuous-time complex exponentials is
that the signals e/ are all distinct for distinct values of @, but that this is not the case for the signals e/%".
Consider the complex exponential sequence with frequency (Q, + 2sk), where k is an integer:

ej(g()+ 2rkyn — ejg()"ejZ”k" = ejg()" (156)

since e/27%" = 1. From Eq. (1.56) we see that the complex exponential sequence at frequency € is the same as
that at frequencies (QO * 2m), (Q0 * 4n), and so on. Therefore, in dealing with discrete-time exponentials, we
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need only consider an interval of length 2,rin which to choose €2,,. Usually, we will use the interval 0 = Q, < 27
or the interval —r = Q < 7.

General Complex Exponential Sequences:
The most general complex exponential sequence is often defined as

x[n] = Ca” (1.57)

where C and o are, in general, complex numbers. Note that Eq. (1.52) is the special case of Eq. (1.57) with C =1
and a = e/%,

Real Exponential Sequences:

If C and o in Eq. (1.57) are both real, then x[n] is a real exponential sequence. Four distinct cases can be identified:
a>1,0<a<1,-1<a<0,and o < —1. These four real exponential sequences are shown in Fig. 1-12. Note
that if a = 1, x[n] is a constant sequence, whereas if @ = —1, x[n] alternates in value between + C and —C.

ATRRRARENARES
BIREIAES

*—
—
>—

*——
¥

>—

—

—

-——
ar

)

Fig. 1-12 Real exponential sequences. (a) a>1;(b)1 > a>0;(c)0>a> —1;(d) a < —1.
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D. Sinusoidal Sequences:

A sinusoidal sequence can be expressed as
x[n] = A cos(Q2,n + 6) (1.58)

If n is dimensionless, then both  and 6 have units of radians. Two examples of sinusoidal sequences are shown
in Fig. 1-13. As before, the sinusoidal sequence in Eq. (1.58) can be expressed as

Acos(Qqn + ) = ARe{e/@n+ 0} (1.59)

As we observed in the case of the complex exponential sequence in Eq. (1.52), the same observations
[Egs. (1.54) and (1.56)] also hold for sinusoidal sequences. For instance, the sequence in Fig. 1-13(a) is periodic
with fundamental period 12, but the sequence in Fig. 1-13(b) is not periodic.

x[n] cosl{L—T n}

ol
12 sl Ja 0 3 9

@)

(X
=R

x[n] EGE{%}

ol
O 31”1‘ "

(b)

B
=

Fig. 1-13 Sinusoidal sequences. (a) x[n] = cos(wn/6); (b) x[n] = cos(n/2).

1.5 Systems and Classification of Systems

A. System Representation:

A system is a mathematical model of a physical process that relates the input (or excitation) signal to the output
(or response) signal.

Let x and y be the input and output signals, respectively, of a system. Then the system is viewed as a trans-
formation (or mapping) of x into y. This transformation is represented by the mathematical notation

y="Tx (1.60)
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where T is the operator representing some well-defined rule by which x is transformed into y. Relationship (1.60)
is depicted as shown in Fig. 1-14(a). Multiple input and/or output signals are possible, as shown in Fig. 1-14 ().
We will restrict our attention for the most part in this text to the single-input, single-output case.

X Syst y ’ ’
— ysTem E— : System
e —>
Xn ym

@) )

Fig. 1-14 System with single or multiple input and output signals.

B. Deterministic and Stochastic Systems:

If the input and output signals x and y are deterministic signals, then the system is called a deterministic system.
If the input and output signals x and y are random signals, then the system is called a stochastic system.

C. Continuous-Time and Discrete-Time Systems:

If the input and output signals x and y are continuous-time signals, then the system is called a continuous-time
system [Fig. 1-15(a)]. If the input and output signals are discrete-time signals or sequences, then the system is
called a discrete-time system [Fig. 1-15(b)].

x(0) System yt) xin] System yinl
T — — 1
@) (b)

Fig. 1-15 (a) Continuous-time system; (b) discrete-time system.

Note that in a continuous-time system the input x(#) and output y(?) are often expressed by a differential equation
(see Prob. 1.32) and in a discrete-time system the input x[#] and output y[n] are often expressed by a difference
equation (see Prob. 1.37).

D. Systems with Memory and without Memory

A system is said to be memoryless if the output at any time depends on only the input at that same time.
Otherwise, the system is said to have memory. An example of a memoryless system is a resistor R with the input
x(?) taken as the current and the voltage taken as the output y(#). The input-output relationship (Ohm’s law) of
a resistor is

¥(® = Rx(?) (1.61)

An example of a system with memory is a capacitor C with the current as the input x(¢) and the voltage as the
output y(#); then

y0=2 [ xx)dr (162)

A second example of a system with memory is a discrete-time system whose input and output sequences are
related by
n

ylnl= ) xlk] (1.63)

k=—o
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E. Causal and Noncausal Systems:

A system is called causal if its output at the present time depends on only the present and/or past values of the
input. Thus, in a causal system, it is not possible to obtain an output before an input is applied to the system.
A system is called noncausal (or anticipative) if its output at the present time depends on future values of the
input. Example of noncausal systems are

yO =x(@+1) (1.64)
yln] = x[—n] (1.65)

Note that all memoryless systems are causal, but not vice versa.

F. Linear Systems and Nonlinear Systems:

If the operator T in Eq. (1.60) satisfies the following two conditions, then T is called a linear operator and the
system represented by a linear operator T is called a linear system:

1. Additivity:
Given that Tx, = y, and Tx, = y,, then

T{x, + x,} =y, +, (1.66)
for any signals x, and x,.
2. Homogeneity (or Scallng):
T{ax} = ay (1.67)

for any signals x and any scalar a.
Any system that does not satisfy Eq. (1.66) and/or Eq. (1.67) is classified as a nonlinear system. Egs. (1.66)
and (1.67) can be combined into a single condition as

T{ox, + a,x,} = oy, + a,y, (1.68)

where «; and a, are arbitrary scalars. Eq. (1.68) is known as the superposition property. Examples of linear
systems are the resistor [Eq. (1.61)] and the capacitor [Eq. (1.62)]. Examples of nonlinear systems are

y = x? (1.69)
y =cosx (1.70)

Note that a consequence of the homogeneity (or scaling) property [Eq. (1.67)] of linear systems is that a zero
input yields a zero output. This follows readily by setting o = 0 in Eq. (1.67). This is another important prop-
erty of linear systems.

G. Time-Invariant and Time-Varying Systems:

A system is called time-invariant if a time shift (delay or advance) in the input signal causes the same time shift
in the output signal. Thus, for a continuous-time system, the system is time-invariant if

T{x(t — 1)} = y(t — 1) (1.71)
for any real value of 7. For a discrete-time system, the system is time-invariant (or shift-invariant) if
T{x[n — k]} = yln — k] (1.72)

for any integer k. A system which does not satisfy Eq. (1.71) (continuous-time system) or Eq. (1.72) (discrete-time
system) is called a time-varying system. To check a system for time-invariance, we can compare the shifted
output with the output produced by the shifted input (Probs. 1.33 to 1.39).
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H. Linear Time-Invariant Systems:

If the system is linear and also time-invariant, then it is called a linear time-invariant (LTI) system.

I. Stable Systems:
A system is bounded-input/bounded-output (BIBO) stable if for any bounded input x defined by

|x| =k (1.73)
the corresponding output y is also bounded defined by
Iyl = &, (1.74)

where k| and k, are finite real constants. An unstable system is one in which not all bounded inputs lead to bounded
output. For example, consider the system where output y[r] is given by y[n] = (n + 1)u[n], and input x[n] = u[n]
is the unit step sequence. In this case the input u[n] = 1, but the output y[#] increases without bound as » increases.

J. Feedback Systems:

A special class of systems of great importance consists of systems having feedback. In a feedback system, the
output signal is fed back and added to the input to the system as shown in Fig. 1-16.

x[t) ¥it)
System

Fig. 1-16 Feedback system.

SOLVED PROBLEMS

Signals and Classification of Signals

1.1. A continuous-time signal x(#) is shown in Fig. 1-17. Sketch and label each of the following signals.
(@ x(t—2); (b) x(20); (c) x(t/2); (d) x(—1)

xt)

2-101 2 3 4 5 t
Fig. 1-17

(@) x( — 2)is sketched in Fig. 1-18(a).
(b) x(21) is sketched in Fig. 1-18(b).
(¢) x(#/2) is sketched in Fig. 1-18(c).
(d) x(—1)is sketched in Fig. 1-18(d).
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x(t—2) x(2t)
3F 1t
L 1 L1 1 1 > L1 1 1 L1 »
101234567 ’ 2-10 1 2 3 ¢
(@) (b)
x(1/2) x| 1)
= -3
| ] F 4 3 1 11 1 : | — 1 1 L1 1 =
101234586788 ¢ 5-4-3-2-10 1 2 t
(c) d)
Fig. 1-18

1.2. A discrete-time signal x[n] is shown in Fig. 1-19. Sketch and label each of the following signals.
(@) x[n —2]; (b) x[2n]; (c) x[—n]; (d) x[—n +2]

#[n]
| ] I
-1 012 3 465 n

Fig. 1-19
(a) x[n — 2] is sketched in Fig. 1-20(a).
(b) x[2n] is sketched in Fig. 1-20(b).
(¢) x[—n] is sketched in Fig. 1-20(c).
(d) x[—n + 2] is sketched in Fig. 1-20(d).

xn-2] x[2n]
3 3
012 345F67F n P a3 n

(@) (b)
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W
|
(%)
|
N
|
[«=]

Fig. 1-20

1.3. Given the continuous-time signal specified by

{1—|t| —1=t=1
x()=

otherwise

determine the resultant discrete-time sequence obtained by uniform sampling of x(#) with a sampling
interval of (@) 0.25 s,(b) 0.5 s,and (c) 1.0 s.

It is easier to take the graphical approach for this problem. The signal x(¢) is plotted in Fig. 1-21(a). Figs. 1-21(b) to (d)
give plots of the resultant sampled sequences obtained for the three specified sampling intervals.

(@) T, = 0.25s.FromFig. 1-21(b) we obtain

x[n]={...,0,0.25,0.5,0.75,1,0.75, 0.5, 0.25, 0, ...}
1

(b) T, = 0.5s.FromFig. 1-21(c) we obtain

x[n]1={...,0,0.5,1,0.5,0,...}
i
(¢) T,=1s.From Fig. 1-21(d) we obtain

x[n]=1{...,0,1,0,...} = 8[n]

1
x(t) x[n] =xin/4)
1
* I- i *
1 1) 1 ¢ 4 101 4 n
(@) (b
x[n] = x{ns2) x[n] =xin)
1
L - = >
-2 -1 v} 1 2 n 71 v} 1 n
(© @)

Fig. 1-21
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1.4. Using the discrete-time signals x,[n] and x,[n] shown in Fig. 1-22, represent each of the following
signals by a graph and by a sequence of numbers.

(@) y/[n] = x/[n] + x,[n]; (B) y,[n] = 2x,[n]; (c) ys[n] = x,[n]x,[n]

-‘31[”] r:\-[n]

—2—101234567

11 DR T 1
31 1 .

Fig. 1-22

(@) y,[n]is sketched in Fig. 1-23(a). From Fig. 1-23(a) we obtain
yin]={..,0,—2,-2,3,4,3,-2,0,2,2,0,...}
i

(b)  y,[n] is sketched in Fig. 1-23(b). From Fig. 1-23(b) we obtain

y[n]=1{.,0,2,4,6,0,0,4,4,0,...}
1

(¢)  y,[n]is sketched in Fig. 1-23(c). From Fig. 1-23(c) we obtain

¥[nl={...,0,2,4,0,...}
1

yyln] = x,[n] + xyln] ¥oln] = 2x,[n]
B

4l 4t
* L
2 F 2%
29 [
L
L 12 4 5 8.7 n -2-101 2 3 45
- —2

@) (b)

}'-3[”] -*1[”]“2[“]

4
2
a0 25 B9 80
-2-1012 3 456867 n

(©
Fig. 1-23
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1.5. Sketch and label the even and odd components of the signals shown in Fig. 1-24.

Using Eqgs. (1.5) and (1.6), the even and odd components of the signals shown in Fig. 1-24 are sketched in Fig. 1-25.

x(f) xit)
4 4
L I 4 R
" L\«
012345 t' 0 tr
(@) (b)
x[n] x[m]
EX ] 4
80— 0 8 »
0123 4586 " 1012 3 45 n
(© @)
Fig. 1-24

x (0
4L
a L
5 I
* 1 1 1 1 1 1 1 »
L 3 t
=2
(@
x(t)
4 -

-y

(b)
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i
RIS 1101 SEEEE

TTT TTT

43210 23-1 n

L J

@

Fig. 1-25

Find the even and odd components of x(¢) = e/'.
Let x,(r) and x (7) be the even and odd components of e/', respectively.
el = x (1) + x (D)

From Egs. (1.5) and (1.6) and using Euler’s formula, we obtain

" +e "y=cost

-1
xe(t)_ 2

(" —e = Jjsint

-1
xo(t)_ 2

Show that the product of two even signals or of two odd signals is an even signal and that the product of
an even and an odd signal is an odd signal.

Let x(#) = x,(9)x,(2). If x,(£) and x,(¢) are both even, then

x(=0) = x,(=0)x,(—=1) = x,(Dx,() = x (D)
and x(?) is even. If x,(?) and x,(¢) are both odd, then
x(=1) = x,(=nNx,(=0) =

—x,(0) [=x,()] = x,(B)x,(1) = x(2)

and x(¢) is even. If x,(¢) is even and x,(¢) is odd, then
x(=1) = x,(=1) x,(=1) = x,() [ ()] = —x,()x,(5) = —x(¢)

and x(?) is odd. Note that in the above proof, variable ¢ represents either a continuous or a discrete variable.



CHAPTER 1 Signals and Systems

1.8. Show that
(a) If x(?) and x[n] are even, then
a a
f_ax(t) dr= 2f0 x(1) dt
k

2 x[n]= x[0]+ 2& x[n]
n=1

n=—k

(b) If x(®) and x[n] are odd, then

x(0) =0 and x[0] =0
k
1) fax(t) dt=0 and > xn]=0

n=—k

(a) We can write

I xwde=[° x@ydr+ [xyde

Letting £ = — A in the first integral on the right-hand side, we get

I x@de= [2x- H(dry= [Ix-2)dA

Since x(f) is even, that is, x(—A) = x(\), we have

f:x(— A)dA = f;‘x(x)dA = f:x(t)dt

Hence, p p a p
[ x@war= [ x@yde+ [ x@yde= 2 x)dt
Similarly,
k -1 k
Y ainl= Y xnl+x(0] + Y x[n]
n=—k n=—k n=1
Letting n = —m in the first term on the right-hand side, we get
-1 k
> xinl= Y x(-m]
n=—k m=1

Since x[n] is even, that is, x[—m] = x[m], we have

k k
x[—m]= E x[m]= E x[n]

m=1 m=1 n=1

k

Hence,
k k k k
E x[n]= E x[n]+ x[0] + E x[n]= x[0] + 2 E xn]
n=—k n=1 n=1 n=1

(b) Since x(¢) and x[n] are odd, that is, x (—f) = —x(¢) and x[—n] = —x[n], we have

x(—0) = —x(0) and x[—0] = —x[0]

— e

(1.75a)

(1.75b)

(1.76)

(1.77)



Hence,
x(—0) = x(0) = —x(0) = x(0) = 0
x[—0] = x[0] = —x[0] = x[0] = 0
Similarly,
ffax(t)dt=ffax(t)dt+f;‘x(t)dt=f:x(—x)da+ [ xwar
=—f:x(A)dA+f:x(t)dt=— f;‘x(t)dt+f:x(t)dt= 0
and
k -1 k k k
E x[n]= E x[n] + x[0] + Ex[n]= E x[—m]+ x[0]+ Ex[n]
n=—k n=—k n=1 m=1 n=1

k

= —i x[m]+ x[0]+ ix[n] =— E x[n]+ x[0] + ix[n]
m=1 n=1

n=1 n=1

=x[0]=0

in view of Eq. (1.76).
1.9. Show that the complex exponential signal
x(f) = el
is periodic and that its fundamental period is 277/ w,.
By Eq. (1.7), x(r) will be periodic if

elot + T) = gjwot

Since

ejoot + ) = gjwot gjwoT

we must have
ejl%T =1
If w, = 0, then x(r) = 1, which is periodic for any value of T. If @, # 0, Eq. (1.78) holds if

2 sl
w,I =m2nx or T=m— m = positive integer
Wg

Thus, the fundamental period T, the smallest positive T, of x(?) is given by 27 /a,.
1.10. Show that the sinusoidal signal
x() = cos(wyt + 6)
is periodic and that its fundamental period is 277/,

The sinusoidal signal x(#) will be periodic if

cos[wy(t + T) + 0] = cos(wyt + 6)

CHAPTER 1 Signals and Systems

(1.78)
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We note that
cos[wy(t + T) + 0] = cos[wyt + 6 + w,T] = cos(wyt + 0)

if
27 s
w,T =m2n or T=m— m = positive integer
)

Thus, the fundamental period T, of x(?) is given by 27/ w,.

1.11. Show that the complex exponential sequence

x [n] = /Son

is periodic only if Q,/27 is a rational number.
By Eq. (1.9), x[n] will be periodic if
IR0 (EN) _ ,jQ0n 4 RN _ ,iQ0n

or

/0N —q (1.79)
Equation (1.79) holds only if
QN = m2n m = positive integer

or

0
=)

z|3

= rational numbers (1.80)

[ (%]

T

Thus, x[n] is periodic only if /27 is a rational number.

1.12. Let x(#) be the complex exponential signal

x(t) = e/?'

with radian frequency w, and fundamental period T, = 27/w,. Consider the discrete-time sequence x[n]
obtained by uniform sampling of x(#) with sampling interval T,. That is,

x[n]=x(nT,)= e/@onTs
Find the condition on the value of T so that x[n] is periodic.

If x[~] is periodic with fundamental period N, then

/00T No)Ts _ pjwonTy 5 jwoNoTs — ,jwonTy

Thus, we must have
JwoNoT, 2x . .
e’ 070 =1 = wyN,T; = T—NoT.s =m2m m = positive integer
0

or
T,

m .
—£ = — = rational number (1.81)

Ty Ny
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Thus, x[n] is periodic if the ratio T/T, of the sampling interval and the fundamental period of x(¢) is a rational
number.

Note that the above condition is also true for sinusoidal signals x(f) = cos(w,t + 6).
1.13. Consider the sinusoidal signal
x(f) = cos 15¢

(a) Find the value of sampling interval T such that x[n] = x(nT ) is a periodic sequence.

(b) Find the fundamental period of x[n] = x(nT) if T, = 0.1z seconds.

(@) The fundamental period of x(¢) is T, = 27/w, = 27/15. By Eq. (1.81), x[n] = x(nT) is periodic if

L L _m (1.82)
T, 2x=/15 N,
where m and N are positive integers. Thus, the required value of T  is given by
T,= 7, = 2% (1.83)
N, N, 15

(b) Substituting T, = 0.1 = 2/10 in Eq. (1.82), we have

T, 2#x/15 20 4

Thus, x[n] = x(nT,) is periodic. By Eq. (1.82)

N0=mT_0=mi
T 3

N

The smallest positive integer N, is obtained with m = 3. Thus, the fundamental period of x[n] = x(0.17n)
isN, =4,
0

1.14. Let x,(¢) and x,(#) be periodic signals with fundamental periods T, and T,, respectively. Under what
conditions is the sum x(#) = x,(¢) + x,(?) periodic, and what is the fundamental period of x(z) if it is
periodic?

Since x,(¢) and x,(¢) are periodic with fundamental periods T, and T,, respectively, we have

x, O =x@+T)=x@+mT) m = positive integer
X,(0) = x,(t + T,) = x,(t + kT}) k = positive integer

Thus,

x(®) = x,(t + mT)) + x,(t + kT,)

In order for x(?) to be periodic with period T, one needs

X(t+T) = x,(t+ T) +x(t + T) = x,(t + mT,) + x,(t + kT,)

Thus, we must have
ml, =kT,=T (1.84)

or

T, &k .
— = — = rational number (1.85)
T, m
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1.15

1.16.

In other words, the sum of two periodic signals is periodic only if the ratio of their respective periods can be
expressed as a rational number. Then the fundamental period is the least common multiple of 7', and T, and it is
given by Eq. (1.84) if the integers m and k are relative prime. If the ratio T,/T, is an irrational number, then the
signals x,(#) and x,(f) do not have a common period and x(#) cannot be periodic.

Let x,[n] and x,[n] be periodic sequences with fundamental periods N, and N,, respectively. Under what
conditions is the sum x[n] = x,[n] + x,[n] periodic, and what is the fundamental period of x[n] if it is
periodic?

Since x,[n] and x,[#] are periodic with fundamental periods N, and N,, respectively, we have

x,[n] = x[n+ N]=x[n+mN|] m = positive integer

x,[n] = x,[n + N,] = x)[n + kN,] k = positive integer
Thus,
x[n] = x,[n + mN ]+ x[n+ kN,]
In order for x[n] to be periodic with period N, one needs
x[n + N] = x,[n+ N]+ x,[n+ N]=x[n+mN]+ x[n+ kN)
Thus, we must have
mN, = kN, = N (1.86)

Since we can always find integers m and k to satisfy Eq. (1.86), it follows that the sum of two periodic sequences is
also periodic and its fundamental period is the least common multiple of N, and N,.

Determine whether or not each of the following signals is periodic. If a signal is periodic, determine its
fundamental period.

(a) x(®)= cos(t + E) (b) x(t)=sin 2—ﬂt
4 3
(c) x(t)=cos%t+sin%t (d) x(t)=cost+sin«/5t
(e) x(t)=sin’¢ (f) x(t) = /211
(g) x[n]=elt™/®m (h) x[n]= cos%n
. T LT . 2 T
(i) x[n]=cos 3 n + sin 2 n (j) x[n]=cos g n

(a) x(t)= cos(t + %) = cos(wot + %) —w, =1

x(t) is periodic with fundamental period T, = 27/ wy = 2.
) x(t)= sinZ?ﬂt —>w, = 2?”

x(t) is periodic with fundamental period T, = 27 / w, = 3.
(c) x(t)= cos%t + sin%t =x(1) + x,(2)
where x, (f) = cos(/3)t = cos w,t is periodic with T, = 27/, = 6 and x,(f) = sin(x/4)t = sin w,t is periodic

with T, = 27/w, = 8. Since T, /T, = g = 43 is a rational number, x(?) is periodic with fundamental period
T,=4T, = 3T, =24.
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(d) x(t) = cost+sin 21 = x,(t) + x,(t)

where x,(f) = cos 7 = cos w,? is periodic with T| = 27r/w, = 2w and x(f) = sin \/5 t = sin w,t is periodic
with T, = 27/w, = \/5 a. Since T, /T, = \/5 is an irrational number, x(?) is nonperiodic.

(¢) Using the trigonometric identity sin? 6 = ;—(1 — cos 26), we can write

x(t)= sin’f = % — %cos 2t = x (1) + x, ()

where x,(f) = ;— is a dc signal with an arbitrary period and x,(f) = — ;— cos 2t = — ;— COs w,t is periodic with
T, = 27/w, = m. Thus, x(?) is periodic with fundamental period T, = 7.
— Pl@DI=1) = pmjpiaID — p=jpi _=x
(f) x(t) = e.’[("r n—1] — e Je,l(” " — e lelwo — wO =2

x(#) is periodic with fundamental period T, = 27/w, = 4.

(g) x[n] = el@n = pjQon QO = %

. _ l . . . . . . . _
Since Q) /27 = gisa rational number, x[r] is periodic, and by Eq. (1.55) the fundamental period is N, = 8.

(h) x[n] = cos ‘l‘—n =cos Qn—> Q) = i—

Since Q/27 = 1/87 is not a rational number, x[n] is nonperiodic.

(i) x[n] = cos gn + sinfn = x [n] + x,[n]

4
where
x[n]= cosZn=cos Qn—>Q = z
3 3
. T b4
Xx,[n]=sin—n=cos Q,n —>Q, =—
2[n] 2 2 277
Since Q /27 = 3 (= rational number), x,[#] is periodic with fundamental period N, = 6, and since Q,/2x = %

(= rational number), x,[#] is periodic with fundamental period N, = 8. Thus, from the result of Prob. 1.15, x[n]
is periodic and its fundamental period is given by the least common multiple of 6 and 8, that is, N, = 24.

(j) Using the trigonometric identity cos? 6 = ;—(1 + cos 26), we can write

2 T 1 1 .4
x[n]=cos” —n= =+ =cos —n=x[n] + x,[n]
g8 2 2 4 2
where x,[n] = ;— = ;—(1)” is periodic with fundamental period N| = 1 and x,[n] = 5 cos(zw/4)n = ;— cos

Qn—Q, = 7/4. Since Q, 127 = é— (= rational number), x,[#] is periodic with fundamental period N, = 8.
Thus, x[#n] is periodic with fundamental period N, = 8 (the least common multiple of N, and N,).

1.17. Show that if x(¢ + T) = x(?), then

f f x(tydi = [ f::x(t)dt (1.87)

f OTx(t) = :+Tx(t) dt (1.88)

for any real a, 8, and a.
If x(t + T) = x(), then letting r = T — T, we have
x(t—T+T)y=x(t)=x(t—T)

and

B BT BT (BT
fa x(t) dt = fa+r x(‘t—T)d‘t—fa” x(t)dr—fa” x(t) dt
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Next, the right-hand side of Eq. (1.88) can be written as
a+T 0 a+T
[ xydi= [ xydi+ [ xt)dt

By Eq. (1.87) we have
0 T
[ xwdr= [ xtydr

Thus,
a+T T a+T
fa x() dt =fa+Tx(t)dt+f0 x(7) dt

=f:+rx(t)dt+f;+rx(t)dt=fOTx(t)dt

1.18. Show that if x(#) is periodic with fundamental period T, then the normalized average power P of x(?)
defined by Eq. (1.15) is the same as the average power of x(#) over any interval of length T, that is,

_ 1 Ty 2
P—ﬁfo |x()[ dt (1.89)

By Eq. (1.15)

.1 pmn2 2
Pzrh_.n:off—nz'x(t)' dt

Allowing the limit to be taken in a manner such that 7 is an integral multiple of the fundamental period,
T = kT, the total normalized energy content of x(#) over an interval of length T is k times the normalized energy
content over one period. Then

. 1 Ty 2 |1 pTo 2
P—I}m[mkfo |x(t)| dt]—T—OfO |x(t)[ dt

1.19. The following equalities are used on many occasions in this text. Prove their validity.

N 1-a” a#l
(a) Ea”= l—-a (1.90)
n=0 N a=1
< 1
(b) Ea”=—1_a lal<1 (1.91)
n=0
© Ya'=r— la]<1 (1.92)
n=k
- a
) na" =—— al<1 1.93
EO i—ap (1.93)
(a) Let
N-1
S=Ya'=1ta+a® ++a""! (1.94)
n=0
Then
N-1
aS=aEa"=a+a2+a3+-~-+aN (1.95)

n=0



@

(b)

()]

(@)
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Subtracting Eq. (1.95) from Eq. (1.94), we obtain
Q-aS=1-a"

Hence if a # 1, we have

g 1-a"
S= a" = 1.96
2 — (1.96)
n=0
If a = 1, then by Eq. (1.94)

N-1

Yo' =1+1+1+-+1=N

n=0

For |a | <1, A}im a" =0. Then by Eq. (1.96) we obtain

Using Eq. (1.91), we obtain

[
+ +
a"=a* +af okt

n=k

0
=ak(l+a+a2+-~)=ak2a"=

s l-a

Taking the derivative of both sides of Eq. (1.91) with respect to a, we have

and
d (

Hence,

1.20. Determine whether the following signals are energy signals, power signals, or neither.

(@)
(©)
(e)

(@)

(b)

x(® =eu@®, a>0 (b) x(t) = Acos(wyt + 6)

x(f) = tu(® (d) x[n] = (—0.5)"u[n]
x[n] = u[n] (f) x[n] = 2e/3

% 2 © _oar _ 1
E=[" [x0[ di=[ e di =<

a
Thus, x(?) is an energy signal.
The sinusoidal signal x(¢) is periodic with T, = 27/w. Then by the result from Prob. 1.18, the average power
of x(¢) is
_ 1 Ty 2 _ wo 2xlwgy 2 2
P= T_Ofo [x(0))? dt = Efo A% cos? (wyt + ) dt

2

A’wy p2xiog 1 A
=—= —[1+ cosRQayt + 20)] dt = — <
> 1, oL Qayt +20))dr ==

Thus, x(¢) is a power signal. Note that periodic signals are, in general, power signals.



CHAPTER 1 Signals and Systems — &>

T 2T, (T2
(c) E—Th_r’r;f_m|x(t)| dt_rh_.nl,fo t* dt = lim T—oo

T—>x

3
P= lim lfm |x)[* dt = lim lfm,2 di = tim L2 _
T—o T V-T2 T—oT 90 Tow T 3

Thus, x(?) is neither an energy signal nor a power signal.

(d) By definition (1.16) and using Eq. (1.91), we obtain

o 2_ 1 4
E= Y |n]| =n§00.25"= =5 <=

1-0.25

n=-o

Thus, x[n] is an energy signal.

(e) By definition (1.17)

. 1 < 2
iy _E_ [+t

N
— lim — 212=lim 1 (N+1)=l<oo
N—w 2N +1 N—w 2N +1 2

Thus, x[n] is a power signal.

(f) Since |x[n]| = |2e/3| = 2|ei3| =2,
N

] 2 1
P=1 =1 2
N2 2N +1 n;_N|x["]| o 2N + 1 n;_,v

1

= lim 42N +1)=4<»
N—-»2N +1

Thus, x[n] is a power signal.

Basic Signals

1.21. Show that

-1 0 t>0 197
u(—t)= .
1 t<0 ( )
Let T = —t. Then by definition (1.18)
w-n-um-1 0
0 T<0

Since 7> 0 and 7 < 0 imply, respectively, that # < 0 and ¢ > 0, we obtain

0 >0

“CHZ <o

which is shown in Fig. 1-26.

w(—f)

Fig. 1-26
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1.22. A continuous-time signal x(?) is shown in Fig. 1-27. Sketch and label each of the following signals.
(@ x(@u(l = 1; (b) x(Olu(®) —u — D]; (c) x(6(t — %)

x(f)

(a) By definition (1.19)

a-1 1 <1
u(l—1n-=
0 t>1

and x(Hu(1 — 1) is sketched in Fig. 1-28(a).
(b) By definitions (1.18) and (1.19)

o<tr=l1

otherwise

1
u(t)—ut—1= {0
and x(£)[u(f) — u(t — 1)] is sketched in Fig. 1-28(b).
(c) ByEq.(1.26)
xma(, - i) - x(i]a(t - 1) - za(t - 1)
2 2 2 2
which is sketched in Fig. 1-28(c).

{1 —1) x(t) [uit)—uit -1

x(15{t— 3/2)

L

(©
Fig. 1-28

1.23. A discrete-time signal x[n] is shown in Fig. 1-29. Sketch and label each of the following signals.

(a) x[nlu[l — n]; (b) x[n]{u[n + 2] — u[n]}; (c) x[n]6[ n — 1]
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x{n]

L

(a) By definition (1.44)

1
"[l_"]z{o n>1

and x[n]u[l — n] is sketched in Fig. 1-30(a).
(b) By definitions (1.43) and (1.44)

—-2=n<0
otherwise

uln+2]—uln]= {:)

and x[n]{u[n + 2] — u[n]} is sketched in Fig. 1-30(b).
(c) By definition (1.48)

1
x[n)d[n—1]=x[1]6[n —1]=6[n—1]= {0
which is sketched in Fig. 1-30(c).

*[nju[1 ~n x[n]{uln+2] - ulnl}

;[Iflr” o
)

(b)
x[n)&[n-1]
3%
?
(V|

23 4 n

pe |

Wk

B p—
~ 8
f=]

iy
e
s

(a

2-1
(©
Fig. 1-30

1.24. The unit step function u(#) can be defined as a generalized function by the following relation:
[ eouwar= [ ar (1.98)

where ¢(#) is a testing function which is integrable over 0 < ¢ < . Using this definition, show that

o 1 t>0
u —
0 t<0
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Rewriting Eq. (1.98) as

[° pou@ydi=[° p@wuydi+ [ sm@di= [T o) dt

we obtain

I° ouyde= [ o)1 - u) dr

This can be true only if

i) io(p(t)u(t) dt=0 and [ :4)([)[1 —u(t)]dr =0
These conditions imply that

o u()=0,t<0 and ¢@)[1—u()]=0,t>0

Since ¢(7) is arbitrary, we have

ut)=0,t<0 and 1—-u(@®)=0,t>0

that is,

1 1>0
“HD=10  1<0

1.25. Verify Eqgs. (1.23) and (1.24); that s,

(@) dan)=——80), (b) 6(—1)=@)

|l

The proof will be based on the following equivalence property:

Let g,(¢) and g,(¢) be generalized functions. Then the equivalence property states that g,(f) = g,(?) if and
only if

[7 o0 gydi= [~ p) gyt (1.99)

for all suitably defined testing functions ¢ (7).
(a) With a change of variable, ar = t, and hence ¢t = t/a, dt = (1/a) dt, we obtain the following equations:
Ifa>0,

-1 50

|a|

[ ¢(r)5(at)dt=lf°° ¢(l]5(r)dr=l¢(l]
@ av" > \a a \a

=0

Ifa<o,

[7 pscarydr = 1 f _°°¢(l)5(r)dr -1 [ ¢(1)5(r)d1
- av® a av~>* \a
. 14,(1)
a a

7 swotan di = L 9(0)

|al

- L 50

|al

=0
Thus, for any a
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1.26.

1.27.

(b)

(@)

(b)

(@)

(b)

Now, using Eq. (1.20) for ¢(0), we obtain
1
|a

= [ g8 dr

|a|

[ o)d(ar dr = —(0) = ﬁ [7 smswdr

for any ¢(z). Then, by the equivalence property (1.99), we obtain

Sar)y= L 5(t)
|al

Setting a = —1 in the above equation, we obtain

S(—1)= ﬁé(t) —5(1)

which shows that §(¢) is an even function.

Verify Eq. (1.26):

xX(0)8(r — 1) = x(1,) 8(1 — 1,)

if x(?) is continuous at # = £,.
Verify Eq. (1.25):

x(H6() = x(0)6(2)
if x(¢) is continuous at £ = 0.
If x(£) is continuous at ¢ = £, then by definition (1.22) we have
I7 olx)d(t — ) de = [~ [9()x(0)16(t — to) dt = P(tg)x(t,)
= x(to) J $()(t —19)
= [7 ¢)x(te)o(t —to)) dt
for all ¢(#) which are continuous at ¢ = £,. Hence, by the equivalence property (1.99) we conclude that

X(O)8(t — 1)) = x(t)8(t — 1)

Setting £, = 0 in the above expression, we obtain

x(06() = x(0)4(1)

Show that

(a) t6() =0

) sintd(® =0

(c) costd(t— nm) = —68(t— m)

Using Egs. (1.25) and (1.26), we obtain

(@)
(b)
()]

t8(H) = (0)6(H) =0
sin t8(f) = (sin 0)6(¥) = (0)6(H) =0
costd(t —m) = (cosm) 6t —m) = (—1)6(t —m) = -8t — n)
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1.28. Verify Eq. (1.30):

) du(r)
6 = =
() =u'(?) "

From Eq. (1.28) we have
[° sew@yde=— 7 gyt (1.100)

where ¢(7) is a testing function which is continuous at # = 0 and vanishes outside some fixed interval. Thus, ¢'(?)
exists and is integrable over 0 < ¢ < o and ¢() = 0. Then using Eq. (1.98) or definition (1.18), we have

[oo0u@di=— [Tgydi=—¢@)f; = [p()~ $(0)]
=90 = [~ p(t)o(t)dt

Since ¢(?) is arbitrary and by equivalence property (1.99), we conclude that

8ty = w(ny = 240
dt
1.29. Show that the following properties hold for the derivative of 6(2):

@ [~ @8 dt=—¢'©0)  where §'(©0)= % 3 (L10D)
(b) 8'() = —5(1) _ (1.102)
(a) Using Eqgs. (1.28) and (1.20), we have

[oowsmdt=— [ ¢®)o@)dt = ¢'(0)
(b) Using Eqgs. (1.101) and (1.20), we have

[ eousnd = [ genswde =~ %W(t)] o
=~ [$O) +1¢'D)]|,_ =~ #(0)
=— [ omdwydt = [~ pN-ow)di

Thus, by the equivalence property (1.99) we conclude that
18'() = — (0

1.30. Evaluate the following integrals:

@ [ 11(31‘2 +1)8(1) dt

® [ 12(3t2 +1)8(7) dt

© [ (& +cos m)d(t—1)dt
@ [~ e'8e—2)dr

) [~ e at
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(@)

(b)

()]

(@)

(©)]

By Eq.(1.21),witha = —1 and b = 1, we have

JLeP e nswdr =G + 1| =1

By Eq. (1.21),witha = 1 and b = 2, we have
2 22
f. B2 +1)8(t)dt =0

By Eq. (1.22)
fio(t2 + cos t)8(t — 1) dt = (£2 + cos 7t) -
=l+cosx=1-1=0
Using Egs. (1.22) and (1.23), we have
[7 ot —2ydi= [T o2 - D)at

o ;1 1 _
=[" e 'mé(t—l)dt=5e !

By Eq. (1.29)

f:,e_t‘sl(t) dr =~ %(e_t)L:o e’ |r=0 -1

1.31. Find and sketch the first derivatives of the following signals:
(@ x(@)=u@® —u(lt—a),a>0
b)) x(® =tu@® —ut—a)l,a>0

(©)

(@)

(b)

()]

1 t>0

t)=sgnt=
x(1)=sg {-1 <0

Using Eq. (1.30), we have

u'(t) = 6(r) and ult—a)=6— a)
Then

XA =u@)—u(@—a)= 60— 6t — a)

Signals x(f) and x'(¢) are sketched in Fig. 1-31(a).
Using the rule for differentiation of the product of two functions and the result from part (a), we have

XK@ = [u@® —ult - a) +16(1) — 6(t — a)]
But by Egs. (1.25) and (1.26)

t5(t) = (0)6()) =0 and t8(t — a) = ad(t — a)

Thus,
X)) =u@®)—ult—a)—ad(— a)

Signals x(#) and x'(f) are sketched in Fig. 1-31(b).
x(f) = sgn t can be rewritten as
x()=sgnt=u@) —u(-1
Then using Eq. (1.30), we obtain
YO =u@®—u(=n=060~-[-61] =260
Signals x () and x'() are sketched in Fig. 1-31(c).
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x() x(f) x{t)
a2
1 1
o a ¢ 0 a ot 0 t
1
X' x'(t) X't}
E W11
&if) 1
g
0 l t 0 a t 0 t
-8(t-a) v
—aéd(l—a)
(@) (b) ()
Fig. 1-31

Systems and Classification of Systems

1.32. Consider the RC circuit shown in Fig. 1-32. Find the relationship between the input x(#) and the output y(#)
(@) Ifx(® = v(»)andy(®) =v/(0).
(b) Ifx(®) = v (9 and y(?) = i(?).

— 1
v ) @ i) == v

(a) Applying Kirchhoff’s voltage law to the RC circuit in Fig. 1-32, we obtain

Fig. 1-32 RC circuit.

v = Ri(®) + v,(0) (1.103)

The current i(?) and voltage v () are related by

o dv ()
i(?) C—dt (1.104)

Letting v (f) = x(#) and v (#) = y(?) and substituting Eq. (1.04) into Eq. (1.103), we obtain

dy(t) -
RC7+ y() = x(t)
or
dy@) , 1 (t):Rl_CX(t) (1.105)

d  RC’
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(b)

Thus, the input-output relationship of the RC circuit is described by a first-order linear differential equation
with constant coefficients.

Integrating Eq. (1.104), we have
V()= é [ iwyar (1.106)
Substituting Eq. (1.106) into Eq. (1.103) and letting v (r) = x(?) and i(#) = y(#), we obtain
Ry(0)+— [y dr=x()

or 1 . 1
YO+ o= [ Y@ dT= 2x(t)

Differentiating both sides of the above equation with respect to #, we obtain

o), 1 (t):ldx(t) (1.107)
dt RC R dr

Thus, the input-output relationship is described by another first-order linear differential equation with
constant coefficients.

1.33. Consider the capacitor shown in Fig. 1-33. Let input x(#) = i(¢) and output y(?) = v (¥).

(a) Find the input-output relationship.

)

(@)

(b)

Determine whether the system is (i) memoryless, (i) causal, (iii) linear, (iv) time-invariant, or (v) stable.

T

o (1) ¢ == v

1

Assume the capacitance C is constant. The output voltage y () across the capacitor and the input current x(f)
are related by [Eq. (1.106)]

Fig. 1-33

YO =T{x()} = %fﬁwx(r)dr (1.108)

(i) From Eq. (1.108) it is seen that the output y(#) depends on the past and the present values of the input.
Thus, the system is not memoryless.

(ii)  Since the output y(#) does not depend on the future values of the input, the system is causal.

(iii) Letx(?) = ax,(f) + a,x,(#). Then
1 pt
YO =T} == [ o (@)+ axn@)dr

=0 [%fﬁwxl(f)d‘t]"' a, [éfiwxz(r)dt]
=y (1) + a,y, (1)

Thus, the superposition property (1.68) is satisfied and the system is linear.
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(iv) Lety,(7) be the output produced by the shifted input current x (f) = x(¢ — #)).
Then
1 pt
y()=T{x(t —15)} = Ef_wx(r —tp)dt

- %f’;“ X(A)dA=y(t — 1)

Hence, the system is time-invariant.

(v)  Letx(?) = k,u(t), with k; # 0. Then
1 pt kot k, k,
y0=7 [ ku(z)de = ¢ f,at= LuO=2r® (1.109)

where r(f) = tu(f) is known as the unit ramp function (Fig. 1-34). Since y () grows linearly in time
without bound, the system is not BIBO stable.

rif) = tulf)

EE

0
Fig. 1-34 Unit ramp function.

1.34. Consider the system shown in Fig. 1-35. Determine whether it is (a) memoryless, (b) causal, (c) linear,
(d) time-invariant, or (e) stable.

(@)

(b
()]

Multiplier
xit) o vt} = x(l) eos w t
4 LQ i .

cos w f ]

Fig. 1-35

From Fig. 1-35 we have
y(® = T{x(®} = x(®) cos w,¢
Since the value of the output y(¢) depends on only the present values of the input x(¢), the system is memoryless.
Since the output y(#) does not depend on the future values of the input x(7), the system is causal.
Let x(#) = a;x(t) + a,x(t). Then
y(#)=T{x(®)} = [ox,(t) + a,x, ()] cos w,t
= ayx,(t) cos .t + oy x,(f) cos w t

=y (1) + axy, (1)

Thus, the superposition property (1.68) is satisfied and the system is linear.
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(d) Lety,(t) be the output produced by the shifted input x,(#) = x(¢ — ¢,). Then
¥,® = T{x(t — 1))} = x(t — 1)) cos w ¢
But
Y@ — 1) = x(t — t,) cos w,(t — 1,) # y,(t)

Hence, the system is not time-invariant.

(e) Since |cos wt| =1, we have

ly®| = |x@) cos w, 1| = |x(®)|

Thus, if the input x(7) is bounded, then the output y(?) is also bounded and the system is BIBO stable.

1.35. A system has the input-output relation given by
y = T{x} = x?
Show that this system is nonlinear.

T{x; +x,}=(x +x2)2 =x12 +x§ +2xx,
#T{x}+T{x,} = xf +x3

Thus, the system is nonlinear.

(1.110)

1.36. The discrete-time system shown in Fig. 1-36 is known as the unit delay element. Determine whether the

system is (a) memoryless, (b) causal, (c) linear, (d) time-invariant, or (e) stable.

x[n]
—

yln] = xfn —1]

Unit
—

delay

Fig. 1-36 Unit delay element

(a) The system input-output relation is given by
yln] = T{x[n]} = x{n — 1]

Since the output value at n depends on the input values at n — 1, the system is not memoryless.
(b) Since the output does not depend on the future input values, the system is causal.
(¢) Letx[n] = ax/[n] + a,x,[n]. Then

y[n] = T{ax,[n] + a x,[n]} = axn— 1] + ax,[n — 1]
= ayy[n]+a,y,(n]

Thus, the superposition property (1.68) is satisfied and the system is linear.

(d) Lety, [n] be the response to x,[n] = x[n — ny]. Then
Wl = TEx [} = xn = 11= xin — 1 = ]
and yin —n)l=xln—ny,— 1] = x[n— 1 — ny] = y,[n]
Hence, the system is time-invariant.

(e) Since
|y(nl] = |xIn— 11| =k  if |x{n]| < kforalln

the system is BIBO stable.

(1.111)
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1.37. Find the input-output relation of the feedback system shown in Fig. 1-37.

Unit L ¥inl
delay .

Fig. 1-37

From Fig. 1-37 the input to the unit delay element is x[n] — y[n]. Thus, the output y[#n] of the unit delay element is
[Eq. (1.111)]

ylnl =x[n— 1] — y[n — 1]
Rearranging, we obtain
yln] + yln — 1] = xn — 1] (1.112)
Thus, the input-output relation of the system is described by a first-order difference equation with constant
coefficients.
1.38. A system has the input-output relation given by
yln] = T{x[n]} = nx[n] (1.113)

Determine whether the system is (a) memoryless, (b) causal, (c) linear, (d) time-invariant, or (e) stable.

(a) Since the output value at n depends on only the input value at n, the system is memoryless.
(b) Since the output does not depend on the future input values, the system is causal.
(¢) Letxln] = a,x/[n] + a,x,[n]. Then

yln] = T{x[n]} = n{ox [n] + a,x,[n]}

= aynx,[n] + a,nx[n] = a,y,[n] + a,y,[n]
Thus, the superposition property (1.68) is satisfied and the system is linear.
(d) Lety, [n] be the response to x,[n] = x[n — ny]. Then
yi[nl = T{x[n — ny1} = nx{n — ng]
But yln — ngl = (n — ny) x[n — ny] # y,[n]
Hence, the system is not time-invariant.

(e) Letx{n] = u[n]. Then y[n] = nu[n]. Thus, the bounded unit step sequence produces an output sequence that
grows without bound (Fig. 1-38) and the system is not BIBO stable.

x[n] = wlA]

r
—e
¥

S o e

-2-10 1 2 3 4 n -2-10 1 2 3 4 n

Fig. 1-38
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1.39. A system has the input-output relation given by
yln] = T{x[n]} = x[kyn] (1.114)

where k, is a positive integer. Is the system time-invariant?
Let y,[n] be the response to x,[n] = x[n — n ]. Then

y,[n] = T{x,[n]} = x,[k,n] = x[kyn—n]
But yln — ngl = x[ ky(n — ny)] # y,[n]

Hence, the system is not time-invariant unless k, = 1. Note that the system described by Eq. (1.114) is called a
compressor. It creates the output sequence by selecting every k th sample of the input sequence. Thus, it is obvious
that this system is time-varying.

1.40

Consider the system whose input-output relation is given by the linear equation
y=ax+b (1.115)

where x and y are the input and output of the system, respectively, and a and b are constants. Is this
system linear?

If b # 0, then the system is not linear because x = 0 implies y = b # 0.If b = 0, then the system is linear.

1.41. The system represented by T in Fig. 1-39 is known to be time-invariant. When the inputs to the system
are x,[n], x,[n], and x,[n], the outputs of the system are y,[n], y,[n], and y,[n] as shown. Determine
whether the system is linear.

z,nl ¥4l

-2-10 12 3 4 n -2-101 2 3 4 i

x4l ¥l

| 2

2-1012 3 4 n 2-101 2 3 4 n
x50 ¥alr]
3
Lol = I
.. > . .
-2-10 1 2 3 4 n -2-1 01 2 3 4 n

Fig. 1-39
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From Fig. 1-39 it is seen that
X,[n] = x,[n] + x,[n — 2]
Thus, if T is linear, then
T{x;[n]} = T{x,[n]} + T {x[n — 2]} = y,[n] + y,[n — 2]
which is shown in Fig. 1-40. From Figs. 1-39 and 1-40 we see that
y;lnl # y,[n] + y,[n — 2]

Hence, the system is not linear.

¥yln] ¥olr — 2] ¥ylnl + yoln - 2]

-2-101 2 3 4 n -2-1 01 2 3 4 n -2-101 2 3 4 n

Fig. 1-40
1.42. Give an example of a system that satisfies the condition of additivity (1.66) but not the condition of
homogeneity (1.67).

Consider a discrete-time system represented by an operator T such that
yln] = T{x{n]} = x*[n] (1.116)
where x*[n] is the complex conjugate of x[n]. Then
T{x,[n] + x,[n]} = {x,[n] + x,[n]}* = x¥[n] + x¥{n] = y,[n] + y,[n]
Next, if a is any arbitrary complex-valued constant, then
T{ax[n]} = {ax[n]} * = a*x* [n] = a*y[n] # ayn]

Thus, the system is additive but not homogeneous.

1.43. (a) Show that the causality for a continuous-time linear system is equivalent to the following statement:
For any time #, and any input x(#) with x(#) = 0 for ¢ < #,, the output y(?) is zero for z =< £,

(b) Find a nonlinear system that is causal but does not satisfy this condition.

(¢) Find a nonlinear system that satisfies this condition but is not causal.

(a) Since the system is linear, if x(¢) = O for all #, then y(#) = O for all 7. Thus, if the system is causal, then
x(t) = O for t = ¢ implies that y(#) = O for # =< ¢,. This is the necessary condition. That this condition is
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1.44.

1.45.

— e

also sufficient is shown as follows: let x,(#) and x,() be two inputs of the system and let y,(#) and y,(7) be
the corresponding outputs. If x (f) = x,(f) for t = 7, or x(#) = x,(t) — x,(t) = 0 for ¢ = £, then y ()= y,(?)

fort=tj,0ry(®) =y, () — y,() = Ofort =1,

(b) Consider the system with the input-output relation

y(@ = x(0) +1

This system is nonlinear (Prob. 1.40) and causal since the value of y(#) depends on only the present value of

x(#). But with x(#) = O fort = £, y(f) = 1 fort = 1,

(c) Consider the system with the input-output relation

y® = x(x@ + 1)

It is obvious that this system is nonlinear (see Prob. 1.35) and noncausal since the value of y (?) at time # depends
on the value of x(# + 1) of the input at time ¢ + 1. Yet x(#) = O for # =< ¢, implies that y(f) = 0 for t =< #,.

Let T represent a continuous-time LTI system. Then show that
T{e*'} = ke
where s is a complex variable and A is a complex constant.
Let y () be the output of the system with input x(¢) = e*'. Then
T{e*'} = y(©)
Since the system is time-invariant, we have
T{es(+} = y(t + 1)

for arbitrary real ¢,. Since the system is linear, we have

T{es(+ 0} = T{es 50} = eS0T {e"} = esy(f)
Hence, Y+ 1) = e*y(D)

Setting ¢ = 0, we obtain
¥(ty) = y(0)esre

Since £, is arbitrary, by changing £, to ¢, we can rewrite Eq. (1.118) as

Y@ = y(0) e = ket
or T{e'} = A e
where A = y(0).

Let T represent a discrete-time LTI system. Then show that
T{z"} = A2"

where z is a complex variable and A is a complex constant.

(1.117)

(1.118)

(1.119)
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Let y[n] be the output of the system with input x[n] = z”. Then
T{z"} = yln]
Since the system is time-invariant, we have
T{z"*"} = y[n + n,]

for arbitrary integer n,. Since the system is linear, we have

T{Zn+m,} - T{Z” Z”"} — ZnoT{Zn} = Znoy[n]
Hence, yln + ny] = z"y[n]

Setting n = 0, we obtain

ylny) = y[0]z" (1.120)
Since nj, is arbitrary, by changing n, to n, we can rewrite Eq. (1.120) as

y[n] = y[0]z" = A 2"
or T{z"} = A 2"
where A = y[0].

In mathematical language, a function x(-) satisfying the equation
T{x()} = Ax() (1.121)

is called an eigenfunction (or characteristic function) of the operator T, and the constant A is called the eigenvalue
(or characteristic value) corresponding to the eigenfunction x(-). Thus, Eqs. (1.117) and (1.119) indicate that the
complex exponential functions are eigenfunctions of any LTI system.

SUPPLEMENTARY PROBLEMS

1.46. Express the signals shown in Fig. 1-41 in terms of unit step functions.

xit)

.I'I:f] 3

Fig. 1-41
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1.47. Express the sequences shown in Fig. 1-42 in terms of unit step sequences.

x[n] x[n]
1@ -1
I 4 -3-2-1
L - 8 i » L '_' L L -
2-101 2 N n ll { A n
= —1
(@) (B)
[n]
I ' XW
-~ ®- k-
4-3-2-1 01 23 4 5 n
(c)
Fig. 1-42

1.48. Determine the even and odd components of the following signals:
(@) x(@t)=u()
(b) x(t)=sin (wot N %)
(¢) x[n]= &/ Gon+a2)
(d) xn]=d[n]

1.49. Let x(?) be an arbitrary signal with even and odd parts denoted by x,(¢) and x (), respectively. Show that

[ 2wadr= " 2wat+ [ x2wyat

1.50. Let x[n] be an arbitrary sequence with even and odd parts denoted by x,[n] and x [n], respectively. Show that

© © ©

E xz[n]= E xez[n]+ E xg[n]

n=—o n=—om n=—om

1.51. Determine whether or not each of the following signals is periodic. If a signal is periodic, determine its
fundamental period.

(a) x(t)=cos (Zt + %)

) x(t)=cos’t
(¢) x(t)=(cos2mt)u(t)
d) x@)=e™

(e) x[n]= eJlni)=xl
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2
(f) x[n]=cos (%)

(g) x[n]= cos (%)cos (%)

(h) x[n]=cos (%) + sin (n_8n) —2cos (%)

1.52. Show that if x[n] is periodic with period N, then

n n+N N ny+N
@ Y Akl= Ykl () D xikl= Y k]
k=ng k=ng+N k=0 k=ng
1.53. (a) Whatis 6(26)?
(b) Whatis 8[2n]?
1.54. Show that
8(—n=—-8®
1.55. Evaluate the following integrals:
@ [ (costyu(r)de ®) [ (cosm)()dr
© 2x .1
© [ (cosu(t — 1)) dt @ £ sin—o(x — ) dt

1.56. Consider a continuous-time system with the input-output relation

1 pe+12
YO=TEOY=— [, ), x®dr

Determine whether this system is (a) linear, (b) time-invariant, (c) causal.

1.57. Consider a continuous-time system with the input-output relation
g

YO=T{x@®}= Y x(1)d(t — KT,)

k=—o00

Determine whether this system is (a) linear, (b) time-invariant.
1.58. Consider a discrete-time system with the input-output relation
y[nl = T{x[n]} = x*[n]

Determine whether this system is (a) linear, (b) time-invariant.

1.59. Give an example of a system that satisfies the condition of homogeneity (1.67) but not the condition of
additivity (1.66).

1.60 Give an example of a linear time-varying system such that with a periodic input the corresponding output is not
periodic.

1.61. A system is called invertible if we can determine its input signal x uniquely by observing its output signal y. This is
illustrated in Fig. 1-43. Determine if each of the following systems is invertible. If the system is invertible, give the
inverse system.
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X y Inverse X
—P System ——Pp —>

system

Fig. 1-43

(@ y()=2x(t)
b) y0)=x*(t)
© yoy =" x@)de

n

(d) ynl= Y xlk]

k=—o

(&) yln]= nx[n]

ANSWERS TO SUPPLEMENTARY PROBLEMS

1.46. (@) x(® =§t[u(t) —u(t — 2)]
By x@O=u@+1)+2u@ —u@t—1)—u@—2)— u®—3)

147. (a) x[n] = u[n] —uln — (N + 1)]
) x[n]l = —ul-n—1]
(¢) x[n] = u[n+ 2] —u[n — 4]

1 1
1.48. (a) x,(t)= > x, ()= > sgnt

b) x,()= %cos wpt, X, (1) = %sin Wyt

(¢) x,[n]= jcosQyn, x,[n]=— sin Qyn
d) x,[n]=dl[n], x,[n]=0

1.49. Hint: Use the results from Prob. 1.7 and Eq. (1.77).

1.50. Hint: Use the results from Prob. 1.7 and Eq. (1.77).

1.51. (a) Periodic, period = & (b) Periodic, period = &
(c¢) Nonperiodic (d) Periodic, period = 2
(e) Nonperiodic (f) Periodic, period = 8
(g) Nonperiodic (h) Periodic, period = 16

1.52. Hint: See Prob.1.17.

1.53. (@) 6(2f) = % 5()
(b) 6[2n] = 8[n]

1.54. Hint: Use Egs. (1.101) and (1.99).

1.55. (a) sint
(b) 1fort> 0andO for ¢t < 0; not defined for t = 0
© 0
@ =
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1.56.

1.57.

1.58.

1.59.

1.60

1.61.

(a) Linear; (b) Time-invariant; (c) Noncausal

(a) Linear; (b) Time-varying
(a) Nonlinear; (b) Time-invariant

Consider the system described by
b 2
yO= TG0} =[ [ 1xF de]
y[n] = T{x[n]} = nx[n]

(a) Invertible; x(t) = %y(t)
(b) Not invertible
(c) Invertible; x(t)= m

dt
(d) Invertible; x[n]= y[n]— y[n—1]
(e) Not invertible

CHAPTER 1 Signals and Systems
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Linear Time-Invariant Systems

2.1 Introduction

Two most important attributes of systems are linearity and time-invariance. In this chapter we develop the fun-
damental input-output relationship for systems having these attributes. It will be shown that the input-output rela-
tionship for LTI systems is described in terms of a convolution operation. The importance of the convolution
operation in LTI systems stems from the fact that knowledge of the response of an LTI system to the unit impulse
input allows us to find its output to any input signals. Specifying the input-output relationships for LTI systems
by differential and difference equations will also be discussed.

2.2 Response of a Continuous-Time LTI System and the Convolution Integral

A. Impulse Response:

The impulse response h(f) of a continuous-time LTI system (represented by T) is defined to be the response of
the system when the input is 6(?), that is,

h(#) = T{6()} 2.1)

B. Response to an Arbitrary Input:

From Eq. (1.27) the input x(#) can be expressed as
x(1)= f:ox(‘r)ﬁ(t —1)dr 22)
Since the system is linear, the response y(#) of the system to an arbitrary input x(f) can be expressed as
y(@)=T{x(t)} = T{ f:o X(T)d(t — 1) dr}
= f: X(OT{8(t — 1)} dr 2.3)

Since the system is time-invariant, we have
h(t — 1) = T{0(t — 1)} 24)
Substituting Eq. (2.4) into Eq. (2.3), we obtain
y®= [ x@ht—7)dr 2.5)

Equation (2.5) indicates that a continuous-time LTI system is completely characterized by its impulse response A(?).

—
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C. Convolution Integral:

Equation (2.5) defines the convolution of two continuous-time signals x(#) and k(f) denoted by

y(t) = x(t)*h(t) = f:o x(T)h(t — T) dT (2.6)

Equation (2.6) is commonly called the convolution integral. Thus, we have the fundamental result that the out-
put of any continuous-time LTI system is the convolution of the input x(t) with the impulse response h(t) of the
system. Fig. 2-1 illustrates the definition of the impulse response A(#) and the relationship of Eq. (2.6).

8(t) - h(t)

system
x(t) y(t) = x(t)  h(t)

Fig. 2-1 Continuous-time LTI system.

D. Properties of the Convolution Integral:

The convolution integral has the following properties.

1. Commutative:

xX(0) * h(t) = h(t) * x(1) Q@7

2. Associative:
{x()) * b, (D} * hy(t) = x(0) * {h,(D) * h,(D)} 2.8)

3. Distributive:
x(t) * {h, (O} + hy() = x(D) * h(£) + x(0) * h(1) 2.9)

E. Convolution Integral Operation:

Applying the commutative property (2.7) of convolution to Eq. (2.6), we obtain
y(t)=h(t)* x(t) = fl h(t)x(t — 1) dt (2.10)

which may at times be easier to evaluate than Eq. (2.6). From Eq. (2.6) we observe that the convolution integral
operation involves the following four steps:

1. The impulse response h(7) is time-reversed (that is, reflected about the origin) to obtain A(—7) and
then shifted by ¢ to form A(z — ) = h[ —(z — )], which is a function of 7 with parameter z.

The signal x(t) and h(¢t — T) are multiplied together for all values of T with ¢ fixed at some value.
3. The product x(T)h(t — T) is integrated over all 7to produce a single output value y(#).
4. Steps 1 to 3 are repeated as ¢ varies over — to % to produce the entire output y(z).

Examples of the above convolution integral operation are given in Probs. 2.4 to 2.6.

F. Step Response:

The step response s(t) of a continuous-time LTI system (represented by T) is defined to be the response of the
system when the input is u(f); that is,

s(®) = T{u(n)} (2.11)
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In many applications, the step response s(?) is also a useful characterization of the system. The step response s(#)
can be easily determined by Eq. (2.10); that is,

0 !
s(t)=h(t)*u(r) =f_mh(‘r)u(t —T1)dt =f_wh(‘r) dr (2.12)

Thus, the step response s(#) can be obtained by integrating the impulse response k(#). Differentiating Eq. (2.12)
with respect to ¢z, we get

h(t)=s'(t)=m (2.13)
dt

Thus, the impulse response A(#) can be determined by differentiating the step response s(?).

2.3 Properties of Continuous-Time LTI Systems

A. Systems with or without Memory:

Since the output y(#) of a memoryless system depends on only the present input x(#), then, if the system is also
linear and time-invariant, this relationship can only be of the form

(1) = Kx(1) (2.14)
where K is a (gain) constant. Thus, the corresponding impulse response Ah(f) is simply
o) = Ké(2) (2.15)

Therefore, if h(t,) # 0 for t,# 0, then continuous-time LTI system has memory.

B. Causality:

As discussed in Sec. 1.5D, a causal system does not respond to an input event until that event actually occurs.
Therefore, for a causal continuous-time LTI system, we have

h(® =0 t<0 (2.16)

Applying the causality condition (2.16) to Eq. (2.10), the output of a causal continuous-time LTI system is
expressed as

y()= [ hx(t — 1) dv @.17)
Alternatively, applying the causality condition (2.16) to Eq. (2.6), we have

y(1)= fiwx(r)h(t — 1) dr (2.18)

Equation (2.18) shows that the only values of the input x(#) used to evaluate the output y(#) are those for 7 < ¢.
Based on the causality condition (2.16), any signal x(¢) is called causal if
x()=0 t<0 (2.192)
and is called anticausal if
x(=0 t>0 (2.19b)

Then, from Eqs. (2.17), (2.18), and (2.19a), when the input x(?) is causal, the output y(?) of a causal continuous-
time LTI system is given by

y() =f;h(r)x(t -1)dt =f(;x(r)h(t -1)dt (2.20)
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C. Stability:

The BIBO (bounded-input/bounded-output) stability of an LTI system (Sec. 1.5H) is readily ascertained from
its impulse response. It can be shown (Prob. 2.13) that a continuous-time LTI system is BIBO stable if its impulse
response is absolutely integrable; that is,

[ @ |dr <o 2.21)

2.4 Eigenfunctions of Continuous-Time LTI Systems

In Chap. 1 (Prob. 1.44) we saw that the eigenfunctions of continuous-time LTI systems represented by T are the
complex exponentials e*, with s a complex variable. That is,

T{e*} = Ae* (2.22)
where A is the eigenvalue of T associated with e*. Setting x(#) = ¢* in Eq. (2.10), we have
y(t)=T{e"} = f: il [ f:h(r) e ST dt] "
=H(s)e" = Ae” (2.23)
where r=H©= [ h@e ™ dr (2.24)
Thus, the eigenvalue of a continuous-time LTI system associated with the eigenfunction e* is given by H(s),
which is a complex constant whose value is determined by the value of s via Eq. (2.24). Note from Eq. (2.23)
that y(0) = H(s) (see Prob. 1.44).

The above results underlie the definitions of the Laplace transform and Fourier transform, which will be dis-
cussed in Chaps. 3 and 5.

2.5 Systems Described by Differential Equations

A. Linear Constant-Coefficient Differential Equations:

A general Nth-order linear constant-coefficient differential equation is given by

N k k
Ekdﬂo Ede) 225
k=0

where coefficients a, and b, are real constants. The order N refers to the highest derivative of y() in
Eq. (2.25). Such differential equations play a central role in describing the input-output relationships of a
wide variety of electrical, mechanical, chemical, and biological systems. For instance, in the RC circuit con-
sidered in Prob. 1.32, the input x(#) = v (¢) and the output y(¢) = v (¢) are related by a first-order constant-
coefficient differential equation [Eq. (1.105)]

dy(1) L 1
dt Y= ch(t)

The general solution of Eq. (2.25) for a particular input x(f) is given by
YO = 3,0 + 9,0 (2.26)

where yp(t) is a particular solution satisfying Eq. (2.25) and y,(?) is a homogeneous solution (or complementary
solution) satisfying the homogeneous differential equation

N k
d y,(t) _
2 akT—O (2.27)
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The exact form of y,(?) is determined by N auxiliary conditions. Note that Eq. (2.25) does not completely spec-
ify the output y(?) in terms of the input x(¢) unless auxiliary conditions are specified. In general, a set of auxil-
iary conditions are the values of

dy(ty a7y

t
Y@ dt arV !

at some point in time.

B. Linearity:

The system specified by Eq. (2.25) will be linear only if all of the auxiliary conditions are zero (see Prob. 2.21).
If the auxiliary conditions are not zero, then the response y(#) of a system can be expressed as

O =y, + 3,0 (2.28)

where y,(?), called the zero-input response, is the response to auxiliary conditions, and y, (#), called the zero-state
response, is the response of a linear system with zero auxiliary conditions. This is illustrated in Fig. 2-2.

Note that y,(#) # y,(#) and y, () # yp(t) and that in general y_(#) contains y,(?) and y, (#) contains both y,(?)
and yp(t) (see Prob. 2.20).

xit) (i ¥, [0 ¥ir)

system

...
v

Yy

Fig. 2-2 Zero-state and zero-input responses.

C. Causality:

In order for the linear system described by Eq. (2.25) to be causal we must assume the condition of initial rest
(or an initially relaxed condition). That is, if x(#) = 0 for t =< ¢, then assume y(#) = 0 for 7 =< ¢, (see Prob. 1.43).
Thus, the response for z > £, can be calculated from Eq. (2.25) with the initial conditions

dy(ty) d" 'y(y)
t =—=...=—=0
Yto) dt ar™ !
k k
where d }’(kfo) _d ylft)
dt dt

t =t
Clearly, at initial rest y,(#) = 0.

D. Time-Invariance:

For a linear causal system, initial rest also implies time-invariance (Prob. 2.22).

E. Impulse Response:

The impulse response A(?) of the continuous-time LTI system described by Eq. (2.25) satisfies the differential
equation

N k M k

d*h(t) dks()
2 ay—" = 2 by — (2.29)
K=o dt K=o dt
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with the initial rest condition. Examples of finding impulse responses are given in Probs. 2.23 to 2.25. In later
chapters, we will find the impulse response by using transform techniques.

2.6 Response of a Discrete-Time LTI System and Convolution Sum

A. Impulse Response:

The impulse response (or unit sample response) h[n] of a discrete-time LTI system (represented by T') is defined
to be the response of the system when the input is §[n]; that is,

hln] = T{S [n]} (2.30)

B. Response to an Arbitrary Input:

From Eq. (1.51) the input x[n] can be expressed as

o0

x[n]= 2 x[k] 8[n— k] (2.31)

k=—o

Since the system is linear, the response y[n] of the system to an arbitrary input x[n] can be expressed as

k=—

y[n]=T{x[n]}=T{ > xlk] 6[n—k]}

e

= E x[K]T {8[n — k]} (2.32)

k=—
Since the system is time-invariant, we have
hln — k] = T{S8[n — k]} (2.33)

Substituting Eq. (2.33) into Eq. (2.32), we obtain

o<

Minl= Y x(klhln—k] (2.34)

k=—
Equation (2.34) indicates that a discrete-time LTI system is completely characterized by its impulse response h[n].

C. Convolution Sum:

Equation (2.34) defines the convolution of two sequences x[n] and h[n] denoted by

00

yln]=x[n]*h[n]= Y x[klh[n—k] (2.35)

k=—o

Equation (2.35) is commonly called the convolution sum. Thus, again, we have the fundamental result that the
output of any discrete-time LTI system is the convolution of the input x[n] with the impulse response h[n] of the
system.

Fig. 2-3 illustrates the definition of the impulse response A[n] and the relationship of Eq. (2.35).

8[n] LTI hin]

system
x[n] yIn] = x[n] + hin]

Fig. 2-3 Discrete-time LTl system.
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D. Properties of the Convolution Sum:

The following properties of the convolution sum are analogous to the convolution integral properties shown
in Sec. 2.3.

1. Commutative:

x[n] * h{n) = h[n ] * x[n] (2.36)

2. Associative:
{x[n] * h,[n]} * hy[n] = x[n] * {h,[n] * h[n]} (2.37)

3. Distributive:
x{n] * {h,[n]} + h[n]} = x[n] * h,[n] + x(n] * h,[n] (2.38)

E. Convolution Sum Operation:
Again, applying the commutative property (2.36) of the convolution sum to Eq. (2.35), we obtain

00

yln]=h[n]*x[n]= 2 hlklx[n—k] (2.39)

k=—o

which may at times be easier to evaluate than Eq. (2.35). Similar to the continuous-time case, the convolution
sum [Eq. (2.35)] operation involves the following four steps:

1. The impulse response h[£] is time-reversed (that is, reflected about the origin) to obtain A[—k] and
then shifted by n to form A[n — k] = h[—(k — n)], which is a function of k with parameter n.

2. Two sequences x[k] and h[n — k] are multiplied together for all values of k with n fixed at some
value.

3. The product x[k] h[n — k] is summed over all & to produce a single output sample y[x].
Steps 1 to 3 are repeated as n varies over — to o to produce the entire output y[#n].

Examples of the above convolution sum operation are given in Probs. 2.28 and 2.30.

F. Step Response:

The step response s[n] of a discrete-time LTI system with the impulse response s[n] is readily obtained from
Eq. (2.39) as

s[n]l=h[n)*u[n] = 2 hlklu[n—k]= 2 hlk] (2.40)
k=— k=—
From Eq. (2.40) we have
h[n] = s[n] — s[n — 1] (2.41)

Equations (2.40) and (2.41) are the discrete-time counterparts of Eqgs. (2.12) and (2.13), respectively.

2.7 Properties of Discrete-Time LTI Systems

A. Systems with or without Memory:

Since the output y[n] of a memoryless system depends on only the present input x[#], then, if the system is also
linear and time-invariant, this relationship can only be of the form

yln] = Kx[n] (2.42)



0_ CHAPTER 2 Linear Time-Invariant Systems

where K is a (gain) constant. Thus, the corresponding impulse response is simply
h[n] = Kd[n] (2.43)
Therefore, if hlny] # 0 for ny # 0, the discrete-time LTI system has memory.

B. Causality:

Similar to the continuous-time case, the causality condition for a discrete-time LTI system is
h[n] =0 n<0 (2.44)

Applying the causality condition (2.44) to Eq. (2.39), the output of a causal discrete-time LTI system is
expressed as

y[n]= 2 h[k]x[n— k] (2.45)
k=0

Alternatively, applying the causality condition (2.44) to Eq. (2.35), we have

n

y[n]= 2 x[k1h[n — k] (2.46)

k=—0

Equation (2.46) shows that the only values of the input x[#] used to evaluate the output y[n] are those for k < n.
As in the continuous-time case, we say that any sequence x[n] is called causal if

x[n] =0 n<o0 (247a)
and is called anticausal if
x[n] =0 n=0 (2.47b)

Then, when the input x[n] is causal, the output y[n] of a causal discrete-time LTI system is given by

n

y[n]= 2 h[klx[n— k]= 2 x[k1h[n — k) (2.48)
k=0 k=0
C. Stability:

It can be shown (Prob. 2.37) that a discrete-time LTI system is BIBO stable if its impulse response is absolutely
summable; that is,

k=—0

2.8 Eigenfunctions of Discrete-Time LTI Systems

In Chap. 1 (Prob. 1.45) we saw that the eigenfunctions of discrete-time LTI systems represented by T are the
complex exponentials z", with z a complex variable. That is,

T{z"} = A" (2.50)
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where A is the eigenvalue of T associated with z". Setting x[n] = z" in Eq. (2.39), we have

o0

Ynl=T("}y= Y hlkl" =] Y h[k]z_klz"

k=—o0 k=—0
=H(z)7" = A" (2.51)
where A=H@)= Y hklz* (2.52)
k=—

Thus, the eigenvalue of a discrete-time LTI system associated with the eigenfunction z” is given by H(z),
which is a complex constant whose value is determined by the value of z via Eq. (2.52). Note from Eq. (2.51)
that y[0] = H(z) (see Prob. 1.45).

The above results underlie the definitions of the z-transform and discrete-time Fourier transform, which
will be discussed in Chaps. 4 and 6.

2.9 Systems Described by Difference Equations

The role of differential equations in describing continuous-time systems is played by difference equations for
discrete-time systems.

A. Linear Constant-Coefficient Difference Equations:

The discrete-time counterpart of the general differential equation (2.25) is the Nth-order linear constant-coefficient
difference equation given by

N

M
2 ayln—kl= 2 by x[n — k] (2.53)
k=0 k=0

where coefficients a, and b, are real constants. The order N refers to the largest delay of y[n] in Eq. (2.53). An exam-
ple of the class of linear constant-coefficient difference equations is given in Chap. 1 (Prob. 1.37). Analogous to the
continuous-time case, the solution of Eq. (2.53) and all properties of systems, such as linearity, causality, and time-
invariance, can be developed following an approach that directly parallels the discussion for differential equations.
Again we emphasize that the system described by Eq. (2.53) will be causal and LTI if the system is initially at rest.

B. Recursive Formulation:
An alternate and simpler approach is available for the solution of Eq. (2.53). Rearranging Eq. (2.53) in the form

M N
y[n]=i{2bkx[n—k]— Eaky[n—k]} (2.54)
ao |£=o0

k=1

we obtain a formula to compute the output at time n in terms of the present input and the previous values of
the input and output. From Eq. (2.54) we see that the need for auxiliary conditions is obvious and that to calculate
yln] starting at n = n,, we must be given the values of y[n, — 1], y[n, — 2], ..., y[n, — N] as well as the input x[#]
for n = n, — M. The general form of Eq. (2.54) is called a recursive equation, since it specifies a recursive proce-
dure for determining the output in terms of the input and previous outputs. In the special case when N = 0, from
Eq. (2.53) we have

M
ylnl= L { Y bexln— k]} (2.55)
A |£=o

which is a nonrecursive equation, since previous output values are not required to compute the present output.
Thus, in this case, auxiliary conditions are not needed to determine y[xn].
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C. Impulse Response:

Unlike the continuous-time case, the impulse response h[n] of a discrete-time LTI system described by Eq. (2.53)
or, equivalently, by Eq. (2.54) can be determined easily as

k=1

1 M N
h[n]=—{2bké[n—k]—Eakh[n—k]} (2.56)
%o |k=0

For the system described by Eq. (2.55) the impulse response k[n] is given by

b, /ay 0=n=M

. (2.57)
0 otherwise

1 & s
h[n]=— ) b, 0[n—k]=
4 20 ¢ {

Note that the impulse response for this system has finite terms; that is, it is nonzero for only a finite time dura-
tion. Because of this property, the system specified by Eq. (2.55) is known as a finite impulse response (FIR)
system. On the other hand, a system whose impulse response is nonzero for an infinite time duration is said to
be an infinite impulse response (IIR) system. Examples of finding impulse responses are given in Probs. 2.44
and 2.45.In Chap. 4, we will find the impulse response by using transform techniques.

SOLVED PROBLEMS

Responses of a Continuous-Time LTI System and Convolution

2.1. Verify Eqgs. (2.7) and (2.8); that is,
(@) x(® * h(t) = h(t) * x(¥)
®) {x@ * hy(®} * hy() = x() * {h () * h,(D}

(a) By definition (2.6)

x0)xhn)= [~ x@h(t ~7)dv
By changing the variable 1 — 7= A, we have
O xh® =[xt~ DhA)dA= [ AAIx(— A)dA= hit)* x(1)
(b)  Letx(t) * h(t) = £,(t) and h,(t) * hy() = £,(7). Then
A= " x@m-7)de
and (O * O} b0 = O xh®)= [ [yt~ 0)do
-1 [ [ xm© -7 dr] hy(t — 0) do

Substituting A = o — 7and interchanging the order of integration, we have

@ ) 0= [ x@) [ [ momy@ -7 =) dA] dr

Now, since

AO= [ mhy(t—2)dA
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we have
A== [ Wyt 7~ A)dA

Thus, FO*m©) * b= [ x@f( - d
= X(1)* ()= X(1) * (I ()% hy())

2.2. Show that

(@) x(®)=* () =x(0) (2.58)

B) x(t)* 8(t — 1) = x(t — 1,) (2.59)

©) x()wu(t)= fiwx(r) dr (2.60)
_ Mo

(@) x@)su@t—1)=[ " x@)de 260)

(a) By definition (2.6) and Eq. (1.22) we have
x()*3(0)= [ x@)8(t — 1) dv = x@)|,_, = x(1)
(b) By Egs. (2.7) and (1.22) we have
X(1) % 8(1 — 1) =8t~ 19)* ()= [~ 8(x 1) x(t ~T)
=x(t—7)|,_, =x(t—1p)
(¢) By Egs.(2.6)and (1.19) we have
x@0)xu®)= [ x@u@-de= [ x@de

1 T<t

. )=
since u(t — 1) {0 >t

(d) In a similar manner, we have
x(@)xu —ty) =f_:x(‘r)u(t —T—ty))dt =f::0 x(t)dt

1 z<t—t,

sinceu(t —t—1y)= .
0 {0 T>1-1,

2.3. Let y(¢#) = x(?) * h(?). Then show that

X(t— )% h(t— 1) =yt — 1, — 1) (2.62)
By Eq. (2.6) we have

()= x0)*h®)= [~ _x@ht ) dv (2.63a)
and Xt =) h(t = 1)= " x(z—1)h(t— T~ 1) dr (2.63b)

Let T — ¢, = M. Then 7 = A + ¢, and Eq. (2.63b) becomes

X(t—1) % h(t —t,)= f:x()»)h(t —t,—t, — A)dA (2.63¢)
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Comparing Eqs. (2.63a) and (2.63c), we see that replacing # in Eq. (2.63a) by t — , — ¢,, we obtain Eq. (2.63c).
Thus, we conclude that

Xt — 1)k h(t — 1) =yt — 1, — 1)
2.4. The input x(¢) and the impulse response h(f) of a continuous time LTT system are given by
x(1) = u(?) o =e *u(),a>0

(a) Compute the output y(#) by Eq. (2.6).
(b) Compute the output y(#) by Eq. (2.10).

(@ ByEq.(26)
y(@)= x(t)* h(t) =f:x(r)h(t —1)dt
Functions x(7) and h(t — t) are shown in Fig. 2-4(a) for t < 0 and ¢ > 0. From Fig. 2-4(a) we see that

for t < 0, x(t) and h(r — T) do not overlap, while for r > 0, they overlap from 7 = 0 to T = ¢. Hence, for
1<0,y@® = 0.Fort> 0, we have

y(t):f(;e—a(t—t) dr = e—aff(;ear dr

=e—arl(eat _ l)=l(1—e_a’)
a a

i) hix)

=

hit—1) X({f-1)

t<0 t<0

k.
-

hit—1) Xt —1)

>0 1 >0

L 4
L J

(@) (b)
Fig. 2-4
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Thus, we can write the output y(#) as
YO = (=t 2.64)
(b) ByEq.(2.10)
YO =h)xx®)= [~ h@)xt—7)dr

Functions A(7) and x(t — 7) are shown in Fig. 2-4(b) for t < 0 and ¢ > 0. Again from Fig. 2-4(b) we see
that for r < 0, h(7) and x(¢ — 7) do not overlap, while for r > 0, they overlap from 7 = 0 to 7 = ¢. Hence,
fort < 0,y(r) = 0.For ¢t > 0, we have

_ ! _ar _ l _ —at
y(t)—foe dr—a(l e
Thus, we can write the output y(?) as

Y= é(l —e “u(r) (2.65)

which is the same as Eq. (2.64).

2.5. Compute the output y(#) for a continuous-time LTI system whose impulse response #(#) and the input
x(?) are given by

h(t)=e “u(t) x()=e*"u(-1t) a>0
By Eq. (2.6)
Y(£)=x(t) % h(t) = f: X(@)h(t — 1) dT
Functions x(t) and h(t — T) are shown in Fig. 2-5 (a) for < 0 and ¢ > 0. From Fig. 2-5 (a) we see that for

t < 0,x(7) and h(t — ) overlap fromz = —o to T = ¢, while for # > 0, they overlap from 7= — to 7= 0. Hence,
for t < 0, we have

— ! ar —a(t-1) — ,at ! 2ar — L at (2.66a)
y(@) f_we e dr = e f_we dr 2’
For t > 0, we have
y(@)= O gt gty = et (0 pargp 1 e (2.66b)
f‘°° f—°° 2a

Combining Eqgs. (2.66a) and (2.66b), we can write y(f) as
yy=—Le  g>0 (2.67)
2a

which is shown in Fig. 2-5(b).
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x(t)

Rt 1)
Wit}

t<0

kR
-

P
(=]
[e=]
~

(b)

L ]

[=,
~
-

Fig. 2-5

2.6. Evaluate y(#) = x(¥) * h(f), where x(#) and h(?) are shown in Fig. 2-6, (a) by an analytical technique, and
(b) by a graphical method.

x[f) hit)

Fig. 26
(@) We first express x(#) and A(f) in functional form:
X0 = wt) — ut —3)  h() = u(t) — u(t — 2)
Then, by Eq. (2.6) we have
YO =xO)xh)= [~ x@h(t ~7)dv
=f:°[u(r) —u(t = 3)][ut —7)—u(t — 7 — 2)]dr
= f:u(r)u(t —1)dt — f:u(r)u(t ~-2-T7)dr

[ @ = Iue —vydr+ [ uw -3 -2-1)de
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Since u(tut —t)=

u(t —3u(t—1)=

u(t—3u(t—-2—-1)=

{
uTtu—2—-1)= {1
{
{

we can express y(f) as

0<t<tt>0
otherwise
0<t<t—2,t>2
otherwise
I<r<t,t>3
otherwise
3I<t<t—2,t>5

otherwise

y@®)= (f;dr)u(t) - (f(:_zd‘r)u(t -2)

! =2
- (f3d1:)u(t -3)+ (f3 dr)u(t —-5)

=m(t)— (¢ —2u@—2)—©C—Du—3)+E—S5uE-135)

which is plotted in Fig. 2-7.

it ;
I |
e . N
“ [t-5)uit-5)
1 -
1 L L I >
o 1 - 5 (3] f
1} Tl (t-3wit-3)
i (= 2t~ 2)
Fig. 2-7

(b)

Functions h(7), x(t) and h(t — 7), x(7) h(t — 7) for different values of r are sketched in Fig. 2-8. From

Fig. 2-8 we see that x(7) and A(f — 7) do not overlap for # < 0 and # > 5, and hence, y(f) = 0 forr < 0
and ¢ > 5. For the other intervals, x(7) and A(f — 7) overlap. Thus, computing the area under the

rectangular pulses for these intervals, we obtain

y@®)=

S LN T O

which is plotted in Fig. 2-9.

<0
0<tr=2
2<t=<3
3<t=<5
5<t

2.7. Let h(?) be the triangular pulse shown in Fig. 2-10(a) and let x(#) be the unit impulse train [Fig. 2-10()]

expressed as

x(1)=6,(1)= i 8(t — nT)

(2.68)

n=—oo

Determine and sketch y(¢) = h(f) * x(#) for the following values of T: (@) T =3,(b) T=2,(c) T = 1.5.
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hix) xir)
1 1
1 0 1 2 3 4 1 0 1 2 3 4 =
hit 1) xlehhlt— <)
t<0 t=@
1 1
A 1 1 1 1 1 .l_. 'l 1 1 1 L |.-_.
42 110 1 2 3 4 T -+ 0 1 2 85 &4 =
t-2
hit—) xitih(t—1)
1 [ D<t<2
1
i i 1 i i i =._ i i i 1 L 3
g ~f-49 For § A4 T 1 0 1 ¢t2 3 4
t-2
hit-1) xlc)hit )
2<t<3 2<ted
1 1
2 -1 041 2¢3 4 5 v 1 of1 2:3 4 ¢
t—2 t-2
kel xithit—1)
3=t«h 3=t<h
1 1
i 1 1 i 1 1 1 'l ; 1 i 1 i ;_
2 1 0 142 3¢4 5 61 1 0 1%+2 3 a4 «x
t-2 t-2
hit—1 x(x)hit—T)
S5<t S5«t
1 1
1 1 1 'l 1 i i 1 ; i i i 1 '] ;._
2 -1 0 1 2 314 5 t+ 6 T 1 0 1 2 3 4
t-2
Fig. 2-8
wit)
o
1
1 [] 1 [ ] [} i >
-1 o 1 2 3 4 5 6 t
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2.8.

hit) .t

-1 0 1 ; -2 -T 0 2T ;
@ (b)
Fig. 2-10
Using Egs. (2.59) and (2.9), we obtain
YO =h@)x6p()=h@t)*| ¥ 8t —nT)
= S hyrsa—nTy= S he—nT) (2.69)

(a) For T = 3,Eq. (2.69) becomes

o

Y= h(t—3n)

n=—oo
which is sketched in Fig. 2-11(a).
(b) ForT = 2,Eq. (2.69) becomes

©

Y=Y ht—2n)

n=—o
which is sketched in Fig. 2-11(b).
(¢) ForT=1.5,Eq. (2.69) becomes

©

Y= ht—1.5n)

n=—o

which is sketched in Fig. 2-11(c). Note that when T < 2, the triangular pulses are no longer separated and
they overlap.

If x,(?) and x,(#) are both periodic signals with a common period T, the convolution of x,(#) and x,(?)
does not converge. In this case, we define the periodic convolution of x () and x,(?) as

F@)=x(1)® x,() =f0TO x(T)xy (2 —7)dT (2.70)
(a) Show that f(¥) is periodic with period T,
(b) Show that
a+T
[ =fa x(T)x,(t —T)dr 2.71)

for any a.

(c¢) Compute and sketch the periodic convolution of the square-wave signal x(¢) shown in Fig. 2-12
with itself.
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7 6 S 4 3 2 1 0

@

1 2

¥ir)

T=3
K] 4 5 (] 7

L ]

L

R

)
Fig. 211

i)

Fig. 212

(@) Since x,(?) is periodic with period T, we have

el

Lk

Xt+Ty—1)=x,(t - 7)

Then from Eq. (2.70) we have

To
fe+Ty) =f0 x@x,¢t+T,—1)dt

To
=f0 X (@)xy(t —T)dTr = f(1)

Thus, f(?) is periodic with period T,,.
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(b) Since both x (7) and x,(7) are periodic with the same period T, x,(7)x, (f — 7) is also periodic with period T,.
Then using property (1.88) (Prob. 1.17), we obtain

f@)= fOT° X)Xt —T)dr = f:”" x,(T)x%,(t — 1) dT

for an arbitrary a.

(c) We evaluate the periodic convolution graphically. Signals x(t), x(f — 7), and x(7)x(f — 7) are sketched in
Fig. 2-13(a), from which we obtain

A%t 0<t=T,/2
f= and  f@+To)=f(@)
—A%t—Tp) T,/2<t=<T,

which is plotted in Fig. 2-13(b).

x(1) x(1)
A A

L T, 0 T, T T L T, 0 T, T, v
, 2 2 2 2 :
| | | - 2
; xt—1) : Qzte— ; xit—k ' -eqq 7
; A ‘ I i :
* 4 — A ;
E i i E - i : ] : -
Lt oth i T, 0T tTi
o 2 P2 P2 o
E H : E H T H : ] TI:I -
£ xfrjelt-1) T Oecte—2 ; X)) o E‘H ‘o
'og . o a2 i HE N
v a2l o4 b2l F !

1 1 > ] >
T 0T T T To 0 To T, T

2 ) 2 2
fie)
t

(b)
Fig. 2-13
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Properties of Continuous-Time LTI Systems

2.9. The signals in Figs. 2-14(a) and () are the input x(#) and the output y(?), respectively, of a certain
continuous-time LTT system. Sketch the output to the following inputs: (a) x(t — 2); (b) 12x(t).

(a) Since the system is time-invariant, the output will be y(¢r — 2), which is sketched in Fig. 2-14(c).
(b) Since the system is linear, the output will be % y(#), which is sketched in Fig. 2-14(d).

it it
2
: 1
v 0 1 2 3

(a) (b)

¥it—2) LI
E,rﬂ
2
1 |
i I | L L L A
1 o 1 2 3

(© (@)
Fig. 214

-~
~

Lk ]
Lk ]

ke
[=]
-
ma
(=]
£
o

2.10. Consider a continuous-time LTI system whose step response is given by
s() =e"u(®
Determine and sketch the output of this system to the input x(#) shown in Fig. 2-15(a).
From Fig. 2-15(a) the input x(#) can be expressed as
x(H) =u(t—1) — u( — 3)
Since the system is linear and time-invariant, the output y(?) is given by

y(O) = st — 1) — st — 3)
=e Dyt —1)— e Iyt — 3)

which is sketched in Fig. 2-15(b).
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2.11. Consider a continuous-time LTI system described by (see Prob. 1.56)

(@)
(b)

(@)

(b)

_ _ 1 «+112
y(0)=T{x(t)} = ;f,_m x(r)dt

Find and sketch the impulse response A(?) of the system.
Is this system causal?
Equation (2.72) can be rewritten as

t+T/2

1 1 -T2
YO=7J x(r)dr—;f_w x(r)dr

Using Eqgs. (2.61) and (2.9), Eq. (2.73) can be expressed as

L T el L
y(t)—Tx(t) u(t+ 2) Tx(t) u(t 2)

1 T T
=x(t)*—|ult+—|—u|t——||=x(@)* h(t
) T ( 2) ( 2) () * h(t)
Thus, we obtain
/T —-TR<t=<T/2
h(t)=lut+—T —ut——T = .
T 2 2 0 otherwise

which is sketched in Fig. 2-16.

From Fig. 2-16 or Eq. (2.75) we see that () # O for < 0. Hence, the system is not causal.

hif)

if
T

Ll |

Tr2 0 Tz
Fig. 216

(2.72)

(2.73)

(2.74)

(2.75)

2.12. Let y(f) be the output of a continuous-time LTI system with input x (7). Find the output of the system if
the input is x'(#), where x'(¢) is the first derivative of x(z).

From Eq. (2.10)

()= heyxx0)= [~ h@)x(t —7)dv

Differentiating both sides of the above convolution integral with respect to ¢, we obtain

4
dt
=fi° h(T)x'(t — t)dT = h(t) * X'(t)

()= %[ 7 - dr] — [ Lt - ) dr)

which indicates that y'(?) is the output of the system when the input is x'(¢).

2.13. Verify the BIBO stability condition [Eq. (2.21)] for continuous-time LTI systems.

Assume that the input x(#) of a continuous-time LTI system is bounded, that is,

[x(®)] =k, all ¢

(2.76)

2.77)
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Then, using Eq. (2.10), we have

ly)|= ‘ [ oxt-vdr|= [ |h@)xt - )|dr
= [*Ir@||lx¢ —D]dr =k [ |n@)|dr
since |x(t — )| < k, from Eq. (2.77). Therefore, if the impulse response is absolutely integrable, that is,
[ |h@dr=K <o

then |y(#)| =< k,K = k, and the system is BIBO stable.

2.14. The system shown in Fig. 2-17(a) is formed by connecting two systems in cascade. The impulse
responses of the systems are given by 4 (#) and h,(?), respectively, and

h (1) = e u(1) hy(t) = 2e"u(t)

(a) Find the impulse response A(f) of the overall system shown in Fig. 2-17(b).
(b) Determine if the overall system is BIBO stable.

x(0) w(t) y(0)
—> h) —— 0

@

—_—> ) —>

(b)

Fig. 2-17

(a) Let w(z) be the output of the first system. By Eq. (2.6)
w(t) = x(f) * h (0 (2.78)
Then we have
(@ = w(@®) * hy() = [x(2) * h(D)] * h () (2.79)
But by the associativity property of convolution (2.8), Eq. (2.79) can be rewritten as
YO = x(@) * [h,(©) * hy(D] = x(2) * h(?) (2.80)
Therefore, the impulse response of the overall system is given by
h(®) = h,(1) * hy(D) (2.81)

Thus, with the given h,(f) and h,(7), we have

o= [ @k - d= [ e u@ 2e u - ) de

= 23_'f:° e u@)u —t)dr=2e" [f;e_f dr]u(t)

=2(¢"— e u@)
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(b)

Using the above A(f), we have

[ |hodr=2f 7~ ey dr = Z[f:e_’ dr [re dT]

=2(l—i)=l<oo
2

Thus, the system is BIBO stable.

Eigenfunctions of Continuous-Time LTI Systems

2.15. Consider a continuous-time LTI system with the input-output relation given by

(@)
(b)
(©)

(@)

(b)

()]

y()= f:me‘_('_”x(r) dr (2.82)

Find the impulse response A(#) of this system.
Show that the complex exponential function e* is an eigenfunction of the system.

Find the eigenvalue of the system corresponding to ¢ by using the impulse response h(f) obtained
in part (a).

From Eq. (2.82), definition (2.1), and Eq. (1.21) we get

W= [ e o@dr=e Y =e 1>0

Thus, h(t)= e "u(t) (2.83)
Let x(f) = e*. Then
y(t)=f:we_(’_” e dr= e_'fiwe(””’ dr

L et ifRes>-1 (2.84)
s+1
Thus, by definition (2.22) e* is the eigenfunction of the system and the associated eigenvalue is
1
A= (2.85)
s+1

Using Eqs. (2.24) and (2.83), the eigenvalue associated with e* is given by
A=H@)=[" hwe " dr=[" ¢ ume " dr
= [e et ar = L fRes>—1
0 s+1

which is the same as Eq. (2.85).

2.16. Consider the continuous-time LTI system described by

1 +T/2
Y=o I, '_TT ,, ¥(@)dT (2.86)

(a) Find the eigenvalue of the system corresponding to the eigenfunction e*.

(b) Repeat part (a) by using the impulse function A(#) of the system.
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(a) Substituting x(7) = e*Tin Eq. (2.86), we obtain

4T

1
yO= 7ot €

— L(esT/Z _ e—sT/Z)exr = A ext
sT

Thus, the eigenvalue of the system corresponding to e is

A= é(esle _ e—sT/Z) (2.87)

(b) From Eq. (2.75) in Prob. 2.11 we have

-4

Using Eq. (2.24), the eigenvalue H(s) corresponding to e is given by

_1
h= =

_|ur -TR<t<T/2
0 otherwise

_r EPSN UrC  UPSTy S V)
H(s)—f_wh(r)e dt—T o d‘r—ST(e e )

which is the same as Eq. (2.87).

2.17. Consider a stable continuous-time LTI system with impulse response /(#) that is real and even. Show
that cos wt and sin wt are eigenfunctions of this system with the same real eigenvalue.

By setting s = jw in Egs. (2.23) and (2.24), we see that ¢/’ is an eigenfunction of a continuous-time LTI system
and the corresponding eigenvalue is

A=H(jo)= [~ h@)e " dv (2.88)
Since the system is stable, that is,

[ |h@|dr <o

then f:' h(z)e /¥t

dr=[" ||

dr =f:| h(r)| dr < o
since |e™#?| = 1. Thus, H(jw) converges for any w. Using Euler’s formula, we have
H(jw)= f: h(z) e % dy = f; h(z)(cos wT — j sin wT) dv

=f_wwh(r)cos wtdr — jf:oh(r) sin wt dt (2.89)

Since cos wtis an even function of 7 and sin wtis an odd function of 7, and if A(?) is real and even, then A(T)
cos wrtis even and A(7) sin wtis odd. Then by Eqgs. (1.75a) and (1.77), Eq. (2.89) becomes

H(jw)= Zf:h(r)cosandt (2.90)
Since cos wris an even function of w, changing wto —w in Eq. (2.90) and changing j to — j in Eq. (2.89), we have

H(—jw)= H(jw)* = Zf:h(t)cos(—wr) dt

=2f:h(t)cosw‘rd‘r= H(jw) 291)
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Thus, we see that the eigenvalue H(jw) corresponding to the eigenfunction ¢/’ is real. Let the system be
represented by T. Then by Eqs. (2.23), (2.24), and (2.91) we have

T{e/*'} = H(jw) e/ (2.92a)
T{e/®'} = H(—jw) e /*' = H(jw) e~/*' (2.92b)

Now, since T is linear, we get

T{cos r} = T{%(ef‘"' +e—f‘°'>}= Loy + Lo

= H(jw){%(ef‘"’ + e‘f‘”’)} — H(jw) cos ot (2.93a)
. 1 jwt — jot 1 jwt 1 — jot
and T{smwt}=T{—_(e’ —e/ )}=—,T{e’ }—=—T{e '}
2j 2j 2j
=H (jw){%j(e"”' - e"‘”’)} = H(jw)sin wt (2.93b)

Thus, from Egs. (2.93a) and (2.93b) we see that cos w? and sin w! are the eigenfunctions of the system with the
same real eigenvalue H(jw) given by Eq. (2.88) or (2.90).

Systems Described by Differential Equations

2.18. The continuous-time system shown in Fig. 2-18 consists of one integrator and one scalar multiplier.
Write a differential equation that relates the output y(#) and the input x(?).

x(f) e(f) ¥it)
E P f

<Je
Fig. 218

Let the input of the integrator shown in Fig. 2-18 be denoted by e(¢). Then the input-output relation of the integrator
is given by

y(t)=fiwe(r)dr (2.94)

Differentiating both sides of Eq. (2.94) with respect to ¢, we obtain

dy(1) _ 295
yr e(t) (2.95)

Next, from Fig. 2-18 the input e(?) to the integrator is given by
e(t) = x(t) — ay(1) (2.96)

Substituting Eq. (2.96) into Eq. (2.95), we get

dy@® _ .
I x(®)—ay(®)
or % +ay(t)= x(t) 297)

which is the required first-order linear differential equation.
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2.19. The continuous-time system shown in Fig. 2-19 consists of two integrators and two scalar multipliers.
Write a differential equation that relates the output y(#) and the input x(?).

v

4 j- ¥l

Fig. 219

Let e(#) and w(z) be the input and the output of the first integrator in Fig. 2-19, respectively. Using Eq. (2.95), the
input to the first integrator is given by

e(t)= % =—aw()— ay () + x(t) (2.98)

Since w(?) is the input to the second integrator in Fig. 2-19, we have

dy(t)

=20 2.99
w(r) ” (2.99)
Substituting Eq. (2.99) into Eq. (2.98), we get
a*y(t) dy(t)
dyTZ —a };—t —ay(®)+x(t)
2
or a0 |, DOy vy = xy (2.100)

> ' ar
which is the required second-order linear differential equation.

Note that, in general, the order of a continuous-time LTI system consisting of the interconnection of integrators
and scalar multipliers is equal to the number of integrators in the system.

2.20. Consider a continuous-time system whose input x(#) and output y(?) are related by

B L vy = x) (2.101)

dt

where a is a constant.

(a) Find y(#) with the auxiliary condition y(0) = y, and
x(t) = Ke™*" u(?) (2.102)
(b) Express y(?) in terms of the zero-input and zero-state responses.
(a) Let
YO = Y0 + 3,0
where yp(t) is the particular solution satisfying Eq. (2.101) and y,(?) is the homogeneous solution which satisfies

d
ydh_t(t) +ay, (1) =0 (2.103)



CHAPTER 2 Linear Time-Invariant Systems

(b)

Assume that
Y, = Ae bt t>0
Substituting Eq. (2.104) into Eq. (2.101), we obtain
—bAe™b + aAe " = Ke™"
from which we obtain A = K/(a — b), and

et t>0
a—>b

()=

To obtain y,(f), we assume
y,(H) = Be*!
Substituting this into Eq. (2.103) gives
sBe*' + aBe*' = (s + a) Be*' = 0
from which we have s = —a and
y,(t) = Be

Combining yp(t) and y,(7), we get
y(t)= Be ™ + K oo 4o
a—b

From Eq. (2.106) and the auxiliary condition y(0) = y,, we obtain

K
a—>b

B=y,—

Thus, Eq. (2.106) becomes

yn= ()’0 T
For r < 0, we have x(f) = 0, and Eq. (2.101) becomes Eq. (2.103). Hence,
y(t) = Be™™ <0
From the auxiliary condition y(0) = y, we obtain

YO = ye t<0

—

(2.104)

(2.105)

(2.106)

(2.107)

(2.108)

Combining Eqs. (2.107) and (2.108), y(#) can be expressed in terms of y . (¢) (zero-input response) and y, ()

(zero-state response) as

()= Yoo + X (e — e M yu(r)
a—>b
=y, () + y,5()

at

where V(1) =o€~

V(1) = —= S =)

a-

(2.109)

(2.110a)

(2.110b)
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2.21. Consider the system in Prob. 2.20.

(@)
(b)

(@)

(b)

Show that the system is not linear if y(0) = y, # 0.
Show that the system is linear if y(0) = 0.

Recall that a linear system has the property that zero input produces zero output (Sec. 1.5E). However, if we
let K = 0 in Eq. (2.102), we have x(f) = 0, but from Eq. (2.109) we see that

y(@® =y, #0 Yo #* 0

Thus, this system is nonlinear if y(0) = y, # 0.

If y(0) = 0, the system is linear. This is shown as follows. Let x,(f) and x,(¢) be two input signals, and let y,(?)
and y,(?) be the corresponding outputs. That is,

M4‘ay.(t)=x|(t) (2.111)
dt
M+ay2(t)=x2(t) (2.112)
dt
with the auxiliary conditions
¥1(0) = y,(0) =0 (2.113)

Consider
x(1) = ax,(t) + a,x(0)

where a, and «, are any complex numbers. Multiplying Eq. (2.111) by «; and Eq. (2.112) by ¢, and adding,
we see that

(O = ay () + a,y,(0)
satisfies the differential equation

dy®) _
ar +ay()=x()

and also, from Eq. (2.113),

y©0) = ay,(0) + a,y,(0) = 0

Therefore, y() is the output corresponding to x(f), and thus the system is linear.

2.22. Consider the system in Prob. 2.20. Show that the initial rest condition y(0) = 0 also implies that the
system is time-invariant.

Let y,(?) be the response to an input x,(#) and

Then

and

x,(H =0 t=<0 (2.114)
DD+ ay,0) = 5,0) @.115)

t
y,0) =0 (2.116)

Now, let y,(7) be the response to the shifted input x,(f) = x,(# — 7). From Eq. (2.114) we have

X0 =0 t=1t (2.117)
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2.23

Then y,(f) must satisfy

% T ay, (1) = %,(0) @.118)

and ¥,(r) =0 (2.119)
Now, from Eq. (2.115) we have

dy,(t — 1)
dt

+ay(t—7)=x—T)=x()
If we let y,(#) = y,(t — 7), then by Eq. (2.116) we have
o=y (-17)=y0)=0
Thus, Egs. (2.118) and (2.119) are satisfied and we conclude that the system is time-invariant.

Consider the system in Prob. 2.20. Find the impulse response A(f) of the system.

The impulse response A(#) should satisfy the differential equation

% +ah(t)=06(t) (2.120)

The homogeneous solution 4,(f) to Eq. (2.120) satisfies

dh
_;t(’) +ah, (1)=0 2.121)

To obtain 4,(7), we assume
h,() = ce*
Substituting this into Eq. (2.121) gives
sces' + ace’ = (s + a)ce’' =0
from which we have s = —a and
h () = ce™“u(r) (2.122)

We predict that the particular solution hp(t) is zero since hp(t) cannot contain 6(f). Otherwise, A(f) would have a
derivative of d(f) that is not part of the right-hand side of Eq. (2.120). Thus,

h(f) = ce " u(t) (2.123)
To find the constant ¢, substituting Eq. (2.123) into Eq. (2.120), we obtain
d —at —at
E[ce u(t)] + ace “u(t)=6(t)

or —ace “u(t)+ce ™ % +ace” ™ u(t)=96(t)

Using Egs. (1.25) and (1.30), the above equation becomes

ce ™ du(t) _

—at _ _
o ce CO()=co(t)=48(t)

so that ¢ = 1. Thus, the impulse response is given by

h(t) = e~ u(r) (2.124)



a_ CHAPTER 2 Linear Time-Invariant Systems

2.24 Consider the system in Prob. 2.20 with y(0) = 0.
(a) Find the step response s(?) of the system without using the impulse response A(?).
(b) Find the step response s(#) with the impulse response A(?) obtained in Prob. 2.23.
(¢) Find the impulse response /() from s(#).

(a) InProb.2.20
x() = Ke " u()

Setting K = 1, b = 0, we obtain x(r) = u(?) and then y(#) = s(#). Thus, setting K = 1,5 = 0, and y(0) = y, = 0
in Eq. (2.109), we obtain the step response

s(t)= é(l —e “Nu() (2.125)
(b) Using Egs. (2.12) and (2.124) in Prob. 2.23, the step response s(?) is given by
so={_nwdr={ e u@dr
- [ fiwe_“’d‘r]u(t) = %(1 — e “u(t)

which is the same as Eq. (2.125).
(c¢) Using Egs. (2.13) and (2.125), the impulse response A(?) is given by

dfl _
h(t)=s'(t)=—|—(1—e “u(t
=50) dt[a( e )u()]
=e “ut)+ l(1 —e Myu'(t)
a
Using Eqgs. (1.25) and (1.30), we have
1 —aty 1 —at 1
—(l—eWy=—>10—-e “)o@t)y=—10-1Do@)=0
a a a
Thus, h(t)=e “u(t)
which is the same as Eq. (1.124).
2.25. Consider the system described by
Y@ + 2y(t) = x(t) + x'(t) (2.126)
Find the impulse response A(#) of the system.
The impulse response A(#) should satisfy the differential equation
h'(t) + 2h@t) = o(t) + 6'(2) (2.127)
The homogeneous solution £,(f) to Eq. (2.127) is [see Prob. 2.23 and Eq. (2.122)]
h(t) = c.e” ™ u(t)

Assuming the particular solution hp(t) of the form

h () = c,8(t)
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the general solution is
h(t) = c,e”? u(t) + c,0(1) (2.128)

The delta function §(¢) must be present so that A'(f) contributes §'(?) to the left-hand side of Eq. (1.127).
Substituting Eq. (2.128) into Eq. (2.127), we obtain

= 2ce7Mu(t) + c, e7Mu'(t) + c,0'(t) + 2c,e ¥ u(t) + 2¢, ()
=0@)+ 6

Again, using Eqs. (1.25) and (1.30), we have
(¢, + 2¢,) 8(t) + ¢, 8'(t) = 6(t) + 8'(1)
Equating coefficients of d(¢) and §'(¢), we obtain
¢, +2,=1 c,=1
from which we have ¢, = —1 and ¢, = 1. Substituting these values in Eq. (2.128), we obtain
h(t) = —e 2 u(t) + 8(t) (2.129)

Responses of a Discrete-Time LTI System and Convolution

2.26 Verify Eqgs. (2.36) and (2.37); that is,
(a) x[n] * h[n] = h[n] * x[n]
(b) A{x[n] * h\[n 1} * hy[n] = x[n] * {h,[n] * h,[n]}

(a) By definition (2.35)

©

x[n]*h[n]= E x[k1h[n— k]

k=—o

By changing the variable n — k = m, we have

o o

x[n]*h[n]= E x[n— mlh[m] = E h[m]x[n — m] = h[n]*x[n]

m=—o m=—o

(b) Letx[n] * hj[n] = f,[n] and h [n] * h,[n] = f,[n]. Then

©

Alnl= Y xlkIy[n— k]

k=—o

and {x[n]*h([n]}*hy[n]= filn]*h,[n]= E filmlh,y[n—m]

m=—o

0

-3 ix[k]hl[m—k]}hﬂn—m]

m=—ow |k=—o

Substituting r = m — k and interchanging the order of summation, we have

{x[nl*hy[n]} xhy[n] = Y, x[k][ > h.[r]hz[n—k—r]]

k=—c r=—o
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Now, since
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L= mirlhyln—r]

we have

r=—o

®

hHln=kl= Y hlrihyln—k-r]

Thus,

r=—o

o

k=—o

{(x(n]*m[n]}xhyln]= Y x[K] fyln— k]

= x[n]* fo[n]= x[n]= {h[n]* hy[n]}

2.27. Show that
(a) x[n] * 6[n] = x[n]
(b)

x[n] * 8[n — ny] = x[n — ng]

o<

x[n]*uln] = 2 x[k]

k=—o

()

n—ngy

x[nl*uln—nol= Y x[k]

k=—

(@)

(@)

©

(2.130)
(2.131)

(2.132)

(2.133)

By Eq. (2.35) and property (1.46) of d[n — k] we have

x[n]*8[n] = E x[k18[n— k]= x[n]

k=—o

(b)

Similarly, we have

©

x[n]*8[n—ngl= Y x[k18[n— k= ny]=x[n—ny]

k==

()]

®

©

By Eq. (2.35) and definition (1.44) of u[n — k] we have

n

x[nl*uln]= E x[kluln—k]= E x[k]

k=—o

(@

In a similar manner, we have

©

k=—o

n—ng

x[nl*uln—nol= Y x(kKluln—k=nol= Y x[k]

k=—o

k=—o

2.28 The input x[n] and the impulse response h[n] of a discrete-time LTI system are given by

x[n] = uln]

h[n] = o u[n]

(a) Compute the output y[n] by Eq. (2.35).
(b) Compute the output y[n] by Eq. (2.39).

(a) By Eq.(2.35) we have

0<a<l

©

y[n]= x[n]*h[n]= E x[k]hln — k]

k=—o
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— o

Sequences x[k] and A[n — k] are shown in Fig. 2-20(a) for n < 0 and n > 0. From Fig. 2-20(a) we see that
for n < 0, x[k] and h[n — k] do not overlap, while for n = 0, they overlap from k = 0 to k = n. Hence, for

n<0,y[n]=0.Forn=0,wehave

yln]= ia”"‘
k=0

A

2 3 ;
him—K]
1 n<0
XEA T T "
I v} K
hin - K]
1 n=0
ot?? T I e .
0 n
@
Fig. 2-20

b f—y
v

Changing the variable of summation kto m = n — k and using Eq. (1.90), we have

Mo

ylnl=

m=n

Thus, we can write the output y[n] as

_ ntl
y[n]=(1 @ ]u[n]
—Qa

1

which is sketched in Fig. 2-20(b).
(b) ByEq.(2.39)

©

y[n]= h{n]*x[n]= E hlk]x[n — k]

k=—o

n
a” = Ea”’=
m=0

(2.134)

Sequences A[k] and x[n — k] are shown in Fig. 2-21 for n < 0 and n > 0. Again from Fig. 2-21 we see that
for n <0, h[k] and x[n — k] do not overlap, while for n = 0, they overlap from k = O to k = n. Hence, for

n <0,y[n] = 0.For n =0, we have

< 1-a
- k_
yin] /an —

Thus, we obtain the same result as shown in Eq. (2.134).



hik]
1
- T T2 :
o123 K
x[m — k]
1.1
" 0 k
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2.29 Compute y[n] = x[n] * h[n], where
(@) x[n] = a"uln], h[n] = B"uln]
b) x[n] = a™u[n], h[n] = a "u[-n],0 < a<1

(a) From Eq. (2.35) we have

0 ©

nl= Y alklhln—Kl= Y o ulklp" “uln - k]

k=—o k=—o

o

= Y "B ulkluln — k]

k=—o
. )
since ulklu[n— k]= {0

we have

n

Ynl= E dpE=p"Yy
k=0

k=0

Using Eq. (1.90), we obtain

21— (a/p)!
yln) = 1-(a/B)
B"(n+Du(n)

uln]

B—a
B"(n+Duln]

or

1 (ﬂn+l _an+|)u[n]
yln]=

0<k=n

otherwise

5]

a+f

o=

a+f

o=

CHAPTER 2 Linear Time-Invariant Systems

(2.135a)

(2.135b)
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(b)

yln]= E x[klh[n—k]= i afulkla™ " ul— (n— k)]

k=—o k=—o

= i a "a*ulklulk — n]

k=—o
For n = 0, we have

0<k
otherwise

ulklulk — n]= {i)

Thus, using Eq. (1.91), we have

L —-n

yim=a" Y a* =a" Y (@) = 1a - n=0 (2.136a)
£=0 £=0 -a
For n = 0, we have
1 n<k
ulklulk — n]= .
0 otherwise
Thus, using Eq. (1.92), we have
n < 2\k n a2n an
nl=a a’)y =a = n=0 2.136b
yln] 2”( ) ik (2.136b)
Combining Eqgs. (2.136a) and (2.136b), we obtain
o
y[n]= 3 alln (2.137)
l-a
which is sketched in Fig. 2-22.
¥ln]

1TTTII IITTT! ,

2=-10 1 2 3

Fig. 2-22

2.30. Evaluate y[n] = x[n] * h[n], where x[n] and h[n] are shown in Fig. 2-23, (a) by an analytical technique,
and (b) by a graphical method.

xfn] hln]

11T 111
9 L * L L *
10123 n 1012 n

Fig. 2-23
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(a) Note that x[n] and A[n] can be expressed as

x[n] = 8[n] + 6[n — 11 + 6[n — 2] + 6[n — 3]
h[n] = 8[n] + 6[n — 1] + 8[n — 2]

Now, using Eqgs. (2.38), (2.130), and (2.131), we have

x[n] = h[n] = x[n] * {6[n] + 8[n — 1] + 6[n — 2]}
= x[n] * 8[n] + x[n] * 6[n —1] + x[n] * 8[n — 2]
=x[n] +x[n—1]1+x[n— 2]

Thus, yln] = é[n] + 6[n — 1] + d[n — 2] + 6[n — 3]
+ 6[n— 11+ 8[n— 2]+ 6[n— 3] + 6[n — 4]
+ 6[n— 2]+ 8[n— 3]+ 6[n— 4] + 6[n — 5]

or yln] = 6[n] + 28[n — 1] + 36[n — 2] + 36[n — 3] + 26[n — 4] + 6[n — 5]
or yln] = {1,2,3,3,2,1}

(b) Sequences h[k], x[k] and h[n — k], x[kK]1h[n — K] for different values of n are sketched in Fig. 2-24.
From Fig. 2-24 we see that x[k] and A[n — k] do not overlap for n < 0 and n > 5, and hence, y[n] = O for
n<0andn>5.For0 < n =35, x[k] and h[n — k] overlap. Thus, summing x[k]h[n — k] for0 =n <35,
we obtain

y01=1 y1=2 21 =3 y31=3 41 =2 ys1=1
or

ynl={1,2,3,3,2,1}

which is plotted in Fig. 2-25.

2.31. If x,[n] and x,[n] are both periodic sequences with common period N, the convolution of x,[»] and x,[n]
does not converge. In this case, we define the periodic convolution of x [n] and x,[n] as

N-1
finl=x[n®x,[n]= Y x[klx,[n— k] (2.138)
k=0

Show that f[n] is periodic with period N.

Since x,[n] is periodic with period N, we have
X[(n— k) + N]=x,[n— k]

Then from Eq. (2.138) we have

N-1 N-1
fln+N1= Y xlklxn[n+ N = k=Y x[klxl(n—k)+N]
k=0 k=0
N-1
= ¥ nlklx[(n— k)= fln]
k=0

Thus, f[n] is periodic with period N.
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hlK] x[K]
111 1111
® o000 > ® o-o-o >
-101234 k -101234 k
hin — K] x[klhn — K]
n<0
~4-3-2-10123 4 k 101234 k
hin — K] x[Klhln — K]
n=0
321012 3 4 k 10123 4 K
hin — K] x[klhln — K]
I1 Lot
°® oo 0000 > ®
210123 4 k -101 234 k
hin — K] lx[k]h[n —K
1 I
° o000 > ® o000 >
-101234 k -101234 k
hin — K] x[Klhln — K]
11 [11
*-® oooo > T oo >
-1012345 k -1012345 k
hin — K] x[Klhln — K]
11 1T
0o -9 > o-o-o *o-o >
10123456 k -1012345 k
hin — K] x[Klhln — K]
11 AT
— o e0¢eoo e >
-10123456 k -1012345 k
hin — K] x[Klhln — K]
TTT n>5
— o000 ® > 000000 0— >
-101234567 k -1012345 k
Fig. 2-24

¥lrl

I,

Fig. 2-25

1 3

4 5
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2.32. The step response s[n] of a discrete-time LTI system is given by
s[n] = ou[n] 0<a<l1

Find the impulse response h[n] of the system.
From Eq. (2.41) the impulse response A[n] is given by

h{n] = s[n] — s[n — 11 = a"uln] — a" 'uln — 1]
={6[n] + a™[n— 11} — a" luln — 1]
=4[n] — (1 — a)ya" 'uln — 1]

Properties of Discrete-Time LTI Systems

2.33. Show that if the input x[n] to a discrete-time LTI system is periodic with period N, then the output y[r]
is also periodic with period N.

Let h[n] be the impulse response of the system. Then by Eq. (2.39) we have

0

yinl= Y hiklx[n— k]

k=—o

Letn = m + N.Then

ylm+N]= i hlk]x[m+ N — k]= i hlk]x[(m — k)+ N]
k=—o k=—o

Since x[n] is periodic with period N, we have

x[(m—k)+ N]=x[m— k]
Thus, ylm+ N]= i hlk]x[m — k]=y[m]

k=—o

which indicates that the output y[#] is periodic with period N.
2.34. The impulse response h[n] of a discrete-time LTI system is shown in Fig. 2-26(a). Determine and
sketch the output y[n] of this system to the input x[n] shown in Fig. 2-26(b) without using the

convolution technique.

From Fig. 2-26(b) we can express x[n] as

x[n] = 8[n — 2] — 8[n — 4]

hin] xin]

(@) (b)
Fig. 2-26
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Since the system is linear and time-invariant and by the definition of the impulse response, we see that the output
y[n] is given by

ylnl = hln — 2] = hln — 4]

which is sketched in Fig. 2-27.

hln-2]
JRin
67
-~ - i ¥n] = hln—2]—hln—4]
0123::5113 n
1+ 1r
1,11
8 9§ L
hin—4] o] 1 2345 B O n
1_
1_
RRNEE
— e O
0123455?1 n
1_
Fig. 2-27

2.35. A discrete-time system is causal if for every choice of n, the value of the output sequence y[n] atn = n
depends on only the values of the input sequence x[n] for n =< n,, (see Sec. 1.5D). From this definition
derive the causality condition (2.44) for a discrete-time LTI system; that is,

0

h[n] =0 n<o0

From Eq. (2.39) we have

ylnl= > hlklx[n— k]
k=—
-1 ©
= E h[k]x[n— k] + E h[klx[n— k] (2.139)

k=—o k=0
Note that the first summation represents a weighted sum of future values of x[n]. Thus, if the system is causal, then
-1
>, hlklx{n—k1=0
k=—o
This can be true only if

h[n] =0 n<o0

Now if A[n] = O for n < 0, then Eq. (2.139) becomes
ylnl="Y hlklx[n K]
£=0

which indicates that the value of the output y[n] depends on only the past and the present input values.



a_ CHAPTER 2 Linear Time-Invariant Systems

2.36. Consider a discrete-time LTI system whose input x[n] and output y[n] are related by

yln]= 2 257 [k +1]

k=—
Is the system causal?

By definition (2.30) and Eq. (1.48) the impulse response h[n] of the system is given by

h[n]= i 258k + 1] = i 27Dk + 1)=2""*D i S[k+1]

k=—o k=—o k=—o
By changing the variable k£ + 1 = m and by Eq. (1.50), we obtain

n+l
hin=2""0 N sim1=2"""Duln +1] (2.140)

m=—s
From Eq. (2.140) we have A[—1] = u[0] = 1 # 0. Thus, the system is not causal.
2.37. Verify the BIBO stability condition [Eq. (2.49)] for discrete-time LTI systems.
Assume that the input x[rn] of a discrete-time LTI system is bounded, that is,
[x[n]| <k, alln (2.141)
Then, using Eq. (2.35), we have

©

E h[k1x[n — k]

k=—o

|y[n]|= = Y [kl xin— K=k Y |hK]|
k=—o k=—o

Since |x[n — k]| < k, from Eq. (2.141). Therefore, if the impulse response is absolutely summable, that is,

i |hlk]|=K <o

k=—o

we have
|y[n]| = kK =k, <
and the system is BIBO stable.

2.38. Consider a discrete-time LTI system with impulse response k[n] given by

h[n] = ao"u[n]

(a) Is this system causal?
(b) Is this system BIBO stable?

(a) Since h[n] = 0 for n < 0, the system is causal.

(b) Using Eq. (1.91) (Prob. 1.19), we have

i |nik]|= i |a"u[n]|=§|a|"= ! la|<1
k==o k=0 1-|a|

k=—o

Therefore, the system is BIBO stable if || < 1 and unstable if |a| = 1.
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Systems Described by Difference Equations

2.39. The discrete-time system shown in Fig. 2-28 consists of one unit delay element and one scalar
multiplier. Write a difference equation that relates the output y[n] and the input x[n].

xm] ¥in]

Unit
delay

Fig. 2-28

In Fig. 2-28 the output of the unit delay element is y[n — 1]. Thus, from Fig. 2-28 we see that
y[n] = ay[n — 1] + x[n] (2.142)
or y[n] — ayln — 1] = x[n] (2.143)

which is the required first-order linear difference equation.

2.40. The discrete-time system shown in Fig. 2-29 consists of two unit delay elements and two scalar
multipliers. Write a difference equation that relates the output y[#] and the input x[#n].

x[n]

]
*

Unit < Linit
yln -2] | deldy yln = 1] delay

Fig. 2-29

In Fig. 2-29 the output of the first (from the right) unit delay element is y[n — 1] and the output of the second (from
the right) unit delay element is y[n — 2]. Thus, from Fig. 2-29 we see that

ylnl = ayln — 11 + a,y[n — 2] + x[n] (2.144)
or yln] — ayln — 1] — a,y[n — 2] = x[n] (2.145)
which is the required second-order linear difference equation.

Note that, in general, the order of a discrete-time LTI system consisting of the interconnection of unit delay
elements and scalar multipliers is equal to the number of unit delay elements in the system.

2.41. Consider the discrete-time system in Fig. 2-30. Write a difference equation that relates the output y[n]
and the input x[n].

x[n] Ly qln] L 5"[”' =
n ng L
|
Unit
2
ry dalla',r
qln —1]

Fig. 2-30
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Let the input to the unit delay element be g[n]. Then from Fig. 2-30 we see that

qln] = 2q[n — 1] + x [n] (2.146a)
y[nl = gln] + 3¢[n — 1] (2.146b)

Solving Eqs. (2.146a) and (2.146b) for g[n] and g[n — 1] in terms of x[n] and y[n], we obtain

gln] = %y[n] +§x[n] (2.1472)

gln—11= < y[n] - ~xn] (2.147b)
5 5
Changing nto (n — 1) in Eq. (2.147a), we have
2 3
qln— l]=§y[n— l]+§x[n— 1] (2.147¢)
Thus, equating Eq. (2.147b) and Eq. (2.147c), we have
1 1 2 3
—y[n]—=x[n]==y[n—1]+=x[n—1
5Y[]S[]Sy[ ]5[ 1

Multiplying both sides of the above equation by 5 and rearranging terms, we obtain
y[n] — 2y[n — 1] = x[n] + 3x[n — 1] (2.148)

which is the required difference equation.

2.42. Consider a discrete-time system whose input x[#] and output y[r] are related by

yln] — ay[n — 1] = x[n] (2.149)
where a is a constant. Find y[n] with the auxiliary condition y[—1] = y_, and
x[n] = Kb"u[n] (2.150)

Let yln] = y,[n] +y, [n]

where yp[n] is the particular solution satisfying Eq. (2.149) and y,[n] is the homogeneous solution which satisfies

y[n] —ayln—1]1=0 (2.151)
Assume that

y,[n] = Ab" n=0 (2.152)
Substituting Eq. (2.152) into Eq. (2.149), we obtain

Ab" — aAb"~! = Kb"
from which we obtain A = Kb/(b — a), and

y,,[n]=%b"+I n=0 (2.153)
To obtain y,[n], we assume

y,[n] = Bz

Substituting this into Eq. (2.151) gives

B"—aBz" '=(z—a)Bz"'=0
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2.43.

from which we have z = a and
y,[n] = Ba"
Combining yp[n] and y,[n], we get

K bn+l

y[n]=Ba”+b— n=0
—a

—

(2.154)

(2.155)

In order to determine B in Eq. (2.155) we need the value of y[0]. Setting n = 0 in Egs. (2.149) and (2.150), we have

y[0] — ay[—1] = y[0] — ay_, = x[0] = K
or Y0l =K +ay_,
Setting n = 0 in Eq. (2.155), we obtain

y[0]=B+KL
b—a

Therefore, equating Eqs. (2.156) and (2.157), we have

b
b—a

K+ay =B+K

from which we obtain

B=ay_,— K
Y-1 b—

Hence, Eq. (2.155) becomes

bn+l _ an+|

y[n]=y_la"+l+Kb— n=0
—a

For n < 0, we have x[n] = 0, and Eq. (2.149) becomes Eq. (2.151). Hence,
y[n] = Ba”"
From the auxiliary condition y[—1] = y_,, we have
yI-11=y_, = Ba™!
from which we obtain B =y _ a. Thus,
ylnl =y_a"*! n<o0
Combining Eqgs. (2.158) and (2.160), y[n] can be expressed as

+1 n+l

n
ylnl=y_,a""! +Kbb—u[n]

(2.156)

(2.157)

(2.158)

(2.159)

(2.160)

(2.161)

Note that as in the continuous-time case (Probs. 2.21 and 2.22), the system described by Eq. (2.149) is not linear
if y[—1] # 0. The system is causal and time-invariant if it is initially at rest; that is, y[— 1] = 0. Note also that

Eq. (2.149) can be solved recursively (see Prob. 2.43).

Consider the discrete-time system in Prob. 2.42. Find the output y[n] when x[n] = K§[n] and

yi-1l=y_,=a.

We can solve Eq. (2.149) for successive values of y[n] for n = 0 as follows: rearrange Eq. (2.149) as

yln] = ay[n — 1] + x[n]

(2.162)
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Then
y[0] = ay[—1] + x[0] = ac + K
y[1] = ay[0] + x[1] = a(ac + K)
y[2] = ay[1] + x[2] = a*(aa + K)
y[n] = ay[n — 1] + x[n] = a"(@a + K) = a"*' a + a"K

Similarly, we can also determine y[n] for n < 0O by rearranging Eq. (2.149) as

yln=11=~ (y{n] = x{n)
Then y-1]=a
2= - 12~ ) =~a=aa
a a

yI- 31=%{y[— 21— x[- 2]} = a2a

y[- n]=%{y[—n+1]—x[—n+1]}=a_"+'a

Combining Eqgs. (2.163) and (2.165), we obtain

yln] = a"*! a + Ka"u[n]
Consider the discrete-time system in Prob. 2.43 for an initially at rest condition.
(a) Find in impulse response A[n] of the system.

(b) Find the step response s[n] of the system.
(¢) Find the impulse response A[n] from the result of part (b).

(a) Setting K = 1and y[—1] = a = 0 in Eq. (2.166), we obtain
h[n] = a"u[n]

(b) SettingK =1,b=1,and y[—1] = y_, = 0 in Eq. (2.161), we obtain

n+l
s[n]=(l_a )u[n]
l—a

(c) From Egs. (2.41) and (2.168) the impulse response A[n] is given by

n+l1 n
h[n]:s[n]—s[n—1]=(1_a )u[n]—(l_a )u[n—l]
1—a l1—a

Whenn =0,
h[01=(i:“ )u[0]=1
Whenn =1,
h[n]=;[1—a"+l —(1-a")]= ad-a_ .
1-a 1—
Thus, hln] = a"uln]

which is the same as Eq. (2.167).

CHAPTER 2 Linear Time-Invariant Systems

(2.163)

(2.164)

(2.165)

(2.166)

(2.167)

(2.168)
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2.45. Find the impulse response h[n] for each of the causal LTI discrete-time systems satisfying the following
difference equations and indicate whether each system is a FIR or an IIR system.

(a) y[n] = x[n] — 2x[n — 2] + x[n — 3]
) y[n] + 2y[n — 1] = x[n] + x[n — 1]
(© ylnl = 3yln — 2] = 2x[n] — x[n — 2]
(a) By definition (2.56)
hln] = 8[n] — 26[n — 21+ 8[n — 3]
or
hln] = {1,0, — 2,1}
Since h[n] has only four terms, the system is a FIR system.
(b) h[n] = —2h[n — 1] + 6[n] + 6[n — 1]
Since the system is causal, #[ —1] = 0. Then
h[0]=—2h[—1]+8[0]+6[-1]1=4[0]=1
(1] =—2h[0]+O6[1]1+6[0]=—2+1=—1
h[2]=—-2h[1]1+6[2]1+0[l]=-2(-1)=2
h[3]=—2h[2]+8[3]+8[2]=—2(2)=—22

h[n]=—2h[n—1]+68[n]+8[n—1]=(-1)"2"""
Hence, h[n]l=68[n]+ (12" uln—1]

Since h[n] has infinite terms, the system is an IIR system.

(¢) h[n]= %h[n —2]1+24[n]—d[n—2]
Since the system is causal, h[— 2]= h[—1]= 0. Then
h[0]= %h[— 2]+26[0]—6[—2]=26[0]1=2

h[1] =%h[— 11+26[1]-o6[—1]1=0

21~ O]+ 25(2] - 6[0]= £ ()=~ 1=0

h[3]= %h[l] +28[3]1-6[1]1=0

Hence, h[n]=268[n]

Since h[n] has only one term, the system is a FIR system.

SUPPLEMENTARY PROBLEMS

2.46. Compute the convolution y(r) = x(¥) = h(f) of the following pair of signals:

1 —a<t=a 1 —a<t<a
(a) x(t)= ., ht)= .

0 otherwise 0 otherwise

t o<t=T 1 0<t=2T
) x@t)= . h@)= .

0 otherwise 0 otherwise

(¢) x(t)=u(t—1), h(t)=e u(t)



o_ CHAPTER 2 Linear Time-Invariant Systems

2.47.

2.48.

2.49.

2.50.

2.51.

2.52.

2.53.

Compute the convolution sum y[n] = x[n ] * h[n] of the following pairs of sequences:
(@) x{n] = u[n], h[n] = 2"u[—n]

(b) x[n] = u[n] — u[n — N], h[n] = ad"u[n],0 < a <1

(© xlnl = (3)'uln], hin] = 8[n] = 3 8[n — 1]

Show that if y(r) = x(r) * h(z), then
y'(t) = x'(1) * h(r) = x(1) * h'(£)
Show that
X0y % 8'(t) = X (1)
Let y[n] = x{n]  h[n]. Then show that
xn—n)*hln— n) = yln—n, — n,)
Show that

ny+N-1

M@ xnl= Y x[klxln—kl

k=no

for an arbitrary starting point n,.

The step response s(7) of a continuous-time LTI system is given by
5(8) = [cos w,f]u(?)

Find the impulse response A(f) of the system.

The system shown in Fig. 2-31 is formed by connection two systems in parallel. The impulse responses of the
systems are given by

b)) = e 2 u(®) and hy(t) = 2e~"u(?)

—p Hll

x(f) ¥ty

ﬂ

Fig. 2-31

(a) Find the impulse response A(f) of the overall system.

(b) Is the overall system stable?



CHAPTER 2 Linear Time-Invariant Systems

2.54.

2.55.

2.56.

2.57.

2.58.

2.59.

Consider an integrator whose input x(f) and output y(f) are related by

yo= [ x@adr

(a) Find the impulse response h(f) of the integrator.

(b) Is the integrator stable?

Consider a discrete-time LTI system with impulse response A[n] given by
h[n] = 6[n — 1]
Is this system memoryless?

The impulse response of a discrete-time LTI system is given by
1 n

hln]=|—| uln

[n] ( 5 ) [n]

Let y[n] be the output of the system with the input
x[n] = 26[n] + 6[n — 3]

Find y[1] and y[4].

Consider a discrete-time LTI system with impulse response A[n] given by
1 n
hln]l=——]| uln—1
[n] ( > ) (n—1]

(a) Is the system causal?

(b) Is the system stable?

Consider the RLC circuit shown in Fig. 2-32. Find the differential equation relating the output current y(f) and the
input voltage x(¥).

[l
|
o

x(f) () wit)

Fig. 2-32

Consider the RL circuit shown in Fig. 2-33.
(a) Find the differential equation relating the output voltage y(#) across R and the the input voltage x(7).
(b) Find the impulse response A(f) of the circuit.

(c) Find the step response s(f) of the circuit.
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2.60.

2.61.

2.62.

2.63.

2.64.

2.65.

() vt
x(0) C) n§ it — hy —

Fig. 2-33
Consider the system in Prob. 2.20. Find the output y(?) if x(f) = e~“u(t) and y(0) = 0.

Is the system described by the differential equation

dy(®) _
&t +5y(@)+2=x()

linear?

Write the input-output equation for the system shown in Fig. 2-34.

.D . ¥l
2 E

fn]

Fig. 2-34

Consider a discrete-time LTI system with impulse response

1 n=0,1
hln]= .
0 otherwise

Find the input-output relationship of the system.

Consider a discrete-time system whose input x[n] and output y[#n] are related by

1
yln]— EY[n —1]=x[n]
with y[—1] = 0. Find the output y[#] for the following inputs:

(@) x[n]= (—;) ulnl;

(b) x[n]= (—12) uln]

Consider the system in Prob. 2.42. Find the eigenfunction and the corresponding eigenvalue of the system.
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ANSWERS TO SUPPLEMENTARY PROBLEMS

2.46. (a) y(t)={2a_|t| j1]<2a
0 |t|=2a
0 1<0
%tz 0<t=<T
®) y(t)=<%T2 T<t=2T

—%t2+2T—%T2 2T <t=<3T

0 ar<t

© %a—e”“”bua—n

1-n
247. (@) yn=1> n=0

2 n>0

0 n<o0

_ ntl

®) yim= | n=0=N-1

N

a"_NH(l—a) N-1<n
l-a

(¢) yln]=9[n]

2.48. Hint: Differentiate Eqs. (2.6) and (2.10) with respect to r.
2.49. Hint: Use the result from Prob. 2.48 and Eq. (2.58).
2.50. Hint: See Prob.2.3.

2.51. Hint: See Probs.2.31and 2.8.

2.52. h(t) = 6(1) — wy[sin wytlu(f)

2.53. (@) h(t) = (e +2e Hu®)
(b) Yes

2.54. (a) h(@) = u@®)
(b) No

2.55. No, the system has memory.
2.56. y[1] = landy[4] =2

2.57. (a) Yes; (b) Yes

2
258. (0 Rdy®) L 1dx0)
d* L dt  LC L dr



@ —

2.59.

2.60.

2.61.

2.62.

2.63.

2.64.

2.65.

dy@)

(a) 7t

R =R
+Z)’(t)— LX(t)

®) h(r)=§e‘“"“’u(x)

(© sty=[1-e ® u@)

te~ " u(r)

No, it is nonlinear.

2y[n] — y[n — 1] = 4x[n] + 2x[n — 1]

ylnl = x{n] + xn — 1]

4 o

®) ylnl=(n+ 1)(—12) uln]

(@) y[n]=6

CHAPTER 2 Linear Time-Invariant Systems



Laplace Transform and
Continuous-Time LTI Systems

3.1 Introduction

A basic result from Chap. 2 is that the response of an LTI system is given by convolution of the input and the
impulse response of the system. In this chapter and the following one we present an alternative representation
for signals and LTT systems. In this chapter, the Laplace transform is introduced to represent continuous-time
signals in the s-domain (s is a complex variable), and the concept of the system function for a continuous-time
LTI system is described. Many useful insights into the properties of continuous-time LTI systems, as well as
the study of many problems involving LTI systems, can be provided by application of the Laplace transform
technique.

3.2 The Laplace Transform

In Sec. 2.4 we saw that for a continuous-time LTI system with impulse response (%), the output y(#) of the
system to the complex exponential input of the form e*' is

y(0) = T{e’'} = H(s)e*' (3.1)
where H(s)= [ :oh(t)e_”dt (32)

A. Definition:

The function H(s) in Eq. (3.2) is referred to as the Laplace transform of A(#). For a general continuous-time
signal x(7), the Laplace transform X(s) is defined as

X(s)= [~ x(t)e *'dt (3.3)
The variable s is generally complex-valued and is expressed as
s=0+jw (34

The Laplace transform defined in Eq. (3.3) is often called the bilateral (or two-sided) Laplace transform in
contrast to the unilateral (or one-sided) Laplace transform, which is defined as

X, ()= [ x()e ' dt (3.5)

—
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where 0- = lim, _ (0 — ¢). Clearly the bilateral and unilateral transforms are equivalent only if
x(t) = 0 for t < 0. The unilateral Laplace transform is discussed in Sec. 3.8. We will omit the word “bilateral”
except where it is needed to avoid ambiguity.

Equation (3.3) is sometimes considered an operator that transforms a signal x(#) into a function X(s)
symbolically represented by

X(s)= £ {x(1)} (3.6)
and the signal x(#) and its Laplace transform X(s) are said to form a Laplace transform pair denoted as

x(f) <> X(s) 3.7

B. The Region of Convergence:

The range of values of the complex variables s for which the Laplace transform converges is called the region of
convergence (ROC). To illustrate the Laplace transform and the associated ROC, let us consider some examples.

EXAMPLE 3.1 Consider the signal
x(H) = e u(®) areal (3.8)
Then by Eq. (3.3) the Laplace transform of x(?) is

X(s)= f:e‘“’u(t)e‘”dz= f; e Gra gy

©

1 e—(s+a)t
s+a

Re(s) > —a 39

of sta

because lim, _, Le ¢t =0 only if Re(s + a) > 0 or Re(s) > —a.

Thus, the ROC for this example is specified in Eq. (3.9) as Re(s) > —a and is displayed in the complex plane
as shown in Fig. 3-1 by the shaded area to the right of the line Re(s) = —a. In Laplace transform applications,
the complex plane is commonly referred to as the s-plane. The horizontal and vertical axes are sometimes referred

to as the o-axis and the jw -axis, respectively.

jo jw

NN
N

_ M__

N
5,

_”

R,

s-plane

7

",
%,

S
- Y

=
...}.:‘:. \_-
N
o
'\.""\

T,

N
—

O
=
G

Fig. 3-1 ROC for Example 3.1.
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EXAMPLE 3.2 Consider the signal
x(H) = —e Yu(—1) areal

Its Laplace transform X(s) is given by (Prob. 3.1)

1
X(S)_s-i-—a RC(S)< —a

—

(3.10)

(3.11)

Thus, the ROC for this example is specified in Eq. (3.11) as Re(s) < —a and is displayed in the complex plane
as shown in Fig. 3-2 by the shaded area to the left of the line Re(s) = —a. Comparing Egs. (3.9) and (3.11), we see
that the algebraic expressions for X(s) for these two different signals are identical except for the ROCs. Therefore, in
order for the Laplace transform to be unique for each signal x(#), the ROC must be specified as part of the transform.

8
,
%Y

k4

‘\

S
N
N\
NN
St
S,
N N
1 e
\“\\ )
LY
N,
iy
\
Sy
N
-
M,

0 7

" 5

.y F
7

%

N
\.:\\.‘\

,

W - "-- oy
', % %, N o,
\':Q‘\\ e -
\\\
,

",

(a)
Fig. 3-2 ROC for Example 3.2.

C. Poles and Zeros of X(s):

Usually, X(s) will be a rational function in s; that is,

X(s)

\

o

_aps” +als'"_1 +-ta, ay (s—z)

MR

,
o
o
2

bys" +bys" ekl by (5= p)-

(b)
'(S_Zm)
"(S_Pn)

L J

(3.12)

The coefficients a, and b, are real constants, and m and n are positive integers. The X(s) is called a proper rational
function if n > m, and an improper rational function if n = m. The roots of the numerator polynomial, z,, are called
the zeros of X(s) because X(s) = O for those values of s. Similarly, the roots of the denominator polynomial, p,, are
called the poles of X(s) because X(s) is infinite for those values of s. Therefore, the poles of X(s) lie outside the ROC
since X(s) does not converge at the poles, by definition. The zeros, on the other hand, may lie inside or outside the
ROC. Except for a scale factor ay/b,, X(s) can be completely specified by its zeros and poles. Thus, a very compact
representation of X(s) in the s-plane is to show the locations of poles and zeros in addition to the ROC.

3 L)

Traditionally, an “Xx” is used to indicate each pole location and an “0” is used to indicate each zero. This is

illustrated in Fig. 3-3 for X(s) given by

2s+4 -9 s+2

X — —3
O P ast3 GG

Re(s)>—1

Note that X(s) has one zero at s = —2 and two poles at s = —1 and s = —3 with scale factor 2.
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Fig. 3-3 s-plane representation of X(s) = (2s + 4)/(s? + 4s + 3).

D. Properties of the ROC:

As we saw in Examples 3.1 and 3.2, the ROC of X(s) depends on the nature of x(#). The properties of the ROC
are summarized below. We assume that X(s) is a rational function of s.

Property 1:
Property 2:

Property 3:

Property 4:

Property 5:

The ROC does not contain any poles.

If x(?) is a finite-duration signal, that is, x(f) = 0 except in a finite interval £, = 1 = 1,
(= <1, and t, < ), then the ROC is the entire s-plane except possibly s = 0 or s = oo,

If x(?) is a right-sided signal, that is, x(#) = 0 for r < ¢, < o, then the ROC is of the form
Re(s) > o,,,

where 0, _equals the maximum real part of any of the poles of X(s). Thus, the ROC is a half-
plane to the right of the vertical line Re(s) = o, in the s-plane and thus to the right of all of

the poles of X(s).
If x(?) is a left-sided signal, that is, x(f) = 0 for £ > £, > —oo, then the ROC is of the form

Re(s) < 0.

where o, equals the minimum real part of any of the poles of X(s). Thus, the ROC is a half-
plane to the left of the vertical line Re(s) = g, in the s-plane and thus to the left of all of the

poles of X(s).

If x(?) is a two-sided signal, that is, x(?) is an infinite-duration signal that is neither right-
sided nor left-sided, then the ROC is of the form

o, <Re(s) < g,

where 0, and 0, are the real parts of the two poles of X(s). Thus, the ROC is a vertical strip
in the s-plane between the vertical lines Re(s) = o, and Re(s) = o,.

Note that Property 1 follows immediately from the definition of poles; that is, X(s) is infinite at a pole. For
verification of the other properties see Probs. 3.2 to 3.7.
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3.3 Laplace Transforms of Some Common Signals

—

A. Unit Impulse Function §(t):
Using Egs. (3.3) and (1.20), we obtain

L10)= [~ s *'dr=1  alls
B. Unit Step Function u(t):

L= [~ ue*'dt = f;'; e dt

oo

1

N

0+

Re(s)>0

@ | =

where 0* = lim,_, (0 + ¢).

C. Laplace Transform Pairs for Common Signals:

(3.13)

(3.14)

The Laplace transforms of some common signals are tabulated in Table 3-1. Instead of having to reevaluate the
transform of a given signal, we can simply refer to such a table and read out the desired transform.

TABLE 3-1 Some Laplace Transforms Pairs

x(t) X(s) ROC
(1) 1 All s
u(?) % Re(s) >0
—u(—1) % Re(s) < 0
tu(?) slz Re(s) >0
k!
t*u(d) s Re(s) >0
1
e~ y(r) Tt a Re(s) > —Re(a)
1
—e @ y(—1) Tt a Re(s) < —Re(a)
1
te= 4 u(t) G+ a)y Re(s) > —Re(a)
1
—te~aty(— 1) G+ap Re(s) < —Re(a)
s
cos W, fu(t) P Re(s) >0
0
in o, fu(f) %o Re(s) > 0
sin u e(s) >
0 5%+ w3
s+ a

e~ cos ytu(r)

e~ sin @tu(t)

Re(s) > —Re(a)

Re(s) > —Re(a)
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3.4 Properties of the Laplace Transform

Basic properties of the Laplace transform are presented in the following. Verification of these properties is given
in Probs. 3.8 to 3.16.

A. Linearity:

If
x,(0) <> X,(s) ROC = R,
X,(8) < X,(s) ROC =R,
Then ax, (D) + a,x) (D) <> a X (s) + a,X,(s) R' DR NR, (3.15)

The set notation A D B means that set A contains set B, while A N B denotes the intersection of sets A and B,
that is, the set containing all elements in both A and B. Thus, Eq. (3.15) indicates that the ROC of the resultant
Laplace transform is at least as large as the region in common between R, and R,. Usually we have simply
R’ = R, N R,. This is illustrated in Fig. 3-4.
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e .ffma

A,

Fig. 3-4 ROC of a,X,(s) + a,X,(s).

B. Time Shifting:
If

x(t) < X(s) ROC =R
then x(t—ty) <> e "0 X(s) R'=R (3.16)

Equation (3.16) indicates that the ROCs before and after the time-shift operation are the same.

C. Shifting in the s-Domain:
If

x(t) < X(s) ROC =R
then eV x(t) <> X(s — s5¢) R'=R+Re(sy) (3.17)
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Equation (3.17) indicates that the ROC associated with X(s—s,) is that of X(s) shifted by Re(s,). This is
illustrated in Fig. 3-5.

p+Rels)

ik
f i Rels,) y / -

-

(a) (b)
Fig. 3-5 Effect on the ROC of shifting in the s-domain. (a) ROC of X(s); (b) ROC of X(s — s,).

D. Time Scaling:

If
x(t) < X(s) ROC =R
then xane x| R=ar (3.18)
la| \a

Equation (3.18) indicates that scaling the time variable ¢ by the factor a causes an inverse scaling of the variable
s by 1/a as well as an amplitude scaling of X (s/a) by 1/|a|. The corresponding effect on the ROC is illustrated
in Fig. 3-6.

aw

ac

Fig. 3-6 Effect on the ROC of time scaling. (a) ROC of X(s); (b) ROC of X(s/a).
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E. Time Reversal:
If

x(f) < X(s) ROC =R
then x(-f) < X(-s) R =-R (3.19)

Thus, time reversal of x(f) produces a reversal of both the o- and jw-axes in the s-plane. Equation (3.19) is
readily obtained by setting a = —1 in Eq. (3.18).

F. Differentiation in the Time Domain:

If
x(f) < X(s) ROC =R

then @ <sX(s) RDR (3.20)
t

Equation (3.20) shows that the effect of differentiation in the time domain is multiplication of the corresponding
Laplace transform by s. The associated ROC is unchanged unless there is a pole-zero cancellation at s = 0.

G. Differentiation in the s-Domain:

If
x(f) < X(s) ROC =R
then —x(t) < @ R =R (3.21)
A)

H. Integration in the Time Domain:
If

x(f) < X(s) ROC =R

then ) " xT)dreLiX(s) R=RN{Re(s)> 0} (3.22)
. ;

Equation (3.22) shows that the Laplace transform operation corresponding to time-domain integration is multi-
plication by 1/s, and this is expected since integration is the inverse operation of differentiation. The form of R’
follows from the possible introduction of an additional pole at s = O by the multiplication by 1/s.

I. Convolution:

If
x ()< X(s) ROC =R,
x,() <> X(s)  ROC =R,
then X0 *x,() <> X(5)X (s) R DR,NR, (3.23)

This convolution property plays a central role in the analysis and design of continuous-time LTI systems.
Table 3-2 summarizes the properties of the Laplace transform presented in this section.
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TABLE 3-2 Properties of the Laplace Transform

PROPERTY SIGNAL TRANSFORM ROC
x(#) X(s) R
x, () X,(s) R,
x,(0) X,(s) R,
Linearity ax, (1) + a,x,(0) a, X,(s) + a, X,(s) R'DR NR,
Time shifting x(t—1ty) e S X(s) R'=R
Shifting in s &5 x(1) X(s—s,) R'=R+Re(s;)
1
Time scaling x(at) mX(a) R =aR
a
Time reversal x(—1) X(—s) R'=-R
dx(t
Differentiation in ¢ J:i(t ) sX(s) R'DR
ax
Differentiation in s —1x(1) % R'=R
s
' 1
Integration f x(t)dT =X(s) R'DRN{Re(s) > 0}
-00 s
Convolution X, (2) * x,(1) X, (s) X,(s) R'DRNR,

3.5 The Inverse Laplace Transform

Inversion of the Laplace transform to find the signal x(#) from its Laplace transform X(s) is called the inverse
Laplace transform, symbolically denoted as

x()= L7 X(5)} (3.24)

A. Inversion Formula:

There is a procedure that is applicable to all classes of transform functions that involves the evaluation of a line
integral in complex s-plane; that is,

1 ctjo st
x(t)=— X(s)e ' ds 325
0= g S XS (3.25)

In this integral, the real c is to be selected such that if the ROC of X(s) is g, < Re(s) < 0,, then 0, < ¢ < 0,.
The evaluation of this inverse Laplace transform integral requires understanding of complex variable theory.

B. Use of Tables of Laplace Transform Pairs:
In the second method for the inversion of X(s), we attempt to express X(s) as a sum
X(s) = X (s) + - + X (5) (3.26)

where X,(s), ..., X,(s) are functions with known inverse transforms x,(?), ..., x,(f). From the linearity property
(3.15) it follows that

xX(®) = x,() + - + x (0) (3.27)
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C. Partial-Fraction Expansion:

If X(s) is a rational function, that is, of the form

NG) _ =2) (s —2,)

X(s)= (3.28)
D(s)  (s—p)-(G—p,)
a simple technique based on partial-fraction expansion can be used for the inversion of X(s).
(a) When X(s) is a proper rational function, that is, when m < n:
1. Simple Pole Case:
If all poles of X(s), that is, all zeros of D(s), are simple (or distinct), then X(s) can be written as
X(s)= i L B (3.29)
ST D $ ™ Pn
where coefficients c, are given by
¢, = (s = pp)X(s) =i (3.30)

2. Multiple Pole Case:
If D(s) has multiple roots, that is, if it contains factors of the form (s — p,)", we say that p, is the multiple pole
of X(s) with multiplicity r. Then the expansion of X(s) will consist of terms of the form

Mo M 2+...+Lr (3.31)

s—=pi (s—p) (s—p)
h =L o yx 332
where r—k _Hds—k[(s pi) (S)]|S=pi (3.32)

(b) When X(s) is an improper rational function, that is, when m = n:
If m = n, by long division we can write X(s) in the form

N(s) R(s)
=1 = 4+ =27
D(s) Q) D(s)

where N(s) and D(s) are the numerator and denominator polynomials in s, respectively, of X(s), the
quotient Q(s) is a polynomial in s with degree m — n, and the remainder R(s) is a polynomial in s
with degree strictly less than n. The inverse Laplace transform of X(s) can then be computed by
determining the inverse Laplace transform of Q(s) and the inverse Laplace transform of R(s)/D(s).
Since R(s)/D (s) is proper, the inverse Laplace transform of R(s)/D(s) can be computed by first
expanding into partial fractions as given above. The inverse Laplace transform of Q(s) can be
computed by using the transform pair

X(s) (3.33)

k
dj;” osb k=123, (3.34)
t

3.6 The System Function

A. The System Function:

In Sec. 2.2 we showed that the output y(#) of a continuous-time LTI system equals the convolution of the input
x(#) with the impulse response h(?); that is,

y(@) = x(0) * h(®) (3.35)
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Applying the convolution property (3.23), we obtain
Y(s) = X(s)H(s) (3.36)

where Y(s), X(s), and H(s) are the Laplace transforms of y(%), x(¢), and h(%), respectively. Equation (3.36) can be
expressed as

_Y@)

H
(s) X(s)

(3.37)
The Laplace transform H(s) of h(#) is referred to as the system function (or the transfer function) of the system.
By Eq. (3.37), the system function H(s) can also be defined as the ratio of the Laplace transforms of the output
y(?) and the input x(#). The system function H(s) completely characterizes the system because the impulse response
h(#) completely characterizes the system. Fig. 3-7 illustrates the relationship of Egs. (3.35) and (3.36).

h(t)
x(t) Y(t)=x(t)  h(t)

b

X(s) Y(s)=X(s)H(s)
H(s)

Fig. 3-7 Impulse response and system function.

B. Characterization of LTI Systems:

Many properties of continuous-time LTI systems can be closely associated with the characteristics of H(s) in the
s-plane and in particular with the pole locations and the ROC.

1. Causality:
For a causal continuous-time LTI system, we have

=0 <0

Since h(?) is a right-sided signal, the corresponding requirement on H(s) is that the ROC of H(s) must be of
the form

Re(s) > 0,

That is, the ROC is the region in the s-plane to the right of all of the system poles. Similarly, if the system is
anticausal, then

=0 t>0
and A(?) is left-sided. Thus, the ROC of H(s) must be of the form
Re(s) < g,
That is, the ROC is the region in the s-plane to the left of all of the system poles.

2. Stability:
In Sec. 2.3 we stated that a continuous-time LTI system is BIBO stable if and only if [Eq. (2.21)]

S I nar]dr <o

The corresponding requirement on H(s) is that the ROC of H(s) contains the jw-axis (that is, s = jw)
(Prob. 3.26).
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3. Causal and Stable Systems:
If the system is both causal and stable, then all the poles of H(s) must lie in the left half of the s-plane; that is,
they all have negative real parts because the ROC is of the form Re(s) > o, ,and since the jw axis is included
in the ROC, we must have O < 0.

C. System Function for LTI Systems Described by Linear Constant-Coefficient
Differential Equations:

In Sec. 2.5 we considered a continuous-time LTT system for which input x(#) and output y(7) satisfy the general
linear constant-coefficient differential equation of the form

M

N k k
3 4 Yo _ 3 b 4 x) (3.38)

% %
ko dt K=o 4t

Applying the Laplace transform and using the differentiation property (3.20) of the Laplace transform, we obtain

N M
Y asY(9)="Y b s*X(s)
k=0 k=0
N M
or Y(5) Y aps* =X(s) Y, by s* (3.39)
k=0 k=0
Thus, M
2 by s
H(s)=Y&) _k=0 (3.40)

X(s)

M=
RS
o
.

=
I
o

Hence, H(s) is always rational. Note that the ROC of H(s) is not specified by Eq. (3.40) but must be inferred with
additional requirements on the system such as the causality or the stability.

D. Systems Interconnection:

For two LTI systems [with 4,(?) and h,(?), respectively] in cascade [Fig. 3-8(a)], the overall impulse response
h(z) is given by [Eq. (2.81), Prob. 2.14]

h(®) = h,(®) * h(2)
Thus, the corresponding system functions are related by the product
H(s) = H,(s)H\(s) (3.41)

This relationship is illustrated in Fig. 3-8(b).

x(t) y(t) x(t) y(t)
h(t)  —|  hyft) — — —» h

h(t)=h(t)  hy(t)
(a)

X(s) Y(s) X(s) Y(s)
Hi(s) f——p| Hyls) — = ——» He)

H(s)=H,(s)H(s)
(k)

Fig. 3-8 Two systems in cascade. (a) Time-domain representation; (b) s-domain representation.
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Similarly, the impulse response of a parallel combination of two LTI systems [Fig. 3-9(a)] is given by
(Prob. 2.53)

h(t) = h(1) + hy(0)

Thus,
H(s) = H\(s) + Hy(s) (3.42)
This relationship is illustrated in Fig. 3-9(b).
— i
in 1] x(t) y(t)
| LTS —
—p At h(t)=h,(t)+h,(t)
(a)
—  H.is)
Xis) ¥(s) X(s) Y(s)
EE— —» —P| Hs) P——»
—_— H.is) H(s)=H,(s)+H,(s)

(b)

Fig. 3-9 Two systems in parallel. (a) Time-domain representation; (b) s-domain representation.

3.7 The Unilateral Laplace Transform

A. Definitions:

The unilateral (or one-sided) Laplace transform X, (s) of a signal x(?) is defined as [Eq. (3.5)]

X, ()= [ :; x(t)s ' dt (3.43)

The lower limit of integration is chosen to be 0~ (rather than 0 or 0*) to permit x(¢) to include 8(?) or its
derivatives. Thus, we note immediately that the integration from 0~ to 0% is zero except when there is an
impulse function or its derivative at the origin. The unilateral Laplace transform ignores x(#) for £ < 0. Since
x(#) in Eq. (3.43) is a right-sided signal, the ROC of X (s) is always of the form Re(s) > o, , that is, a right
half-plane in the s-plane.

B. Basic Properties:

Most of the properties of the unilateral Laplace transform are the same as for the bilateral transform. The
unilateral Laplace transform is useful for calculating the response of a causal system to a causal input when the
system is described by a linear constant-coefficient differential equation with nonzero initial conditions. The basic
properties of the unilateral Laplace transform that are useful in this application are the time-differentiation
and time-integration properties which are different from those of the bilateral transform. They are presented
in the following.
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1. Differentiation in the Time Domain:

B s 5%,(5)~ x(07) (3.44)
dt
provided that lim, _, , x(f)e™* = 0. Repeated application of this property yields
2
ddxg’ ) s 2, (s) — sx(07) — ¥'(07) (3.45)
t
n
% < 5"X, ()= 5" 'x(07) =" 2X(07) = = x"7P(07) (3.46)
t
,
where X0y = LE10)
dt" =0~
2. Integration in the Time Domain:
f;_ x(@dr < L1%,(s) (3.47)
s
t 1 1 p0”
f_ x(‘r)d‘r<—>—X,(s)+—f x(t)dt (3.48)

C. System Function:

Note that with the unilateral Laplace transform, the system function H(s) = Y(s)/X(s) is defined under the
condition that the LTI system is relaxed, that is, all initial conditions are zero.

D. Transform Circuits:

The solution for signals in an electric circuit can be found without writing integrodifferential equations if the
circuit operations and signals are represented with their Laplace transform equivalents. [In this subsection the
Laplace transform means the unilateral Laplace transform and we drop the subscript / in X/(s).] We refer to a
circuit produced from these equivalents as a transform circuit. In order to use this technique, we require the
Laplace transform models for individual circuit elements. These models are developed in the following discus-
sion and are shown in Fig. 3-10. Applications of this transform model technique to electric circuits problems
are illustrated in Probs. 3.40 to 3.42.

1. Signal Sources:
v(H) < V(s) () < I(s)
where v () and i(?) are the voltage and current source signals, respectively.
2. Resistance R:

v(#) = Ri(t) < V(s) = RI(s) (3.49)

3. Inductance L:

_, di()
vO=L=

< V(s)=sLI(s)— Li(0") (3.50)
The second model of the inductance L in Fig. 3-10 is obtained by rewriting Eq. (3.50) as

i(t) < I(s)=LV(s)+li(0_) (3.51)
sL s
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4. Capacitance C:

i(t)= C% < [(s)=sCV(s)— Cv(0 ) (3.52)
The second model of the capacitance C in Fig. 3-10 is obtained by rewriting Eq. (3.52) as
v(t)<=V(s)= L I(s)+ lv(O_) (3.53)
sC s
Circuit element Representation
t-Domain s-Domain
Voltage source O+ O _O O+ O _O
v(t) Us)
Current source Q Q
oO— 9 o— 9
it) I(s)
itt) R I(s) R
Resistance O+ > AN _O O+ > AMA _O
v(t) Us)
Li(0™
I(s) sL - C’( ) +
+ j—
itt) L Ws)
Inductance O+ > /BT _O sl

sC
I L
11
s}
cvio) O
C :
Capacitance O+’(t): {| _O V(s) o
v
v(t) s) % N s -
V(s)

Fig. 3-10 Representation of Laplace transform circuit-element models.
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SOLVED PROBLEMS

Laplace Transform

3.1. Find the Laplace transform of
(@ x(n)=—e“u(-1
(®) x(@® = e“u(-1

(a) From Eq. (3.3)

0 0_
X(s)= —f_we—afu(_ f)e_‘"dt — _f_we_(“'a)tdt

0— 1 R
= e(s) < —a
- Sta )

1 e—(x+a)t
s+a

Thus, we obtain
_ 1
—e "u(—t)eo—— Re(®) < —a (3.54)
s+a
(b) Similarly,

0 0~
X = [ uC-ne = [* e a

1 - 1
=— e T = Re(s)<a
s—a s—a

-

Thus, we obtain

Eu(—t) < — L Re(s)<a (3.55)
s—a

3.2. A finite-duration signal x(#) is defined as
0 fH=t=t,
x(t) .
=0 otherwise

where 7, and ¢, are finite values. Show that if X(s) converges for at least one value of s, then the ROC of
X(s) is the entire s-plane.

Assume that X(s) converges at s = o, then by Eq. (3.3)

|X@)|= [ | xwre | dr = f’:2|x(t)|e_°°'dt <
Let Re(s) = o, > g,. Then
i —(oy+ jo)t _ o2 -oyt
[ |xwe @t |dt—ft| | x(0)| e " ar
=f:|2|x(t)|e_°°'e_(°‘_°°)’ dt

Since (0, — ¢,) >0, e (@9

value of this exponential is e

is a decaying exponential. Then over the interval where x(#) # 0, the maximum

(0, = %! and we can write

ft'z | x(t) e dr < (@17 o0 ft'z | x()] et < (3.56)
1 1
Thus, X(s) converges for Re(s) = 0, > ¢. By a similar argument, if 0, < g, then

f':2|x(t)|e_°"dt < e_("‘_"O)'ZJ":2|X(t)| e %dt < oo (3.57)

and again X(s) converges for Re(s) = 0, < g,. Thus, the ROC of X(s) includes the entire s-plane.
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3.3.

34.

3.5.

Let

e 0=t=T
x(t)=
0 otherwise

Find the Laplace transform of x(?).
By Eq. (3.3)
X(S) _fT e—ate—srdt _ T —(s+a)tdt
“Jo _fo €

1 e—(s+a)r T — 1 [1 _ e—(“'a)T] (358)
s+a o Sta

Since x(7) is a finite-duration signal, the ROC of X(s) is the entire s-plane. Note that from Eq. (3.58) it appears that
X(s) does not converge at s = —a. But this is not the case. Setting s = —a in the integral in Eq. (3.58), we have

T T
)= —(ata) 4. —
X(—a) foe dt fo dt=T
The same result can be obtained by applying L’Hospital’s rule to Eq. (3.58).

Show that if x(?) is a right-sided signal and X(s) converges for some value of s, then the ROC of X(s) is
of the form

Re(s) > g,
where o, equals the maximum real part of any of the poles of X(s).
Consider a right-sided signal x(#) so that
x=0 1<t

and X(s) converges for Re(s) = o;. Then

| x)|=[" |xtre

dr= " |xo)]e” "t
= [ |x)|e ' dr < o0
1
Let Re(s) = o, > g,. Then

[0l = [l ve @
< e—(al—oo)t|f:°| () |e_°°'dt <
1

Thus, X(s) converges for Re(s) = o, and the ROC of X(s) is of the form Re(s) > g,. Since the ROC of X(s) cannot
include any poles of X(s), we conclude that it is of the form

Re(s) > o,

X

where g, equals the maximum real part of any of the poles of X(s).

Find the Laplace transform X(s) and sketch the pole-zero plot with the ROC for the following
signals x(?):

(@ x(®=e2u@® + e 3u@)

®) x(® =e3u@ + e*u(—9

() x() = e*u(® + e 3u(—1)
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(a) From Table 3-1

_ 1
e Mu@t) < T, PRe®>-2 (3.59)
e_3'u(t) < 13 Re(s) > —3 (3.60)

We see that the ROCs in Eqgs. (3.59) and (3.60) overlap, and thus,

2 s+§
1 1 2

s+2 s+3:(s+2)(s+3)

X(s)= Re(s) > -2 (3.61)

From Eq. (3.61) we see that X(s) has one zero at s = —% and two poles at s = —2 and s = —3 and that the
ROC is Re(s) > —2, as sketched in Fig. 3-11(a).

(b) From Table 3-1

- 1

e u(t) < o Re(s)>-3 (3.62)
1

lu(—1) < - =5 Re@<2 (3.63)

We see that the ROCs in Eqgs. (3.62) and (3.63) overlap, and thus,

1 1 -5

X(s)= - =
s+3 s—2 (s—2)(s+3)

—3<Re(s)<2 (3.64)

From Eq. (3.64) we see that X(s) has no zeros and two poles at s = 2 and s = —3 and that the ROC is
—3 < Re(s) < 2, as sketched in Fig. 3-11(b).

(c) From Table 3-1

1

Elu(t) < — Re(s)>2 (3.65)
_ 1

e Mu(-1 - 3 Re(s) < -3 (3.66)

We see that the ROCs in Egs. (3.65) and (3.66) do not overlap and that there is no common ROC; thus, x(f)
has no transform X(s).

Jo jo
- 'y
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/////// o ol i i S S i F i P S
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. // ' / i v " "z.-”".-'" - ../.- Far Ay
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Fig. 3-11
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3.6. Let
_x(t = e 4 ]
Find X(s) and sketch the zero-pole plot and the ROC for a > 0 and a < 0.

The signal x(7) is sketched in Figs. 3-12 (a) and (b) for both a > 0 and a < 0. Since x(?) is a two-sided signal, we
can express it as

x(f) = e~u(t) + e u(—1) (3.67)

Note that x(#) is continuous at t = 0 and x(0~) = x(0) = x(0*) = 1. From Table 3-1

e “ut) < L Re(s)>—a (3.68)
s+ta

eEu(—1) e — L Re(s)<a (3.69)
sS—a

If a > 0, we see that the ROCs in Egs. (3.68) and (3.69) overlap, and thus,

X(5)=—— L= 2_2“2 —a<Re(s)<a (3.70)
sta s—a s"—a

From Eq. (3.70) we see that X(s) has no zeros and two poles at s = a and s = —a and that the ROC is —a < Re(s) < a,
as sketched in Fig. 3-12(c). If a < 0, we see that the ROCs in Eqgs. (3.68) and (3.69) do not overlap and that there is no
common ROC; thus, x(#) has no transform X(s).

x(ti=a ™ x(f)=a "

a=0 a=<0

(a) (b)

NN
“ \\

\\' \"-.\\
N
" N ~\.\\\:\

N RN
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N
, \:\ ks
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: e »

a:, A ;/ & A8 o
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Properties of the Laplace Transform

3.7. Verify the time-shifting property (3.16); that is,
x(t—1) < e % X(s) R' =R

By definition (3.3)

FLx(t —1y)} = fiox(t —ty)e dt
By the change of variables 7 = ¢ — #, we obtain

Lixt—1y)) =f:x(r)e‘-“’+’°’dr
= e_‘"of_:x(r)e_”d‘t = e 10X (s)

with the same ROC as for X(s) itself. Hence,

x(t—t)<e Xs) R =R
where R and R’ are the ROCs before and after the time-shift operation.

3.8. Verify the time-scaling property (3.18); that is,

x(at) < lx(i

) R' =aR
|al

a
By definition (3.3)

Pix(at)) = f:x(at)e‘”dt

By the change of variables T = af with a > 0, we have

Pixtan} =L [7 x@e “mar = lx(i) R'=aR
a a a

Note that because of the scaling s/a in the transform, the ROC of X (s/a) is aR. With a < 0, we have
Fixaryy =2 [ x@e "y
a 0

-1 [7 x@e “dr - lx(i) R'=aR
av~® a a

Thus, combining the two results for a > 0 and a < 0, we can write these relationships as
xatyox[2|  R=ar
la] \a
3.9. Find the Laplace transform and the associated ROC for each of the following signals:
(@ x(@ =060 1)
®) x(@ = u(t— 1)
() x(®=e Zul@® — u—>5)]
d) x@t)= 2 8(t — kT)
£=0

(e) x(® = d(at + b), a, b real constants
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(a) Using Egs. (3.13) and (3.16), we obtain

1

6t — 1) < e all s (3.71)
(b) Using Egs. (3.14) and (3.16), we obtain
e—sto
u(t —ty) < Re(s)>0 (3.72)

(c¢) Rewriting x(7) as

x(t) = e ¥ [u@) — u(t— 5] = e 2u@® — e 2u(t — 5)
= e 2u(t) — e % 20~y (t — 5)

Then, from Table 3-1 and using Eq. (3.16), we obtain

1 —10 -ss 1 1 —5(s+2)
X(s)=———¢e e T ——= l—e Re(s) >—2
) s+2 s+2 s+2( ) )

(d) Using Egs. (3.71) and (1.99), we obtain

X(s)= ie_"” = i(e_"T)k = 1_;7 Re(s)> 0 (3.73)
k=0 k=0 |
(e) Let
f(o = d(ar)

Then from Egs. (3.13) and (3.18) we have

£(t) = 8(at) <> F(s)= ﬁ all s (3.74)
Now x(t)=2d(at +b)=0 a(t+%) =f(t+%)
Using Egs. (3.16) and (3.74), we obtain

X(s)=e""F(s)= ﬁe‘b/" all s (3.75)

3.10. Verify the time differentiation property (3.20); that is,

dx (t)
dt

<> sX(s5) R' DR

From Eq. (3.24) the inverse Laplace transform is given by

1 ety st
x@)=—[ . X(s)e'ds (3.76)
2 jde=je

Differentiating both sides of the above expression with respect to #, we obtain

dx(®) _ L C+..ijX(s)eS’dS 3.77)
dt 2mjJe-je

Comparing Eq. (3.77) with Eq. (3.76), we conclude that dx(#)/dt is the inverse Laplace transform of sX(s). Thus,

dx(t)

< 5X(8) R' DR

Note that the associated ROC is unchanged unless a pole-zero cancellation exists at s = 0.
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3.11. Verify the differentiation in s property (3.21); that is,

dX(s)
s

R'=R

—tx(t) <
From definition (3.3)
X()= [ x@ye "t

Differentiating both sides of the above expression with respect to s, we have

% =7 Coxwede=[" [-ixo)le di

Thus, we conclude that

dX(s)
s

—Ix(t) < R'=R

3.12. Verify the integration property (3.22); that is,

f’ X@)dT < 2X(s) R =RN {Re(s)>0)
. p

Let
!
f® =f_WX(T)dT < F(s)
Then x(t)= m
dt
Applying the differentiation property (3.20), we obtain
X(s) = sF(s)

Thus,
F)=1X(s) R =RN {Re(s)>0)
s

The form of the ROC R’ follows from the possible introduction of an additional pole at s = 0 by the multiplying by 1/s.

3.13. Using the various Laplace transform properties, derive the Laplace transforms of the following signals
from the Laplace transform of u(%).

(@) 6(» ® &80
() tu(® d) e u(r)
(e) te u(r) (f) cos wytu (7)

(g) e cos wytu(?)
(a) From Eq. (3.14) we have
1
u(t) <> — for Re(s)>0
s

From Eq. (1.30) we have

du(t)
dt

Thus, using the time-differentiation property (3.20), we obtain

o@)=

6(t)<—>sl=1 all s
s
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(b) Again applying the time-differentiation property (3.20) to the result from part (a), we obtain
() es all s (3.78)
(c) Using the differentiation in s property (3.21), we obtain
d(1 1
@) ——|—|== Re(s)>0
® ds(s) 2 () (3.79)
(d) Using the shifting in the s-domain property (3.17), we have

e u@t) < L Re(s) > —a
s+a

(e) From the result from part (c) and using the differentiation in s property (3.21), we obtain

—at e—i L1 - 3.80
te"“'u(r) ds(s+a) (s+a)2 Re(s) > —a (3.80)

(f) From Euler’s formula we can write
1 Joot — jwot 1 Jwot 1 — jwot
cos wytu(t)= E(e 0+ e ()= Ee Cu(t)+ Ee Ou(t)
Using the linearity property (3.15) and the shifting in the s-domain property (3.17), we obtain

1 1 1 1 K]
coswytu(t) <> — + 5

— = Re(s)>0 3.81
25— jo, 2s+ jo, s2+w0 () ( )

(g) Applying the shifting in the s-domain property (3.17) to the result from part (f), we obtain

s+a

e ' cos wy tu(t) <> Re(s) > —a (3.82)

(s+a)2 +w§

3.14. Verify the convolution property (3.23); that is,

X, *x,() <> X,(s)X,(s) R DR/ NR,

Let
Y0 =10 50= [ x@xt-1)do
Then, by definition (3.3)
=", [ [ n@ne - d‘r] ¢t

=f_:x1(t) [f_:xz(t—r)e_‘" dt]dr

Noting that the bracketed term in the last expression is the Laplace transform of the shifted signal x,(t — 1), by
Eq. (3.16) we have

Y()= 7 x(D)e Xy (s)dr

-[J7n@e a0 = X0 %0

with an ROC that contains the intersection of the ROC of X|(s) and X,(s). If a zero of one transform cancels a pole
of the other, the ROC of Y(s) may be larger. Thus, we conclude that

X *x(0) <> X,() X,(s) RDRNR,
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3.15 Using the convolution property (3.23), verify Eq. (3.22); that is,
f' x(@)dr o L1X(s) R =R {Re(s)> 0}
—® s
We can write [Eq. (2.60), Prob. 2.2]

[ x@dr=x0)su@ (3.83)

From Eq. (3.14)
u(t) < % Re(s)>0
and thus, from the convolution property (3.23) we obtain
x(t)xu(t) < %X(s)
with the ROC that includes the intersection of the ROC of X(s) and the ROC of the Laplace transform of u(f). Thus,
f:wx(r)dr < %X(s) R'= RN {Re(s)>0}

Inverse Laplace Transform

3.16. Find the inverse Laplace transform of the following X(s):

1
@ X(s)=——.Re(s) > —1

1
(®) X(s)=——.Re(s) < -1

N

() X(@s)= 7 +4,Re(s)>0

s+1
d) X(s)=———,R -1
(d) X(s) Gt 14 e(s) >

(a) From Table 3-1 we obtain

x(f) = e"'u(®
(b) From Table 3-1 we obtain

x(t) = —e u(—1)
(c) From Table 3-1 we obtain

x(f) = cos 2tu(t)
(d) From Table 3-1 we obtain

s(t) = e~"cos 2tu(f)

3.17. Find the inverse Laplace transform of the following X(s):

2s+4

X(5)=————— Re(s) > —1
@ X s*+4s+3 ¢
2s+4
b) X(s)=————— Re(s) < —3
®) Xe) s*+4s+3 e
© Xo)=52Ft _3<Re(s) < -1

s“+4s+3
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Expanding by partial fractions, we have

25 +4 s+2 cl c,

X($)=— = = +
s +4s+3 (s+D(s+3) s+1 s+3

Using Eq. (3.30), we obtain

s+2
c=(s+DX(s =2 =
=GEDXO| =2
s=-—1
s+2
¢y =(s+3)X(s =2— =1
2=+ IXE) | =2 )
s=—3
Hence,
1 1
X(s)=——+
® s+1 s+3

(a) The ROC of X(s) is Re(s) > —1. Thus, x(?) is a right-sided signal and from Table 3-1 we obtain
x(t) = e~'u@®) + e 3u) = (e7' + e Nu(r)
(b) The ROC of X(s) is Re(s) < —3. Thus, x(?) is a left-sided signal and from Table 3-1 we obtain

x() = —e u(—10 — e u(—1H) = —(e7" + e Nu(—1)

—

(c) The ROC of X(s) is —3 < Re(s) < —1. Thus, x(?) is a double-sided signal and from Table 3-1 we obtain

x(f) = —e u(—1) + e 3u@)

3.18. Find the inverse Laplace transform of

X(s)=—35*13

=— """~  Re(s)>0
s(s? + 45 +13)

We can write

PHas+13=(s+22+9=(s+2—3)(s +2+3)

Then
5s+13 5s+13
X(s)=— = . .
s(s“+4s+13) s(s+2—j3)(s+2+j3)
=4 ) ‘
s s—(=2+j3) s—(=2-j3)
where
5s+13
c;=sX(s = =
=Xl sP+ds+13 | _,
5s+13 1
Q=(6+2-3X®)| __,, = =——(1+3j)
S=T2H3 0 (s + 24 73) =2+ 3 2
5s+13 1
=(s+2+j3)X(s L m— =——=(-j
c3=(s XS,y 62|, SA=D
Thus,
1 1 , 1 1 . 1
X@)=—--(A+j)———— -1 j)———
s 2 s—(—2+j3) 2 s—(—2—j3)

The ROC of X(s) is Re(s) > 0. Thus, x(?) is a right-sided signal and from Table 3-1 we obtain

x(t) = u(t) — %(1 + e () — %(1 — e P
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Inserting the identity
T2 PN = o~Uetf3 = ¢~ (cos 3t + jsin 3f)
into the above expression, after simple computations we obtain
x(f) = u(®) — e~ (cos 3t — sin 31) u(f)
= [1 — e~ ?(cos 3t — sin 30)] u()
Alternate Solution:

We can write X(s) as

Ss+13 _a, Cys +c3

Cs(s*+4s+13) s sP+4s+13

X(s)

As before, by Eq. (3.30) we obtain

5s+13
a=sX@®)|,_,=5———=| =1
5 s°+4s5+13 o
Then we have
cstey 55s+13 1 —s+1

2 +4s+13 s(s>+4s+13) s s> +4s+13

Thus,
1 s—1 1 s+2-3
X()=-—— =—= 5
s s“+4s+13 s (s+2)°+9
1 s+2 3

+
s (s+2P¢ 3% (s+2)+3?

Then from Table 3-1 we obtain

x(f) = u(t) — e~ ¥ cos 3tu(t) + e~ sin 3tu(r)
= [1 — e %(cos 3t — sin 3)]u(?)

3.19. Find the inverse Laplace transform of

s24+2s+5

&~ Re@s)>-3
(s +3)(s +5)° °(s)

X(s)=
We see that X(s) has one simple pole at s = —3 and one multiple pole at s = —5 with multiplicity 2. Then by
Egs. (3.29) and (3.31) we have

¢ Ay A,

+ 2Ly 2 (3.84)
s+3 s+5 (s+5)

X(s)=

By Eqgs. (3.30) and (3.32) we have

_ s2+25+5
5==3  (s+5)

¢ = (s +3)X ()]

s=-3
2
+2s+5
Ay = (s +5PX(s SIESTA — 0
2= (s+5°X(9)|,__ 3
s==5
d ) d[s*+2s+5
A =—[(s+5)°X(s =—
! ds[(s ) (3)] s=- ds s+3 s
_s2+6s+l N
(s+3)7° | __,
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Hence,

2 1 10
s+3 s+5 (s+5)°

X(s)=

The ROC of X(s) is Re(s) > —3. Thus, x(?) is a right-sided signal and from Table 3-1 we obtain

x(0) = 2e73u(t) — e~ >'u(t) — 10te™>"u(r)
=[2e73 — 73 — 10te™>"] u(p)

Note that there is a simpler way of finding A, without resorting to differentiation. This is shown as follows: First
find c, and A, according to the regular procedure. Then substituting the values of ¢, and A, into Eq. (3.84), we
obtain

SH245 2 M 10
(s+3)(s+5)7 s+3 s+5 (s+5)

Setting s = 0 on both sides of the above expression, we have

> 2, M 10

75 3 5 25

from which we obtain A; = —1.

3.20. Find the inverse Laplace transform of the following X(s):

2s +1

X(s)= , Re(s) > —2
(a) X(s) 12 e(s)
2
+ 65+
®) X(s)=s2#, Re(s) > —1
s +3s+2
3 2
+2s% +
© X)=222F8 Re(s) >0
s° 4+ 3s

25+1_2s+2)-3_, 3

X(s)= =
@ X(s) s+2 s+2 s+2

Since the ROC of X(s) is Re(s) > —2, x(?) is a right-sided signal and from Table 3-1 we obtain

x(t) = 28(8) — 3e2u(t)

(b) Performing long division, we have

s2+6s+7 3545 s
X($)=— B : i
s°+3s+2 §°+3s+2 (s+Ds+2)
Let
 +
X, ()= B$+5 _ a9
(s+D+2) s+l s+2
where
3s+5
o =0+DX, (s = -2
) ( ) |( )L:—l s+2 s=—1
3s+5
=(s+2)X, (s = )
¢ =(+2X()|,__, s+t __,
Hence,

X(s)=1+i+;
s+1 s+2
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The ROC of X(s) is Re(s) > — 1. Thus, x(?) is a right-sided signal and from Table 3-1 we obtain
x() = 6(t) + Qe+ e )u()

(c) Proceeding similarly, we obtain

3 2
° +25°+6 35+6
X(s)= g2 =g 1
s°+ 3s s(s+3)
Let
 +
X,(s) = 3s+6 =ﬁ+ c,
s(s+3) s s+3
where
3s+6
c, =X (s = =2
! 1€ )|“=° s+3 ] _,
35+6
¢ =@6+3X (5)|,__,= =1
s=-3
Hence,

X(s)=s—1+g+ 1
s §+3

The ROC of X(s) is Re(s) > 0. Thus, x(¢) is a right-sided signal and from Table 3-1 and Eq. (3.78) we obtain
x()=6'() — 8@F) + 2 + e *u()

Note that all X(s) in this problem are improper fractions and that x(#) contains 8(?) or its derivatives.

3.21. Find the inverse Laplace transform of

242se ¥ 407

X(s)=
(s) s2+4s5+3

Re(s) > —1

We see that X(s) is a sum
X(s) = X\ () + X,(8) e™> + X, (9)e™*

where
2 2s 4

X\(8)=5——— X,(s)= X3(89)=—5—"——
1) s?+4s+3 2 s?+4s+3 () s?+4s+3

If
X0 < X\(5) x0<=X(s) x0 <X
then by the linearity property (3.15) and the time-shifting property (3.16) we obtain
x(@) =x,(0) +x(t—2) + x,(t — 4) (3.85)

Next, using partial-fraction expansions and from Table 3-1, we obtain

N L1 PR 1
X.(s)——SJr1 13 xt)=(  —e u()
‘ :__1 —3 «> =(—e ! —3
X,(s) s+1+s+3 xX,(t)=(—e " +3e T)Hu(t)
2 2 -t -3
X;($)=—————<x3()=2(e " —e Hu(t)

s+1 s+3
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Thus, by Eq. (3.85) we have

x(®) = (e7"—eNu(l) + [~ e 7D + 3730~ Dyt - 2)
+2[e ™Y — 73Nyt - 4)

3.22. Using the differentiation in s property (3.21), find the inverse Laplace transform of

1
X(S)=m Re(s) > —a

We have

SN L O T
ds\s+a (s+a)2
and from Eq. (3.9) we have

e u@t) < L Re(s) > —a
s+a
Thus, using the differentiation in s property (3.21), we obtain
x(t) = te™'u(t)

System Function

3.23 Find the system function H(s) and the impulse response A(?) of the RC circuit in Fig. 1-32 (Prob. 1.32).
(a) Let
x@® =v® Yy =v.()

In this case, the RC circuit is described by [Eq. (1.105)]
dy(t) 1

+_
dr  RC’

Taking the Laplace transform of the above equation, we obtain

1
(t)—EX(t)

1 — Ly
sY(s)+ EY(.S)— RC X(s)

1 1 )
or (3+E)Y(s)—EX(.s)

Hence, by Eq. (3.37) the system function H(s) is

H(s)=Y(S)= 1/RC 1 1
X(s) s+1/RC RC s+1/RC

Since the system is causal, taking the inverse Laplace transform of H(s), the impulse response A(?) is
- 1
ht)= % "(H(s)} = —¢ "R
® {H(s)} RC ®
(b) Let
m=v yO=i®

In this case, the RC circuit is described by [Eq. (1.107)]

dy(t 1 1 dx(t
p©) | L 1 dx®
dt RC R adt
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Taking the Laplace transform of the above equation, we have

U yior= Laxes
sY(s)+ RY(.S) = RsX(.s)

or (s + %)Y(s) = %sX(s)

Hence, the system function H(s) is

:Y(s): s/IR 1 s

H(s)
X(s) s+1/RC Rs+1/RC

In this case, the system function H(s) is an improper fraction and can be rewritten as

1 s+1/RC—1/RC 1 1 1
R  s+1/RC R R*C s+1/RC

Since the system is causal, taking the inverse Laplace transform of H(s), the impulse response A(?) is
- 1 1 -
h(t)= L YH(s)} = —8(t) — ——e "RCu(t
® {H(s)} R() e ®
Note that we obtained different system functions depending on the different sets of input and output.
3.24. Using the Laplace transform, redo Prob. 2.5.
From Prob. 2.5 we have
h(t) = e~ *'u(t) x(t) = e*'u(—1) a>0
Using Table 3-1, we have
1
H(s)=—— Re(s) > —a
s+a
X(s)=— ; Re(s) < a
s—a
Thus,
1 1

Y(S)=X(S)H(S):_(S+a)(s—a):_s2—a2 —a<Re(s»)<a

and from Table 3-1 (or Prob. 3.6) the output is
1 _
HN=—e alt|
y(®) oa
which is the same as Eq. (2.67).

3.25. The output y(?) of a continuous-time LTI system is found to be 2¢~3u(z) when the input x(2) is u(f).
(a) Find the impulse response h(?) of the system.
(b) Find the output y(#) when the input x () is e~ u(%).

(@ x(1) = u(?),y () = 2e>'u(t)
Taking the Laplace transforms of x(#) and y(f), we obtain

X(s)=% Re(s) > 0

2
Y(.s)—m Re(s) > —3
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Hence, the system function H(s) is

3= Y _ 28 _
H(s) XG) 543 Re(s) > -3
Rewriting H(s) as
H(s)= 2s _2(s+3)—6:2_ 6 Re(s) > — 3

s+3 s+3 s+3

and taking the inverse Laplace transform of H(s), we have
h(t) = 26(8) — 6e~3u(t)

Note that A(?) is equal to the derivative of 2e~%u (£), which is the step response s(?) of the system [see Eq. (2.13)].
(b) xt)=e "u(t) < 1 Re(s) > —1
s+1

Thus,

2s
Y(é)—X(S)H(s)—m Re(s) > —1

Using partial-fraction expansions, we get

1 3
Y(§)=——+
) s+1 s+3

Taking the inverse Laplace transform of Y(s), we obtain

YO = (—e"+3e ) u@)

3.26. If a continuous-time LTI system is BIBO stable, then show that the ROC of its system function H(s)
must contain the imaginary axis; that is, s = jw.

A continuous-time LTI system is BIBO stable if and only if its impulse response A(?) is absolutely integrable, that is
[Eq. 2.21)],

[ Inolar<e
By Eq. 3.3)

H(s)= [ h)e "di

Let s = jw. Then

| H(jw)|= ‘ I° nwye @ at

= [7 |nwe 7 ar= [ |ae)|de <oo

Therefore, we see that if the system is stable, then H(s) converges for s = jw. That is, for a stable continuous-time
LTI system, the ROC of H(s) must contain the imaginary axis s = jw.

3.27 Using the Laplace transfer, redo Prob. 2.14

(a) Using Eqgs. (3.36) and (3.41), we have
Y(s) = X(s)H (s)H,(s) = X(s)H(s)

where H(s) = H,(s)H,(s) is the system function of the overall system. Now from Table 3-1 we have
_ 1
h(t)=e Hu(t) < H(s)=——  Re(s) > —2
s+2

hy()=2¢"u(t) < Hy(s)=——  Re(s) > —1
s+1
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Hence,

2 2 2

HE= B = (6T 511 s+2

Re(s)>—1
Taking the inverse Laplace transfer of H(s), we get
h(t) =2(e™" — e ?u (1)

(b) Since the ROC of H(s), Re(s) > —1, contains the jw-axis, the overall system is stable.

3.28. Using the Laplace transform, redo Prob. 2.23.

The system is described by

dy®) _
a T ay(t) = x(t)

Taking the Laplace transform of the above equation, we obtain
sY(s) + a¥Y(s) = X(s) or (s + a)Y(s) = X(s)

Hence, the system function H(s) is

ERACI.
X(s) s+a

Assuming the system is causal and taking the inverse Laplace transform of H(s), the impulse response A(?) is

H(s)

h(t) = e “u(t)
which is the same as Eq. (2.124).
3.29. Using the Laplace transform, redo Prob. 2.25.
The system is described by
Y@ +2y(0) = x@) + x'(0)
Taking the Laplace transform of the above equation, we get

sY(s) + 2Y(s) = X(s) + sX(s)
or (s + 2)Y(s) = (s + 1)X(s)

Hence, the system function H(s) is

Y(s):s+l_s+2—1:1 1

H(s)= = -
X(s) s+2 s+2 s+2

Assuming the system is causal and taking the inverse Laplace transform of H(s), the impulse response A(?) is
h(® = 8(f) — e u(®)
3.30. Consider a continuous-time LTI system for which the input x(#) and output y(¢) are related by
Y'(0) + y'(0) = 2y(1) = x(1) (3.86)

(a) Find the system function H(s).

(b) Determine the impulse response h(?) for each of the following three cases: (i) the system is causal,
(ii) the system is stable, (iii) the system is neither causal nor stable.

(a) Taking the Laplace transform of Eq. (3.86), we have
$2Y(s) + sY(s) — 2Y(s) = X(s)
or (s2+ 5 — 2)Y(s) = X(s)
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Hence, the system function H(s) is

H(S)=M= 5 ! = !
X(s) s°+s—2 (s+2)(s—1)

(b) Using partial-fraction expansions, we get

1 1 1 1

H(s)= =—= +l
(s +2)(s—2) 3s+2 3s5-—1

(i) If the system is causal, then A(?) is causal (that is, a right-sided signal) and the ROC of H(s) is Re(s) > 1.
Then from Table 3-1 we get

h(t)=— % e —eHu@)

(i) If the system is stable, then the ROC of H(s) must contain the jw-axis. Consequently the ROC of H(s) is
—2 < Re(s) < 1. Thus, A () is two-sided and from Table 3-1 we get

N D TN
h(t) 3e u(t) 3e u(—t)

(iii) If the system is neither causal nor stable, then the ROC of H(s) is Re(s) < —2. Then A(?) is noncausal
(that is, a left-sided signal) and from Table 3-1 we get

S TN A
h(t)—3e u(—1) 3eu( 1)

3.31. The feedback interconnection of two causal subsystems with system functions F(s) and G(s) is depicted
in Fig. 3-13. Find the overall system function H(s) for this feedback system.

xit) aff) ¥it)
P Fis)
Gis)
Fig. 3-13 Feedback system.

Let x(1) < X(s) y(@) < Y () r(t) <> R(s) e(t) <> E(s)
Then,

Y(s) = E(s)F(s) (3.87)

R(s) = Y(s)G(s) (3.88)
Since

e(t) =x@) + r(
we have

E(s) = X(s) + R(s) (3.89)

Substituting Eq. (3.88) into Eq. (3.89) and then substituting the result into Eq. (3.87), we obtain

Y(s) = [X(s) + Y(s)G()] F(s)
or [1 = F()G(s)] Y(s) = F(s)X(s)

Thus, the overall system function is

Ye) __ @)

H(s)= —
X(s) 1-F(s)G(s)

(3.90)
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Unilateral Laplace Transform

3.32. Verify Eqgs. (3.44) and (3.45); that is,

dx (1)
(a) 4

< 5X;(s)—x(07)

d’x(1)

— < $2X,(s)—sx(07)—x'(07)

(b)

(a) Using Eq. (3.43) and integrating by parts, we obtain
¥ dx(1)) _ w_ dx(t) ot
B dt 0 dt

=x(t)e '

:_ + sf; x(t)e "dt
=—x(07)+sX,(s) Re(s)>0

Thus, we have

d’;(’) < $X,(s)— x(07)

(b) Applying the above property to signal x'(#) = dx(f)/dt, we obtain

d*x (1) _ d dx(t)
dr?  dt dt
=s2X,(s)— sx(07)— x'(07)

< s[sX,(s)— x(07)]—x'(07)

Note that Eq. (3.46) can be obtained by continued application of the above procedure.

3.33. Verify Eqgs. (3.47) and (3.48); that is,

1
(@) f;_ X(©)d7 <> X;(s)

(b) fiwx(r)dr - %X, (s)+ % f: x(t)dr

(@) Let ot) = f(;_ x(T)dr
Then M = x(t) and g(07)=0
dt
Now if
8(t) <> G(s)

then by Eq. (3.44)

X;()=35G;(s)— g0 )=5G,(s)
Thus,

Gy(s)= %X,m

or f;_x(r)dr P %X,(s)

(b) We can write

fiwx(r) dt =f:x(1:) drt +f(:_x(‘r) drv
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Note that the first term on the right-hand side is a constant. Thus, taking the unilateral Laplace transform of
the above equation and using Eq. (3.47), we get

[ x@dre x4+t fo_ x(@)dr
—® s R

3.34. (@) Show that the bilateral Laplace transform of x(#) can be computed from two unilateral Laplace
transforms.

(b) Using the result obtained in part (a), find the bilateral Laplace transform of e2I"l,
(a) The bilateral Laplace transform of x(#) defined in Eq. (3.3) can be expressed as

X()= [ x@e*'dt = f?;x(t)e_"'dt [ xe ar

= [ox(netdi+ [ x (e dt (391

Now [Cxwed=X,s) Re()>o0" (3.92)
Next, let

LHHD}=X; (5)= [ x(-)e "dt  Re(s)>0" (3.93)

Then [T xnedi=[" x-ne "Vd=X](-s) Re(s)<o” (3.94)

Thus, substituting Eqgs. (3.92) and (3.94) into Eq. (3.91), we obtain
X(s) = X, (s) + X7 (=9) ot <Re(s) < o~ (3.95)
() x(®) = e2l
(1) x(¢) = e~ % for t > 0, which gives
L x)} =X, (s)= ﬁ Re(s) > —2
(2) x(f) = ¥ fort <0.Then x(— £) = e~ % for t > 0, which gives

— () = 1 g —
Ei{x(=}=X,(s) Py Re(s)>—-2
Thus,
_ _ )
X,(—s)—_s+2— - Re(s)<?2

(3) According to Eq. (3.95), we have

1 1

s+2 s—2

X)) =X;5)+X; (—s)=

- 7 —2<Re(s)<2 (3.96)

which is equal to Eq. (3.70), with a = 2, in Prob. 3.6.

3.35. Show that

(@) x(07)= lim sX,(s) (3.97)
() lim x(1)= lim 5X, (5) (3.98)
t—> Nind

Equation (3.97) is called the initial value theorem, while Eq. (3.98) is called the final value theorem for
the unilateral Laplace transform.
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3.36.

(a) Using Eq. (3.44), we have

X, 20 = [ ED oy
=f0+ —dx(t)e_‘" dt +f°° dx(t)e_‘"dt
0" dt ot dt

= x(t) Oj + f:; d’;?)e“" dt

= x(07)— x(0 )+f0 dx(t) s
Thus,

(0= x(0")= [ EO e ay

and llm.sX,(s) x(o* )+1 f df;y) oSt

xO")+ [ dx(’)( _me_"')dt=x(0+)

since lim e =0,

§—> 0

(b) Again using Eq. (3.44), we have

dX(t) o

lim [5X, (s) = x(07)] = lim f dt

= fw_dx(t)(lim e“')dt
0 dr

s—0

e dx(t) ®
= [y == x|
= lim x(¢) — x(0")
t—>
Since lin}) [sX;(s)—x(07)]= lil‘l‘(l) [sX;(s)]— x(07)
= §—
we conclude that

lim x(¢) = 11m sX,;(s)

t—>
The unilateral Laplace transform is sometimes defined as

L AxO} =X (5)= f: x(t)e *'dt (3.99)

with 0% as the lower limit. (This definition is sometimes referred to as the 0" definition.)
(a) Show that

£, {df:)} = sX{(s)—x(0")  Re(s)>0 (3.100)
(b) Show that
L qu)y =1 (3.101)
S
£ (61} =0 (3.102)

(a) Letx(f) have unilateral Laplace transform X7 (s). Using Eq. (3.99) and integrating by parts, we obtain

& dx(t) © dx(t) St
1 dr 0" dr

st|®

_ - y ® -5t
=x(t)e 0++.sf0+x(t)e dt

=—x(0")+sX,(s) Re(s)>0
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Thus, we have

dx (1)
dt

< sX7 (s)—x(0)
(b) By definition (3.99)

£ {u@®)} :f; u(t)e *'dt :f; e dt

_ le—sl ®

N

+=l Re(s)>0
0 s

From Eq. (1.30) we have

du(t)

0 ==2

—

(3.103)

Taking the 0* unilateral Laplace transform of Eq. (3.103) and using Eq. (3.100), we obtain

L. {o(t)})= sio u0"H=1-1=0
K]
This is consistent with Eq. (1.21); that is,

RE0) =f;6(t)e_"dt =0

Note that taking the 0~ unilateral Laplace transform of Eq. (3.103) and using Eq. (3.44), we obtain

L_{6()}= sl—u(O‘)= 1-0=1
s
Application of Unilateral Laplace Transform

3.37. Using the unilateral Laplace transform, redo Prob. 2.20.

The system is described by
Y@ + ay(t) = x()
with y(0) = y, and x(?) = Ke " u(?).
Assume that y(0) = y(07). Let
y@) < Y, (s)
Then from Eq. (3.44)
Y (@) < sY,(s) = y(07) = sY,(s) — y,

From Table 3-1 we have

K
x@) <« X, (s)=—— Re(s) > —b
)< X, (s) s €))
Taking the unilateral Laplace transform of Eq. (3.104), we obtain

_ K
[sY,(s) = yol + a¥,(s)= Py

K
s+a)Y,;(s)=y, +——
or s+ @l ($)=yo +——

Thus,

Y,(s)= 2+ K
s+a (s+a)(s+b)

(3.104)
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3.38.

Using partial-fraction expansions, we obtain

Y, ()= Yoo K 11
st+ta a—-bls+b s+a

Taking the inverse Laplace transform of Y (s), we obtain

ya= [yoe“” + aKTb(e“” - e‘“’)]u(t)
which is the same as Eq. (2.107). Noting that y(0*) = y(0) = y(0~7) = y,, we write y(?) as

y(t)=ype '+ aKTb(e"” -y =0
Solve the second-order linear differential equation

Y'(®) + 5y'()) + 6y(@) = x(9) (3.105)
with the initial conditions y(0) = 2,y'(0) = 1, and x() = e~ 'u(?).
Assume that y(0) = y(0~) and y'(0) = y'(07). Let
y(@) <= Y, (9)

Then from Egs. (3.44) and (3.45)

Y(t) < sY(s) — y(07) = sY,(s) — 2
Y'(0) < $2Y,(s) — 5y(07) — y'(07) = $2¥,(s) — 25 — 1

From Table 3-1 we have

x(1) < X, (s) = slTl

Taking the unilateral Laplace transform of Eq. (3.105), we obtain

[sZY,(s)— 25 — 1]+ 5[sY;(s) — 2] + 6Y;(s) = L
s+1

1 252 +13s +12
or (2455 +6)Y,(5) = ——+2s +11= 2T 2
s+1 s+1
Thus,
25> +13s+12 252 +13s+12
Y (s)= =

(s+1D(2+55+6) (s+H1)(s+2)(s+3)

Using partial-fraction expansions, we obtain

Y (s)= 1.1 +6 L o 1
2s5+1 st+2 2s5+3
Taking the inverse Laplace transform of Y, (s), we have

1 2 9 3
t)y=|—e  +6e " ——e u(t
y(®) > > ®

Notice that y(0*) = 2 = y(0) and y'(0*) = 1 = y'(0); and we can write y(f) as

1 - 9
ty=—e ' +6e " —=e¢ t=0
y(@) 5 5
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3.39. Consider the RC circuit shown in Fig. 3-14(a). The switch is closed at # = 0. Assume that there is an
initial voltage on the capacitor and v (07) = v,,.

(a) Find the current i(?).
(b) Find the voltage across the capacitor v (7).

3{ ANN—» —— AAN

Vv — c = vlt — ) v,(t) c == vt

s —

v(07)=v,
(a) (b)
Fig. 3-14 RC circuit.

(a) With the switching action, the circuit shown in Fig. 3-14(a) can be represented by the circuit shown in
Fig. 3-14(b) with v(#) = Vu(#). When the current i(?) is the output and the input is v (?), the differential
equation governing the circuit is

R+ iwyde=
i+ = [ i@dr=v,(@) (3.106)

Taking the unilateral Laplace transform of Eq. (3.106) and using Eq. (3.48), we obtain

11 1 .07, \%4
RI(s)+E ;I(s)+;fi)mt(‘c)d‘r =: (3.107)
where I1(s)=2Z,{i(t)}
1 e
Now vc(t)=6f_wt(‘r)d1:
_ 1 .07,
and v.(0 )=Ef_wt(‘r)d1:=v0

Hence, Eq. (3.107) reduces to
(R+ L)I(s)+v_°= 4
Cs s s
Solving for I(s), we obtain

I(s)=V_v0 1 =V—v0 1
s R+1/Cs R s+1/RC

Taking the inverse Laplace transform of I(s), we get
. V=% -urc
ity=———e u(t
® R ®

(b) When v (¢) is the output and the input is v (#), the differential equation governing the circuit is
dv.(t) + 1 v,
dt RC
Taking the unilateral Laplace transform of Eq. (3.108) and using Eq. (3.44), we obtain
1 1V

V.(s)— N+ —V(s)= — =
sV, (s)=v.(0 )+RC (5) RC 3

1
(t)—ﬁvs(t) (3.108)
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Solving for V (s), we have
1 4%

\%
Vo($)=—
RC s(s+1/RC) s+1/RC
_ i_ 1 n Vo
s s+1/RC) s+1/RC

Taking the inverse Laplace transform of V (s), we obtain
v(t) = VI1 — e "RCu () + vye~""Ru(t)

Note that v (0*) = v, = v_(07). Thus, we write v () as
v(6) = V(1 — e ""RC) + y e 1RC t=0
3.40. Using the transform network technique, redo Prob. 3.39.
(a) Using Fig. 3-10, the transform network corresponding to Fig. 3-14 is constructed as shown in Fig. 3-15.

R I{s)
At - -
+
.
P f Cs T
‘O
¥a
=G
_"__
Fig. 3-15 Transform circuit.
Writing the voltage law for the loop, we get
(R+—1)I(s)+v—°=z
Cs s s
Solving for I(s), we have
I(s)=V_v0 1 =V—v0 1
s R+1/Cs R s+1/RC

Taking the inverse Laplace transform of I(s), we obtain

. V=V _ure
ity=——"=e u(t
® R ®

(b) From Fig.3.15 we have

1 Vo
V.(s)=—1(s)+—
(8) Cs () p

Substituting /(s) obtained in part (a) into the above equation, we get
1 Vo

Vc(s)=V_v0
RC s(s+1/RC) s

1 1 v
=V-y)|———|+=2

( 0)(s s+1/RC) s

=V i_ 1 + Yo
s s+1/RC) s+1/RC

Taking the inverse Laplace transform of V (s), we have
v(t) = V(1 — e "Ryu(t) + ve~"""u(t)
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3.41. In the circuit in Fig. 3-16(a) the switch is in the closed position for a long time before it is opened at
t = 0. Find the inductor current i(¢) for t = 0.

When the switch is in the closed position for a long time, the capacitor voltage is charged to 10 V and there is no
current flowing in the capacitor. The inductor behaves as a short circuit, and the inductor current is %= 2A.

Thus, when the switch is open, we have i(07) = 2 and v(07) = 10; the input voltage is 10 V, and therefore it can
be represented as 10u(?). Next, using Fig. 3-10, we construct the transform circuit as shown in Fig. 3-16(b).

1
ilf) 2 20 i[5} 3 5 5 £

1 62
10V —— 20 % () "5_':' 2 %

(a) (b)
Fig. 3-16

From Fig. 3-16(b) the loop equation can be written as

Loy - 1421050+ L)+ 210
2 s K] K]
or (ls+2+@)l(s)=l
2 s
Hence,
1 2s
I(s)= =5
—s+2420/s § T4s+40
C2s+)-4 . (s+2) 2 6
+2?2+6% (s+2°+6% 3(s+2)P%+6°

Taking the inverse Laplace transform of I(s), we obtain

i(r)= e_z'(Z cos 6t — %sin6t)u(t)

Note that i(0*) = 2 = i(07); that is, there is no discontinuity in the inductor current before and after the switch is
opened. Thus, we have

i(t)y=e *(2cos6t — %sin6t) =0

3.42. Consider the circuit shown in Fig. 3-17(a). The two switches are closed simultaneously at # = 0. The
voltages on capacitors C, and C, before the switches are closed are 1 and 2 V, respectively.

(a) Find the currents i ,(#) and i,(?).

(b) Find the voltages across the capacitors at = 0*.

(a) From the given initial conditions, we have

10 =1V and v, (0) =2V
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Thus, using Fig. 3-10, we construct a transform circuit as shown in Fig. 3-17(b). From

i
o
I((:_I::I
Nl &

(@)

Fig. 3-17

Fig. 3-17(b) the loop equations can be written directly as

(2 + i)],(s) AT
8 s

—2I,(s) + (2 + l)lz(s) -2
S S

Solving for 7,(s) and I,(s) yields

3
+1 Styty 301
Il(s)_°_1_4—14=1+_

s+ — s+ — 4s+—
4 4 4

s-1srl 3
L s e e
s+ — s+ — 4s+—
4 4 4

Taking the inverse Laplace transforms of /,(s) and 1,(s), we get

i\(1)=06@t)+ %e_mu(t)

i (t)=8(t) — %e_’mu(t)

(b) From Fig. 3-17(b) we have

1 1
Ve, =N+

1 2
Ve, ()= h)+=

Substituting /,(s) and I,(s) obtained in part (a) into the above expressions, we get

1s+1 1
Ve, ()= s

1
Ve ()=~ 242
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Then, using the initial value theorem (3.97), we have

'+

ve, (0%)= lim sV, (s)= lim ——+1=1+1=2V
§—>00 §—>00

=

ve, (0*)= 321; Ve, ()= slgrolo

Note that vcl(0+) # Ve, (07) and vcz(0+) # Ve, (07). This is due to the existence of a capacitor loop in the
circuit resulting in a sudden change in voltage across the capacitors. This step change in voltages will result in
impulses in i () and i,(#). Circuits having a capacitor loop or an inductor star connection are known as
degenerative circuits.

SUPPLEMENTARY PROBLEMS

3.43. Find the Laplace transform of the following x(f):
(@) x(1) = sin o tu()
(b)  x(t) = cos(wyt + ¢) u(r)
(c) x() = e “u(t) — e“u(—1)
d) x@=1
(e) x(f)=sgnt

3.44. Find the Laplace transform of x(f) given by

L=t=<t,
x(t)= .
0 otherwise

3.45. Show that if x(?) is a left-sided signal and X(s) converges for some value of s, then the ROC of X(s) is of the form
Re(s) < 0,

where o

min

equals the minimum real part of any of the poles of X(s).

3.46. Verify Eq. (3.21); that is,

—tx(t) < ax(s) R' =R
ds

3.47. Show the following properties for the Laplace transform:
(a) If x(¢) is even, then X(—s) = X(s); that is, X(s) is also even.
(b) If x(¢) is odd, then X(—s) = —X(s); that is, X(s) is also odd.

(¢) If x(¢¥) is odd, then there is a zero in X(s) at s = 0.
3.48. Find the Laplace transform of

x(®)= (e "cos2t — 5¢ 2 Hu(t) + %ez'u(—t)
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3.49. Find the inverse Laplace transform of the following X(s):

@ X(s)=—— Re(s) > 1
s

(s +1)
(®) X(5)= ——,~1<Re()<0
s(s

+1)

© X(s)= —— Re(s) < —1

s(s+1)
s+1
d) X(s)=————,Re(s -2
@ X Gy W
s
(e X(S)=W,Re(s)>0
f) X@s)= Re(s) > —2

s> +252 +9s+18’
3.50. Using the Laplace transform, redo Prob. 2.46.

3.51. Using the Laplace transform, show that

(@) x(f) * 8(r) = x(r)
) x(t)*6'(H)=x'(d)

3.52. Using the Laplace transform, redo Prob. 2.54.
3.53. Find the output y(#) of the continuous-time LTI system with
h(®) = e 2u(f)

for the each of the following inputs:
(@) x(t) = e 'u(®)
®) x0) = e u(=n

3.54. The step response of an continuous-time LTI system is given by (1 — e~") u(#). For a certain unknown input x(#),
the output y(?) is observed to be (2 — 3e~' + e~ 3")u(f). Find the input x(7).

3.55. Determine the overall system function H(s) for the system shown in Fig. 3-18.

xit)
O
| £+1 }

1 ¥it)

i | =
F

Fig. 3-18

3.56. If x(7) is a periodic function with fundamental period 7, find the unilateral Laplace transform of x(7).

3.57. Find the unilateral Laplace transforms of the periodic signals shown in Fig. 3-19.
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3.58.

3.59.

3.60.

3.61.

xlf)
— 1 h " ¥ ¥
—1 0 1 2 3 4 5 ¢
(a)
x(t)
— 1 ] : ] : ]
L1 0 i 12 '3 14 '5 t
: , : : : : :
(b)
Fig. 3-19

Using the unilateral Laplace transform, find the solution of
Y'(@0) =y - 6y() = ¢
with the initial conditions y(0) = 1 and y'(0) = 0 for # = 0.

Using the unilateral Laplace transform, solve the following simultaneous differential equations:

Y@ +y®+ X0+ x@) =1
Y@ —y® - 2x@®) =0

with x(0) = 0 and y(0) = 1 fort = 0.
Using the unilateral Laplace transform, solve the following integral equations:

!
(@) y)=1+ afoy(r)dr,t >0

b) y@)=¢ [1 +f(:e_7y(1:)d1:], =0

Consider the RC circuit in Fig. 3-20. The switch is closed at # = 0. The capacitor voltage before the switch closing
is v,. Find the capacitor voltage for t = 0.
05@

t=0

C =/ g R
1]

Fig. 3-20 RC circuit.
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3.62. Consider the RC circuit in Fig. 3-21. The switch is closed at 7 = 0. Before the switch closing, the capacitor C, is
charged to v, V and the capacitor C, is not charged.

(@)
©]

()

Fig. 3-21 RC circuit.

Assuming C, = C, = C, find the current i(?) for t = 0.

Find the total energy E dissipated by the resistor R, and show that E is independent of R and is equal to half of
the initial energy stored in C,.

Assume that R = 0 and C| = C, = C. Find the current i() for f = 0 and voltages Ve, (0*) and vcz(0+).

ANSWERS TO SUPPLEMENTARY PROBLEMS

3.43. (a) X(s)= 52—, Re(s)>0
$7 + g

3.44.

3.45.

3.46.

3.47.

3.48.

)

()

(d)

(e)

X(s)

Hint:

Hint:

Hint:
(@)
(®)
©

X(s)

X(s)= scosq;:_woz51n¢,Re(s)>0
s

0

2s
Ifa>0, X(s)= 22 @ < Re(s) < a.If a < 0, X(s) does not exist since X(s) does not have an ROC.

Hint:  x(®) = u(®) + u(—9
X(s) does not exist since X(s) does not have an ROC.
Hint:  x(t) = u(f) — u(—1)

X(s) does not exist since X(s) does not have an ROC.

1 _ _
=—[e " —e '], all s
s
Proceed in a manner similar to Prob. 3 4.

Differentiate both sides of Eq. (3.3) with respect to s.

Use Egs. (1.2) and (3.17).
Use Egs. (1.3) and (3.17).
Use the result from part (b) and Eq. (1.83a).

o+
ot 5 L1 Re<2
(s+1)"+4 s+2 2s5-2
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3.49.

3.50.

3.51.

3.52.

3.53.

3.54.

3.55.

3.56.

3.57.

3.58.

3.59.

3.60.

3.61.

3.62.

(@ x@)=10—-e"—te Hu@)
) x(t)=—u(=1)—A+e 'u@)
©) x)=(1+e "+t Hu(-1)

d x(t)=e? (cos 3t — %sin 3t]u(t)
(e) x(t)=%tsin2tu(t)
(2o 2y 2
(@d) x(t)—( 13e +l3cos3t+l3sm3t)u(t)

Hint:  Use Eq. (3.21) and Table 3-1.

Hint:
(a) Use Eq.(3.21) and Table 3-1.
(b) Use Egs. (3.18) and (3.21) and Table 3-1.

Hint:

—

(a) Find the system function H(s) by Eq. (3.32) and take the inverse Laplace transform of H(s).

(b) Find the ROC of H(s) and show that it does not contain the jw-axis.

(@ y@®=("—eHu@
b) y@® =e'u(—0+ e u@®

x(t) =2(1 — e *u()

Hint:  Use the result from Prob. 3.31 to simplify the block diagram.

2

H(s)= 4———5——
) $4+3s2+s5-2

X(s) = —— (" x(t)e *'dt, Re(s)> 0
s _l_e‘-‘Tfo‘x e , Re(s

1 1—¢*

a) —— ,Re(s)>0; b ,Re(s)>0
@ Saveny ey eV
1,2 5,15
H=——¢ += +—¢e", =0
y(@®) 66 36 2e
x)=e'—1Lyt)=2—-e",t=0
(@ y@®=e"1=0; ®) yt)y=e¥1t=0

_ ~1IRC
v.(D) = ve ,t=0

(@) i(t)=(vy/R)e *® t=0

(b) E= %vgc

(c) i(t)=%v0C6(t), v, (07)= vy /2# v (07)= vy, v, (07) = vy /2# v, (07)=0



CHAPTER 4

The zTransform and
Discrete-Time LTI Systems

4.1 Introduction

In Chap. 3 we introduced the Laplace transform. In this chapter we present the z-transform, which is the
discrete-time counterpart of the Laplace transform. The z-transform is introduced to represent discrete-time
signals (or sequences) in the z-domain (z is a complex variable), and the concept of the system function for
a discrete-time LTI system will be described. The Laplace transform converts integrodifferential equations into
algebraic equations. In a similar manner, the z-transform converts difference equations into algebraic equa-
tions, thereby simplifying the analysis of discrete-time systems.

The properties of the z-transform closely parallel those of the Laplace transform. However, we will see
some important distinctions between the z-transform and the Laplace transform.

4.2 The zTransform

In Sec. 2.8 we saw that for a discrete-time LTI system with impulse response h[n], the output y[n] of the system
to the complex exponential input of the form z" is

yln] = T{z"} = H(2)z" 4.1

where

o0

H()= Y hinlz" 42)

n=—w

A. Definition:

The function H(z) in Eq. (4.2) is referred to as the z-transform of h[n]. For a general discrete-time signal x[n],
the z-transform X(z) is defined as

X(z)= E x[n]z" 4.3)

The variable z is generally complex-valued and is expressed in polar form as

7= rel® 44)

@ —
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where r is the magnitude of z and Q is the angle of z. The z-transform defined in Eq. (4.3) is often called the bilat-
eral (or two-sided) z-transform in contrast to the unilateral (or one-sided) z-transform, which is defined as

X, ()= 2 x[n]lz™" 4.5)

n=0

Clearly the bilateral and unilateral z-transforms are equivalent only if x[n] = O for n < 0. The unilateral
z-transform is discussed in Sec. 4.8. We will omit the word “bilateral” except where it is needed to avoid
ambiguity.

As in the case of the Laplace transform, Eq. (4.3) is sometimes considered an operator that transforms a
sequence x[n] into a function X(z), symbolically represented by

X(z) = 3{x[n]} (4.6)
The x[n] and X(z) are said to form a z-transform pair denoted as
x[n] < X(z) “@.7

B. The Region of Convergence:

As in the case of the Laplace transform, the range of values of the complex variable z for which the z-transform
converges is called the region of convergence. To illustrate the z-transform and the associated ROC let us con-
sider some examples.

EXAMPLE 4.1 Consider the sequence
x[n] = a"uln] areal “4.8)

Then by Eq. (4.3) the z-transform of x[n] is

X(@)= i d"ulnlz™" = i(az_')"
n=0

n=—o0

For the convergence of X(z) we require that

n
< 00

o]
2 ‘az_l
n=0

Thus, the ROC is the range of values of z for which |az™!| < 1 or, equivalently, |z| > |a|.Then

1
1—az™!

X@)= 20("2_5" = |2]>]al (4.9)

Alternatively, by multiplying the numerator and denominator of Eq. (4.9) by z, we may write X(z) as
X@=——|z[>]a| .10)
zZ—a

Both forms of X(z) in Egs. (4.9) and (4.10) are useful depending upon the application. From Eq. (4.10) we
see that X(z) is a rational function of z. Consequently, just as with rational Laplace transforms, it can be char-
acterized by its zeros (the roots of the numerator polynomial) and its poles (the roots of the denominator
polynomial). From Eq. (4.10) we see that there is one zero at z = 0 and one pole at z = a. The ROC and the
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pole-zero plot for this example are shown in Fig. 4-1. In z-transform applications, the complex plane is com-
monly referred to as the z-plane.

Re Re(z
2) Unit circle & @
z-plare
Imjz)
imiz)
—i1<a<0 a< —1

Fig. 4-1 ROC of the form |z| > |a]|.

EXAMPLE 4.2 Consider the sequence
x[n] = —a"u[—n—1] “4.11)

Its z-transform X(z) is given by (Prob. 4.1)

X(2)=

<l (4.12)

Again, as before, X(z) may be written as

X@=——|z|<|d] (4.13)
i—a
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Thus, the ROC and the pole-zero plot for this example are shown in Fig. 4-2. Comparing Eqgs. (4.9) and
(4.12) [or Egs. (4.10) and (4.13)], we see that the algebraic expressions of X(z) for two different sequences
are identical except for the ROCs. Thus, as in the Laplace transform, specification of the z-transform requires
both the algebraic expression and the ROC.

Imfz) Im(z)

O<ac<1 a>1

Im(z) Im(2)

-1<a<0 a< -1

Fig. 4-2 ROC of the form |z| < |a|.

C. Properties of the ROC:

As we saw in Examples 4.1 and 4.2, the ROC of X(z) depends on the nature of x[r]. The properties of the ROC
are summarized below. We assume that X(z) is a rational function of z.

Property 1: The ROC does not contain any poles.
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Property 2: If x[n] is a finite sequence (that is, x[n] = 0 except in a finite interval N, < n < N, ,where N,
and N, are finite) and X(z) converges for some value of z, then the ROC is the entire z-plane
except possibly z =0 orz = .

Property 3: If x[n] is a right-sided sequence (that is, x[n] = 0 for n < N, < ) and X(z) converges for
some value of z, then the ROC is of the form

|z| > T or oo > |z| > o

ax ax

where r__equals the largest magnitude of any of the poles of X(z). Thus, the ROC is the

max
exterior of the circle |z| = r,_,_in the z-plane with the possible exception of z = .

2.

Property 4: If x[n] is a left-sided sequence (that is, x[n] = O for n > N, > —) and X(z) converges for
some value of z, then the ROC is of the form

lz| <7, or 0<|z| <r,,

where r_, is the smallest magnitude of any of the poles of X(z). Thus, the ROC is the inte-

rior of the circle |z| = r_, in the z-plane with the possible exception of z = 0.

Property 5: If x[n] is a two-sided sequence (that is, x[n] is an infinite-duration sequence that is
neither right-sided nor left-sided) and X(z) converges for some value of z, then the
ROC is of the form

r<lz| <r,
where r, and r, are the magnitudes of the two poles of X(z). Thus, the ROC is an annular
ring in the z-plane between the circles |z| = r and |z| = r, not containing any poles.

Note that Property 1 follows immediately from the definition of poles; that is, X(z) is
infinite at a pole. For verification of the other properties, see Probs. 4.2 and 4.5.

4.3 zTransforms of Some Common Sequences

A. Unit Impulse Sequence 6[n]:
From definitions (1.45) and (4.3)

X(2)= 2 8nlz "=z"=1 allz (4.14)

Thus,

d[n] =1 all z (4.15)
B. Unit Step Sequence u[n]:
Setting a = 1 in Eqgs. (4.8) to (4.10), we obtain

== e (4.16)

uln] <
1-z!

C. ZTransform Pairs:

The z-transforms of some common sequences are tabulated in Table 4-1.
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—

TABLE 4-1 Some Common z-Transform Pairs

x[n] X@) ROC
S[n] 1 All z
1 b4
uln] I ’—Z— |z] > 1
1 b4
—u[—n—1] ol |z <1
1-z7 z—
S[n—m] zm All z except 0 if (m > 0) or o if (m < 0)
o 21> lal
n k
au[n] l—az' 7—a Z a
L2 |21 < lal
—a'yl—n— .
a'u[—n—1] l—az' ' 7—a z a
az™ az
n s >
nau(n] (l—az ) (z—a) |z] > lal
az™ az
_ e , <
na"u[—n—1] (I—az 'V (z—a) |z] < |al
: L [i} 21> lal
(n+1)a™uln] (U—az") | z—a b4
2
z°— (cos Q,)z
cos Q. n)uln Y > 1
¢ onuln] 72— (2cos Q)z+1 Izl
. (sin Q,)z
Q >
(sin Lm)uln] 72— (2cos Q)z+1 |zl >1
2
, Z2°—(rcos Q,)z
>
(r" cos Q n)uln] 22— (2rcos QO)Z‘HZ |z| > r
n . (rsin Q,)z
(r" sin Q,n)uln] = (2roos Q) 2+ 7 |z| > r
a" 0=n=N-1 l—aVz "
. - |z] >0
0 otherwise l—az

4.4 Properties of the zTransform

Basic properties of the z-transform are presented in the following discussion. Verification of these properties is
given in Probs. 4.8 to 4.14.
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A. Linearity:
If

x,[n] < X,(2) ROC = R,
x,[n] < X,(z) ROC =R,

then
ax [n] + a,x,[n] < a X (2) + a,X,(2) R'DR NR,
where a, and a, are arbitrary constants.

B. Time Shifting:
If

x[n] < X(2) ROC =R
then

an = nl <> z7™X@)  R'=RN{0<|z] <o}

Special Cases:

xn—11<z'X@z R =RN{0< |z|}
aln + 1] < 2X(2) R = RN {]z] <}

(4.17)

(4.18)

(4.19)
(4.20)

Because of these relationship [Egs. (4.19) and (4.20)], z~! is often called the unit-delay operator and z is called
the unit-advance operator. Note that in the Laplace transform the operators s~! = 1/s and s correspond to time-

domain integration and differentiation, respectively [Eqgs. (3.22) and (3.20)].

C. Multiplication by z":

0
If
x[n] < X(2) ROC =R

then

n Z '

zgxlnl< X|=—|  R=|z|R
)

In particular, a pole (or zero) at z = z, in X(z) moves to z = z,z,

or contracts by the factor |z, .

Special Case:

e/ xn] < X(e/%0z) R'=R

In this special case, all poles and zeros are simply rotated by the angle Q and the ROC is unchanged.

(421)

after multiplication by zj and the ROC expands

(4.22)
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D. Time Reversal:

If
x[n] < X(2) ROC =R
then
x[—n]e X(i) rR=1 4.23)
b4 R

Therefore, a pole (or zero) in X(z) at z = z, moves to 1/z, after time reversal. The relationship R' = 1/R indi-
cates the inversion of R, reflecting the fact that a right-sided sequence becomes left-sided if time-reversed, and
vice versa.

E. Multiplication by n (or Differentiation in 2):
If

x[n] < X(z) ROC =R
then

dX(z)
dz

nx[n] < —z R'=R (4.24)

F. Accumulation:
If

x[n] < X(z) ROC =R
then

> xlkl - 1_,X(z)=ZZ1X(z) R ORA{z|>1) 25)
- -

k=—0o

Note that 3 __. x[k] is the discrete-time counterpart to integration in the time domain and is called the accumu-
lation. The comparable Laplace transform operator for integration is 1/s.

G. Convolution:
If

x,[n] < X,(2) ROC =R,
x,[n] < X\(2) ROC =R,

then
x,[n] * x,[n] <> X (2)X,(2) R' DR NR, (4.26)

This relationship plays a central role in the analysis and design of discrete-time LTI systems, in analogy with
the continuous-time case.

H. Summary of Some z-transform Properties:

For convenient reference, the properties of the z-transform presented above are summarized in Table 4-2.
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TABLE 4-2. Some Properties of the z-Transform

PROPERTY SEQUENCE TRANSFORM ROC
x[n] X(2) R
x,[n] X,(2) R,
x,[n] X,(2) R,
Linearity ax,[n] + ayx,[n] a,X,(z) + a,X,(z) R'DR,NR,
Time shifting x[n—ng] 77" X(z) R'DRN{0 <|z] < o}
Multiplication by ) Zx[n] X(ij R'=|z,|R
%
Multiplication by e /o e Qnx(n] X(e™ /fhz) R'=R
1
Time reversal x[—n] X(—J R'= 1
b4 R
T dX(z) ,
Multiplication by n nx[n] —zd— R'=R
Z
~ 3 xin) L x()
Accumulation k=_”x n —7" z R'DRN{|z|>1}
Convolution X [n]* x,[n] X, (2)X,(2) R'DR\NR,

4.5 The Inverse zTransform

Inversion of the z-transform to find the sequence x[n] from its z-transform X(z) is called the inverse z-transform,
symbolically denoted as

x[n] = 37X} 4.27)

A. Inversion Formula:

As in the case of the Laplace transform, there is a formal expression for the inverse z-transform in terms of an
integration in the z-plane; that is,

— 1 n—1
x[n]—z—ﬂjfﬁcX(z)z dz (4.28)

where C is a counterclockwise contour of integration enclosing the origin. Formal evaluation of Eq. (4.28)
requires an understanding of complex variable theory.

B. Use of Tables of zTransform Pairs:
In the second method for the inversion of X(z), we attempt to express X(z) as a sum
X@=X@+ - +X (2) (4.29)

where X (@), ..., X (z) are functions with known inverse transforms x[n], ..., x [n]. From the linearity property
(4.17) it follows that

x[n] = x,[n] + -+ + x, [n] (4.30)
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C. Power Series Expansion:

The defining expression for the z-transform [Eq. (4.3)] is a power series where the sequence values x[n] are the
coefficients of z7”. Thus, if X(z) is given as a power series in the form

o

2 x[n]z™"

n=—o0

X[z]

c+ x[-2]2% + x[-1]z + x[0] + x[1]z”" + x[2]2 2 +

(4.31)

we can determine any particular value of the sequence by finding the coefficient of the appropriate power of 7z~
This approach may not provide a closed-form solution but is very useful for a finite-length sequence where X(z)
may have no simpler form than a polynomial in z™! (see Prob. 4.15). For rational z-transforms, a power series
expansion can be obtained by long division as illustrated in Probs. 4.16 and 4.17.

D. Partial-Fraction Expansion:

As in the case of the inverse Laplace transform, the partial-fraction expansion method provides the most gen-
erally useful inverse z-transform, especially when X(z) is a rational function of z. Let

_N@)_, z=z)(2=2,)

X(2) (4.32)
D) (z=p) (2= p,)
Assuming n = m and all poles p, are simple, then
&:C_O+C—l+ Foe “n =C_0+ Sk (4.33)
z Z Z=p Z7Pp, 2=p, T =717 D
where
X(z
@=X@|,_,  a=G-p)T2 (4.34)
=px
Hence, we obtain
n
X(@)=cyt¢ z +--+c, z =C0+2Ck £ (4.35)
T h L7 Pn =N

Inferring the ROC for each term in Eq. (4.35) from the overall ROC of X(z) and using Table 4-1, we can then
invert each term, producing thereby the overall inverse z-transform (see Probs. 4.19 to 4.23).

If m > nin Eq. (4.32), then a polynomial of z must be added to the right-hand side of Eq. (4.35), the order
of which is (m — n). Thus for m > n, the complete partial-fraction expansion would have the form

m-—n n
X@)=3 b2+ o, — (4.36)
4=0 k=1 27 Pk

If X(z) has multiple-order poles, say, p, is the multiple pole with multiplicity r, then the expansion of X(z)/z
will consist of terms of the form

! 2 oy —T (4.37)
=P (z—p) (z—p)
where
X(z)
,k—F;{( } 438)
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4.6 The System Function of Discrete-Time LTI Systems

A. The System Function:

In Sec. 2.6 we showed that the output y[n] of a discrete-time LTI system equals the convolution of the input x[r]
with the impulse response k[n]; that is [Eq. (2.35)],

yln] = x[n] * hln] (4.39)
Applying the convolution property (4.26) of the z-transform, we obtain
Y(z) = X(2)H(z) (4.40)

where Y(z), X(z), and H(z) are the z-transforms of y[n], x[n], and h[n], respectively. Equation (4.40) can be
expressed as

Y(2)
H(z) =% (4.41)
(2) )

The z-transform H(z) of h[n] is referred to as the system function (or the transfer function) of the system. By
Eq. (4.41) the system function H(z) can also be defined as the ratio of the z-transforms of the output y[»n] and
the input x[n]. The system function H(z) completely characterizes the system. Fig. 4-3 illustrates the relation-
ship of Egs. (4.39) and (4.40).

—_—p  hin] >
x[n] yln]=yln] » h[n]
X(z) Y(2)=X(2)H(z)

—_—> H —>

Fig. 4-3 Impulse response and system function.

B. Characterization of Discrete-Time LTI Systems:

Many properties of discrete-time LTI systems can be closely associated with the characteristics of H(z) in the
z-plane and in particular with the pole locations and the ROC.

1. Causality:
For a causal discrete-time LTI system, we have [Eq. (2.44)]

h[n] =0 n<0
since h[n] is a right-sided signal, the corresponding requirement on H(z) is that the ROC of H(z) must be of the form

|z| >rm

ax

That is, the ROC is the exterior of a circle containing all of the poles of H(z) in the z-plane. Similarly, if the sys-
tem is anticausal, that is,

h[n] =0 n=0
then A[n] is left-sided and the ROC of H(z) must be of the form
|Z| < rmin

That is, the ROC is the interior of a circle containing no poles of H(z) in the z-plane.



CHAPTER 4 The z-Transform and Discrete-Time LTI Systems _®

2. Stability:
In Sec. 2.7 we stated that a discrete-time LTI system is BIBO stable if and only if [Eq. (2.49)]

o

2 |h[n]|<oo

n=-o

The corresponding requirement on H(z) is that the ROC of H(z) contains the unit circle (that is, |z| = 1).(See
Prob. 4.30.)

3. Causal and Stable Systems:

If the system is both causal and stable, then all of the poles of H(z) must lie inside the unit circle of the
z-plane because the ROC is of the form |z| > 1> @and since the unit circle is included in the ROC, we must
haver , < 1.

C. System Function for LTI Systems Described by Linear Constant-Coefficient
Difference Equations:

In Sec. 2.9 we considered a discrete-time LTT system for which input x[#] and output y[n] satisfy the general lin-
ear constant-coefficient difference equation of the form

N

M
Y ayln—kl=Y bxln—kl (4.42)
k=0 k=0

Applying the z-transform and using the time-shift property (4.18) and the linearity property (4.17) of the
z-transform, we obtain

N M
E akz_kY(z) = E bkz_kX(z)
£=0 k=0

or
N M
Y@ a2 =X@) bz " (4.43)
k=0

Thus,

(N
»U'
N
il

(4.44)

Il
> |~
—_~ |~
ISHKa
N | N

Il

=

I
[=)

M=
Q
K
N
1]

==
I
o

Hence, H(z) is always rational. Note that the ROC of H(z) is not specified by Eq. (4.44) but must be inferred
with additional requirements on the system such as the causality or the stability.

D. Systems Interconnection:
For two LTI systems (with h,[n] and h,[n], respectively) in cascade, the overall impulse response A[n] is given by
h[n] = h,[n] * h,[n] (4.45)
Thus, the corresponding system functions are related by the product
H@) = H(@H,x)  RDR NR, (4.46)
Similarly, the impulse response of a parallel combination of two LTI systems is given by

hin] = h,[n] + h,[n] (4.47)
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and

H(z) = H,(2) + Hy2) RDR,NR, (4.48)

4.7 The Unilateral zTransform

A. Definition:

The unilateral (or one-sided) z-transform X,(z) of a sequence x[n] is defined as [Eq. (4.5)]

o<

X, (2)= 2 x[nlz™" (4.49)
n=0

and differs from the bilateral transform in that the summation is carried over only n = 0. Thus, the unilateral
z-transform of x[n] can be thought of as the bilateral transform of x[n]u[n]. Since x[n]u[n] is a right-sided
sequence, the ROC of X/(z) is always outside a circle in the z-plane.

B. Basic Properties:

Most of the properties of the unilateral z-transform are the same as for the bilateral z-transform. The unilateral
z-transform is useful for calculating the response of a causal system to a causal input when the system is described
by a linear constant-coefficient difference equation with nonzero initial conditions. The basic property of the uni-
lateral z-transform that is useful in this application is the following time-shifting property which is different
from that of the bilateral transform.

Time-Shifting Property:

If x[n] « X,(2), then form = 0,
xln—ml e z7mX (2) + 27" x[—1] + 27" 2x[=2] + - + x[—m] (4.50)
x[n + m] < z"X (z) —z"x[0] — z" " 'x[1] — -+ — zx[m — 1] 4.51)

The proofs of Eqgs. (4.50) and (4.51) are given in Prob. 4.36.

D. System Function:

Similar to the case of the continuous-time LTI system, with the unilateral z-transform, the system function
H(z) = Y(z)/X(z) is defined under the condition that the system is relaxed; that is, all initial conditions are zero.

SOLVED PROBLEMS

The z-Transform

4.1. Find the z-transform of
(a) x[n] =—a"u[—n— 1]
b) x[n]l =a"u[—n—1]
(a) From Eq.(4.3)

-1
X(2)=- E a"u[—n—l]z‘"=_ E a7 "

n=—o n=—o

=- i(a_'z)" =1- i(a_'z)"
n=1 n=0
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By Eq. (1.91)
N 1 -
'Eo(a IZ)n:l—a_'z 1f|a lz|<lor|z|<|a|
Thus,
1 -a'z 2 1
X =1— = = =
@ l-a'z 1-a'z z-a 1-az’! |2l<la|

(b) Similarly,

© -1
X(z)= E a "u[-n—-1]z7"= E (az)™"

n=—o n=—o
=Y (@) =y ()" -1
n=1 n=0
Again by Eq. (1.91)
d " 1 . 1
E(dz) = if|az|<lor|z|<i—
“ 1-az |a
Thus,
_ 1 ez 1
X(Z)_l—az ! 1-az z—1/a <] |a]

4.2. A finite sequence x[n] is defined as

#0 N,=n=N,
x[n] .
=0 otherwise

(4.52)

(4.53)

where N, and N, are finite. Show that the ROC of X(z) is the entire z-plane except possibly z = 0 or z = .

From Eq. (4.3)

Ny

X@= Y xlnl™"

n=N;

(4.54)

For z not equal to zero or infinity, each term in Eq. (4.54) will be finite and thus X(z) will converge. If N; < 0 and
N, > 0, then Eq. (4.54) includes terms with both positive powers of z and negative powers of z. As |z| = 0, terms

with negative powers of z become unbounded, and as |z| — o, terms with positive powers of z become unbounded.
Hence, the ROC is the entire z-plane except for z = 0 and z = . If N, = 0, Eq. (4.54) contains only negative powers
of z, and hence the ROC includes z = ». If N, = 0, Eq. (4.54) contains only positive powers of z, and hence the ROC

includes z = 0.

4.3. A finite sequence x[n] is defined as

x[n]=1{5,3,—-2,0,4,— 3}
1
Find X(z) and its ROC.
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From Eq. (4.3) and given x[n] we have

o

X(2)= Y x[nlz "= i x[nlz™"

n=-o n=-2
= x[~212% + x[~ 1z + x[0] + x[1]z”" + x[2]z"? + x[3]z*
=57 +3z-2+477 237"
For z not equal to zero or infinity, each term in X(z) will be finite and consequently X(z) will converge. Note that

X(z) includes both positive powers of z and negative powers of z. Thus, from the result of Prob. 4.2 we conclude
that the ROC of X(z) is 0 < |z| < 0.

4.4. Consider the sequence

a" 0=n=N-1a>0
x[n]=
0 otherwise

Find X(z) and plot the poles and zeros of X(z).

By Eq. (4.3) and using Eq. (1.90), we get

N-1

N-1 —1\N N N
_ 1 1N
X@=Sa" =3 @y =1 ) 1z 4.55)
n=0 n=0 1-az 4 Z—a

From Eq. (4.55) we see that there is a pole of (N — 1)th order at z = 0 and a pole at z = a. Since x[n] is a finite
sequence and is zero for n < 0, the ROC is |z| > 0. The N roots of the numerator polynomial are at

7, = ae/ @M k=0,1,..,.N—1 (4.56)

The root at £ = O cancels the pole at z = a. The remaining zeros of X(z) are at

7, = ael@mkN) k=1,..,N-1 (4.57)

The pole-zero plot is shown in Fig. 4-4 with N = 8.

Im(z)
L3
Z-plane
) - -~
iM - 1)th g “o
order pole .~ T, Pale-zero cancel
\é\‘ | i / =
; Rez)
o ,"3’
B R

Fig. 4-4 Pole-zero plot with N = 8.
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4.5.

4.6.

Show that if x[#] is a right-sided sequence and X(z) converges for some value of z, then the ROC of
X(z) is of the form

|z| > T or oo > |z| > T

ax ax

where r,is the maximum magnitude of any of the poles of X(z).

Consider a right-sided sequence x[n] so that

x[n] =0 n<N,

and X(z) converges for |z| = r,. Then from Eq. (4.3)

| X(2)|= E | xnl|ry " = E |xnl|ry " <

n=—o n=N,

Now if r; > r,, then

E |xn]|r " = E |x[n]|(rbi] = E |x[n]|r0_”(ﬂ)
h 0

n=N, n=N, n=N,
N
s(_rl) > |alnl|rg " <o
o n=N,

since (r,/r,)~" is a decaying sequence. Thus, X(z) converges for r = r, and the ROC of X(z) is of the form
|z| > r,
Since the ROC of X(z) cannot contain the poles of X(z), we conclude that the ROC of X(z) is of the form
|2 > rpae

where r_ is the maximum magnitude of any of the poles of X(z).

If N, <0, then

X(2)= E x[nlz " =x[NJz ™M+ +x[- 1z + E x[nlz ™"
n=N; n=0

That is, X(z) contains the positive powers of z and becomes unbounded at z = . In this case the ROC is of
the form
o> |z| > r.

ax

From the above result we can tell that a sequence x[n] is causal (not just right-sided) from the ROC of X(z) if z = =
is included. Note that this is not the case for the Laplace transform.

Find the z-transform X(z) and sketch the pole-zero plot with the ROC for each of the following sequences:

@ xtm=| utm+|| uln

) x[n]= —1 nu[n]+ —1 "u[—n—l]
3 2

(¢) x[n]= —1 "u[n]+ —1 "u[—n—l]
2 3
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(a) From Table 4-1

1) 1
(3) u[n]e—z_z T >3 458)
2
1)’ 1
(3) un} e — |2|>3 459)
i

|z|>= (4.60)

From Eq. (4.60) we see that X(z) has two zeros at z = 0 and z = % and two poles at z = % and z = 13 and that
theROC is |z| > % , as sketched in Fig. 4-5(a).
(b) From Table 4-1
n
(%) ”["]“’Z_Ll |Z|>% @61)
3
n
(%) “[—"—1]“’—2% |Z|<% (4.62)
2
We see that the ROCs in Eqgs. (4.61) and (4.62) overlap, and thus
1 1
X@=— - y <lzl=3 4.63)

1
I "1 6 1 1) 3
—— I—— - -
From Eq. (4.63) we see that X(z) has one zero at z = 0 and two poles at z = % and z = % and that the ROC
is 13< |z| < %,as sketched in Fig. 4-5 (b).

Imiz) Imiz)

F '

Relz] Reiz)

@ (b)

Fig. 4-5
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(c) From Table 4-1

! 1
(_) ulnle——= ¢ > (4.64)
‘2
Z_§ 3

We see that the ROCs in Egs. (4.64) and (4.65) do not overlap and that there is no common ROC, and thus

x[n] will not have X(z).

4.7. Let
x[n] = al"l a>0 (4.66)

(a) Sketch x[n] fora < 1landa > 1.
Find X(z) and sketch the zero-pole plot and the ROC fora < 1anda > 1.

®)

(a) The sequence x[n] is sketched in Figs. 4-6(a) and (b) for botha < 1 and a > 1.

xn]=ahl x[n]=ah!

Dca<1 - ax1

ol
LT 11T
0 ;1 0 d

(b)

@
Fig. 4-6

Since x[n] is a two-sided sequence, we can express it as

®
x[n] = a"u[n] + a "u[—n — 1] 4.67)
From Table 4-1
duln] < ——  |z|>a 4.68)
z—a
“n 1
a"ul[-n—1]< — |z]<— (4.69)
z—1/a a
If a < 1, we see that the ROCs in Eqs. (4.68) and (4.69) overlap, and thus,
(4.70)

2
-1 1
X(=—2—-—~1_-1 2 a<|z|<—
z—a z-—1/a a (z—a)(z—1/a) a

From Eq. (4.70) we see that X(z) has one zero at the origin and two poles at z = a and z = 1/a and that the
ROC s a < |z| < 1/a, as sketched in Fig. 4-7.If a > 1, we see that the ROCs in Egs. (4.68) and (4.69) do

not overlap and that there is no common ROC, and thus x[n] will not have X(z).
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Unit circle

Z-plane

Fig. 4-7

Properties of the zTransform

4.8. Verify the time-shifting property (4.18); that is,
R'DRN{0< |z| <}

x[n = nyl <> 27X (2)

By definition (4.3)
Blxln—nly= Y x[n—nylz "

n=-o

By the change of variables m = n — n,, we obtain

B{xln—nyl}= E x[m]z~(m+no)

m=—o
®©

=z " E x[m]z”" =z7""X(z)

m=—o

Because of the multiplication by z~", for n, > 0, additional poles are introduced at z = 0 and will be deleted at z = .
Similarly, if n, < 0, additional zeros are introduced at z = 0 and will be deleted at z = . Therefore, the points z = 0
and z = o can be either added to or deleted from the ROC by time shifting. Thus, we have

x{n — n)] < z7"X(z) RDORN{0< |z] < o}

where R and R’ are the ROCs before and after the time-shift operation.

4.9. Verify Eq. (4.21); that s,
i] R'=|z|R

zgx[n] < X[
29
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By definition (4.3)

3= 3 @iz = 3 x[n](i) =X(

)

n=-o n=—o

—

A pole (or zero) at z = z, in X(z) moves to z = z,,Z,, and the ROC expands or contracts by the factor |z0| . Thus,
we have

4.10. Find the z-transform and the associated ROC for each of the following sequences:

(@)
(©
(e)

(@)

(b)

()]

)

(e)

zﬁx[n]ex(i) R'=|z¢|R

x[n] = 8[n — ng] )  x[n] = uln — ng)
x[n] = a™lun + 1] (d) x[n] = u[—n]
x[n] = a ™ "u[—n]

From Eq. (4.15)
o[n] <1 all z
Applying the time-shifting property (4.18), we obtain

0<|z],n,>0
O6[n—n)] < z7"
|z] <o,n,<0

From Eq. (4.16)
Z
<« — >1
uln] -1 |z|

Again by the time-shifting property (4.18) we obtain

z g "D
uln—nylez ™ = 1<|z|<e
z—1 z—1
From Eqs. (4.8) and (4.10)
a”u[n]<—>L |z|>|a|
z—a
By Eq. (4.20) we obtain
Z Z2
a"Muln+1] ez = la|<|z|<
z—a z—a
From Eq. (4.16)
Z
uln] < —— z[>1
e
By the time-reversal property (4.23) we obtain
1/z 1
—nle =— <1
L by e

From Eqs. (4.8) and (4.10)

a”u[n]<—>L |z|>|a|
z—a

(4.71)

(4.72)

(4.73)

4.74)
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Again by the time-reversal property (4.23) we obtain

a "u[-n] e

Vz _ 1 lo|<L
1/z—a 1-az |a |
4.11. Verify the multiplication by »n (or differentiation in z) property (4.24); that is,

dX(z)
dz

R'=R

nx[n]le —z

From definition (4.3)

X@= Y x[nlz™"

n=-o

Differentiating both sides with respect to z, we have

axX(2) _ E —nx[n]z !

dz e

and
dX(z ol .
R N O PR i)
dz 2w
Thus, we conclude that
nx[n] < — zM R'=R
dz
4.12. Find the z-transform of each of the following sequences:
(a) x[n] = na"uln]
(b) x[n] = na" 'uln]
(a) From Egs. (4.8) and (4.10)
a"u[n]ei |z|>|a|
z—a
Using the mu<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>